5 Port Solenoid Valve

VQ4000/5000 Series

vFssooo .-

Installation volume
42%

Installation area |96

26% 3

e Compact and large flow capacity
\"[eZ\i[1] Possible to drive cylinders up to @160
\"{eL10l0] Possible to drive cylinders up to @ 180" Feaeas et mmms

VQ4000: 25 mm pitch

4 X P & 5 Cldmé/(s-ban)): 7.3*
/ | / VQ5000: 41 mm pitch
P ”\% Cldm¥(s-bar)]: 17

Q‘\\Q-\\ * 2-position single, rubber seal, 4/2 — 5/3 (A/B — R1/R2)

ow wattage type andar . . O . .J c 4 Pl g

*Low wattage type ( ): Standard Mo o ol Nﬂ
~ /
million c cles o \
® Long N ,iy. iy £900

servlce Ilfe According to SMC lfe test conditions Jﬁ‘ - 4 @ LIS N '

. -\ X -@g(‘@ Sisie :Q‘. "’

_ Q) 2 i

® Enclosure IP65 compliant P o X

Dust-tight/Water-jet-proof

* When manifold is IP65 compliant.
* Except F and T1 kits

431



Type Variatio

ns

Sonic conductance
C[dm*(s-bar)]
[4/2 — 5/3

Valve Specifications

(A/B - EAJEB)
2
8 3 ] x
= H = ] g 2 %
= s | 8 = €t 5| 5| 8
c2l 8 g o £ S S 2 § S £ s
22 O g £ 8 = £ 2 B 3 - 5 ° 8
2| = = s = o o @ S Q 3 5 ]
£3/83| 8| 5 =B & 3T | £ 8| & 2| 3
e\ 28 5| £ 8|5 5|8 c & & 8
e 2 £ 43
= £
£
=
3
= VQ4lloo 69 | 63
[T}
Series =
vadon | o —— o0/0/0/0/ - 0000000
) age 3 P.442| P.446| P.450| P.454 P.458
° (| vadadol | 73| 64
o
= &
E e —
~
c =
= 3
= g vasbioo | 14 |
o Series =
Q5000 — 0/0/0/0/0/0/0/0/0/ 0|00
Page 478 ij = P.484| P.488| P.496| P.500| P.492| P.504
(7]
g vaQsio1 17 1 13
E
o
Wiring
Common wiring/Plug-in
D-sub connector Terminal block box Lead wire

P
>

e

p@f
GELG

_ s

Common wiring/Plug-in

Individual wiring/Plug lead

Serial transmission _

With individual terminal blocks
(VQ5000 only)

Connector

O
3



Electrical 'ELUE]

12, | 100, | 200,
24 | 110 | 220
VDC | VAC | VAC
(50/6 (50/6
Hz Hz
0 00
g =
212
5 | &
8 8
o i}
0 00
g1 =
212
2 | &
3 3
a4

Plug-in
Grommet

Push type/Tool required
Locking type/Tool required

Semi-
standard

S 5 8
2 E|§
2| £ =
o w
£
£
[%}
o
e

P.467| P.468

P.513

(

VQ4000/5000 series

Blanking plate assembly
Individual SUP/EXH spacer
Restrictor spacer

P.462| P.462| P.463

P.508| P.508| P.509

Manifold Options

x
°

28

- =
@ i ) e
¢ |82 § 2
s| B ]

2 sE ° 2
& 25| x ®
] a| ¢ | ¢
2 | ¢E| 8 =
S S 2 E]
2 Sz =
| X 2

LS |3 w 7
7] me = =
a 25 35 %
S a2 @ )
[ = 5
]

=

a

P.463| P.463| P.463

P.509| P.509 P.509

Manifold with Manifold Options G (vasooo) GELEELD (vasooo)

Control Unit

Page 468

Air filter, regulator and
equipment for controlling
the air release valve
pressure switch in one
unit reduced piping work.

P.464

P.510

=
2
® S
3 2
% o
o 1 3
3 » O
£3 2 (5%
$3 % =3
5% <& o9
oo E | o=
8¢ 2 |o%
@5 B ©8
x2 2 g
0 T m
8¢ 5 &g
S8/ o EZ
o E T e
2 o [
1 3
3 2
<
a ]
=

P.464| P.465| P.466

P.510| P.511| P.512

Blanking plate
assembly

Individual SUP spacer
Individual EXH spacer
<Individual SUP spacer>

<Individual EXH spacer>

Restrictor spacer

SUP stop valve spacer

Release valve spacer:
For D side mounting

SUP/EXH block plate

EXH block plate
\ (Order q'ty: 2 pcs.)

SUP block plate

Direct exhaust
with silencer box

exhaust

Double check spacer
with residual pressure

Manifold mounted
with exhaust cleaner

Interface regulator
(P, A, B port regulation)

433



Cylinder Speed Chart

This chart is provided as guidelines only.
For performance under various conditions, use SMC’s Model Selection Software before making a judgment.

Series

Bore size

Average
speed
[mm/s]

MB, CA2 series
Pressure 0.5 MPa
Load ratio 50%
Stroke 500 mm

CS1, CS2 series

Pressure

0.5 MPa

Load ratio 50%
Stroke 1000 mm

240 | 050 | 263

280

2100

2125 | 140 | 2160

2180

2200

8250

VQ4100-1-03
VQ4101-[1-03

1100

1 Vertically u
[ 1 Horizonta

pward :

I

0wl

VQ5100-1-04
VvQ5101-[1-04

I

I

i

ut

+ Values at extension of a directly coupled cylinder when meter-out speed controllers are used with the needle full open.
= The average speed of the cylinder is obtained by dividing the stroke by the total stroke time.
+ The load ratio is obtained by the following formula: ((Load mass x 9.8)/Theoretical output) x 100%

Conditions
Series Condition MB, CA2 series CS1, CS2 series

VQ4100-0-03 SGP (Steel pipe) dia. x Length 10Ax1m
=" Speed controller AS420-03

VQ4101-0-03 -2
Silencer AN30-03
VQ5100-0-04 SGP (Steel pipe) dia. x Length 10Ax1m
=l Speed controller AS420-04

VQ5101-0-04 |
Silencer AN40-04

434



BaSe MOUnted Type Variations .............................................................................................................. Page 432

Cy"nder Speed Chart .......................................................................................................................... Page 434
VQ4000 series

Plug-in/Plug Lead Single Unit Model, Standard Specifications -----«---+-srereeeeeererrmeeeeeeeeeen Page 436

Plug-in Unit Manifold How to Order, Specifications, Manifold Options «===-«=«==ssereeeeeeeeeeee Page 440

F Kit (D-SUD CONNECLOR Kit) [IPAQ] ++++++++++o++oeesssrsssosssss s Page 442
T Kit (Terminal block box kit) [IPE5] -+ +ssrsssessrsrmsmmnmssss s Page 446
L Kit (Lead Wire Cable) [IPE5] -----++-+-+--=-srresemrrmemmmsmememas e Page 450
S Kit (Serial transmission unit): EX124 [IPE5]----wxxo-wrrrsserrsssssnsssssesesseeeee Page 454

C Kit (CONNECLOF Kit) [IPB5] «++++++ssvsnrrrrttttetiiiiiiiiiiii it Page 458
Manifold Options ...................................................................................................... Page 462
Semi-standard Specifications .................................................................................... Page 467
Plug-in/Plug Lead Manifold with CONtrol Unit «---«-««--w-eeeeeermermeniniiie Page 468
CONSEIUCTHION v e e me e Page 472
Exploded View of Manifold ««--«««-- s xxreermmrrmemmiiiiiiiii Page 474

VQ5000 series
Plug-in/Plug Lead Single Unit Model, Standard Specifications:««==--«««==sssrrreerrrrreeeeeeeeee Page 478
Plug-in Unit Manifold How to Order, Specifications, Manifold Options ««=-«««=ssreeeeeeeeeeeeee Page 482

F Kit (D-SUD CONNECEOT Kit) [IPAQ] -+« +++rwrrseeeresssmssssssnssisisi it Page 484

Page 488
Page 492
Page 496
Page 500

Plug Lead Unit
C Kit (CONNEGCLOF Kit) [IPB5] - --++vvrreemmrreeemnieee i Page 504
Manifold Options Page 508
Semi-standard SPeCIfICAtioNS <+« -+ -+ = -+ 5 tsss ottt Page 513
CONSEUCTION v Page 514
Exp|oded View of Manifold:-----cccooermm Page 516
v°4000/5000 Specific Product Precau‘ions .......................................................................................... Page 519

435



Base Mounted
Plug-in/Plug Lead: Single Unit

VQ4000 Series €

[Option]
Note) CE/UKCA-compliant:
For DC only.
Model
Flow rate characteristics Response time [ms] X
Series | Configuration Model SPI‘;S 1= 4/2(P— AIB)__| 42— 5/3 (/B — EAEB) [Stander| O] W[i'gg]h‘
C[my(sbar)| b Cv  |Cam¥(sbaf)| b Cv |0.95W | gaw

= Metal seal [vQ4120 6.2 019 | 15 6.9 017 | 1.7 20 22 22 0.23
:% ¢ Rubber seal |VQ4121 72 | 043 | 241 7.3 038 | 20 25 27 27 | (029)
g — Metal seal [vQ4220 6.2 019 | 15 6.9 017 | 1.7 12 16 14 0.26
o Rubber seal |vVQ4271 7.2 043 | 21 7.3 038 | 20 15 17 17 | (0.32)
Closed Metal seal |vQ4320 5.9 023 | 15 6.3 018 | 1.6 45 47 47 0.28
center Rubber seal |VQ4321 7.0 034 | 19 6.4 042 | 1.9 50 52 52 | (0.34)

VQ4000 0 3/8
<| Exhaust Metal seal | VQ4450 6.2 0.18 1.5 6.9 0.17 1.7 45 47 47 0.28
:% center | Rubberseal |VQ4421 70 | 038 | 19 7.3 0.38 | 20 50 52 52 | (0.34)
S| Pressure | Metalseal |VQ4530 6.2 018 | 1.6 6.4 018 | 1.6 45 47 47 0.28
|  center Rubber seal |VQ452 1 7.0 038 | 19 7.1 038 | 2.0 50 52 52 | (0.34)
Double Metal seal VQ4620 2.7 — — 3.7 — — 55 57 57 0.50
check Rubber seal |VQ4621 2.8 — — 3.9 — — 62 64 64 | (0.56)

Note 1) Value for valve on sub-plate and cylinder port 3/8
Note 2) Based on JIS B 8419: 2010. (Supply pressure: 0.5 MPa, with indicator light and surge voltage suppressor,
clean air. This will change depending on pressure and air quality.) The value when ON for the double type.
Note 3) Values inside ( ) indicate the weight of plug lead units.
Table: Without sub-plate, With sub-plate: Add 0.41 kg for plug-in type,
0.30 kg for plug lead type.

Standard Specifications

Valve construction Metal seal Rubber seal
Fluid Air
2 Max. operating pressure 1.0 MPa
-% i ~ |single 0.15 MPa 0.20 MPa
2 e ~ |Double 0.15 MPa 0.15 MPa
K] i 3-position 0.15 MPa 0.20 MPa
& Ambient and fluid temperature —10 to 50°CNote )
g Lubrication Not required
Plug lead unit S Manual override Push type/Locking type (Tool required)
Sym?ol _ B Impact/Vibration resi: 150/30 m/s2Note 2)
2-position smgﬂt)e(B) 3-position c(lg)s(eBc)l center Enclosure Dust-tight (P65 compatible) No© 3)
4’2 42 @ Coil rated voltage 12, 24 VDC, 100, 110, 200, 220 VAC (50/60 Hz)
ﬂz{% ,§ Allowable voltage fl i +10% of rated voltage
5103 A _g Coil i ion type Class B or equivalent
RIPIR2) ~ (RPIR2) G| Power ion | o 0.95
2-position double (Metal) ~ 3-position ?X};(%BU)S‘ center 2 [W] Low wattage type 0.4
e 42 = 100 V 119
Mﬂ% E | Apparent |, [110V 1.32
8 power [VA] 200 V 1.90
RPIR2) RIENR u 220V 2.08

2-position double (Rubber) 3-Position prAe)sgure center  Note 1) Use dry air to prevent condensation when operating at low temperatures.
e Note 2) Impact resistance: No malfunction occurred when it is tested with a drop tester in the axial direction

and at the right angles to the main valve and armature in both energized and
ﬁmﬂ;&m de-energized states every once for each condition. (Values at the initial period)
513 Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz. Test was
(R15)(g’):(3R2) (R1)(P)(R2) performed at both energized and de-energized states in the axial direction and
3-position double check at the right angles to the main valve and armature. (Values at the initial period)
(A)(B) Note 3) Available only with T, L, S and C.
2
513
(R1)(P)(R2)

436



Plug-in/Plug Lead: Single Unit

Body

0: Plug-in
sub-plate

o of

vQ4

Type of actuation

Plug lead

2-position single 3-position closed center
AE)
4 2

VQ4000 series
( UK

CA

How to Order Valves (Single Unit) [Option]
Port size
Nil Without sub-plate
(For manifold)
02 1/4
03 3/8 Thread type
Enclosure Nil Re
Nil Dust-protected E G
- Dust-tight/ Nl NPT
Water-jet-proof (IP65) T NPTF
Portin i
specif'caﬁong CE/UKCA-compliant
[Nl | Side ported ] m_mm :
[ B [ Botom ported
i Note) CE/UKCA-compliant: For
Manual override DC only.

3
513 513
(R1)(P)(R2) (R1)(P)(R2)
2-position double 3-position exhaust center
- (A)NB) A)B)
] 4 4
o] 4
=
513 513
(RO(P)(R2) (RD(P)(R2)

Rubber

2-position double 3-position pressure center
\)(B) 12)1;)

513
(R1)(P)(R2)

3-position double check
A (g)

PV ST

513
(B)(P)(R2)

Note)|
6

Note) For double check type,

Nil: Non-locking
push type
(Tool required)

B: Locking type
(Tool required)

&b

C: Locking type
(Manual)

i

Light/Surge voltage suppressor

[ il

Yes |

‘ Without light, with surge voltage suppressor ‘

Electrical entry

refer to page 464.
Coil voltage G
- Lead wire
Bod 1_|_100 VAC (50/60 Hz) ]
5: Plug lead y 2 | 200 VAC (50/60 Hz) E length 0.6 m
: Plug leat s
sub-plate 3 | 110 VAC (50/60 Hz) s
4 | 220 VAC (50/60 Hz) H \:
5 24 VDC Lead wire
6 12 VDC length 1.5 m
Function
Seal Nil Note 1) Standard (0.95 W)
0 | Metal seal ez Low wattage type (0.4 W)
1 | Rubber seal RICED) External pilot

How to Order Sub-plates

UK
cA

VQ4000

n Plug-in conduit terminal
F‘\ug lead

Enclosu

Nil_ [ Dust-protected
‘WNW)‘ Dust-tight/Water-jet-proof ‘

Note) Not required for plug lead type.

Porting specifications

Electrical entryi
re

[Option]
SCEIUKCA-comphant
Th d t
read toe [0 oot
F G
N NPT
T | NPTF
Port size
(o |

03 3/8

N Side ported
| B |Bottom ported Note)

Note) For bottom ported,
port size is 1/4 only.

Note 1) When the unit is energized continuously,
refer to "Specific Product Precautions 1"
on page 519.

Note 2) In addition, only DC is available with Y.

Note 3) For details about external pilot
specifications, refer to page 467.
Combination of external pilot and perfect
interface is not possible.

Note 4) When multiple symbols are specified,
indicate them alphabetically.

H Replacement of pilot valve assembly
1 (Voltage)
E - Refer to pages 472 and 473 for pilot
1 valve assembly part numbers.
- Refer to page 520 for replacement method.



VQ4000 series

Dimensions: Plug-in Type

Conduit terminal

2-position single: VQ4109-0

156
2 156 50
Indicator light 235 | 235
50
11(12.5) 11(12.5) < s 2
4@ port | ["2(8) port g EN @
& & J s ©lo
: =l
e -t t—-—-— 382 4 A 2
& & p{2i— X
‘ l o e 2x056 1351185
30 45 ‘ Mounting hole 30 45
Manual override 1/4", 3/8"
(5(R1), 3(R2) port: 1/4)
Bottom ported drawing
| | |
g H
| 1 5
I D= [ ~
y g @ Nla oy 2
[l g 8 = w0 15}
bl Sooed® s
G1/2 19.5 | 19.5 1/8"
Electrical entry 1/8" (21) | @1) External pilot port
PE. port 31 31 1/4", 3/8"
1(P), 4(A), 2(B), 5(R1), 3(R2) port (): Values for 3/8"
2-position double: vQ420! -0 3-position double check: VQ4609-1
3-position closed center: VQ4309-0
3-position exhaust center: VQ4409 -0 179
3-position pressure center: VQ4509 -0 10&; . . 73
5
11(12.5) 11(12.5)
Indicator light 4(A) port 2(B) port
2 165 Indicator light
106 59 -
90 50 [
11(12.5) 11(12.5) —%7&&—{*}—‘» 8 3[%;‘;
4(A) port 2(B) port @ & N
[ &7 T ‘ =] o @7
> % £ wl 30 45
e s <3 R 2x 056
I o <
= jjﬁ}g o~ j‘g 4@1 & Mounting hole
4 ‘ [z @ @@7
M 45 | \2x056 T ‘ ‘
Manual override Mounting hole | |
|
=) | |
: || |
‘ [ [ i
i I | 4
| B @ | &
o [ o 10|
N v \ R \ 5
¥ ® & | =
g 8 i L A ~8lu|T { o
@ g 3 o YENESEN 3 8 Jelals
2 Pocs = @ 8 u'th 8
‘ 1/8" - & i i e
1/8" "
fasn PE. port , External pilot port 195 1/4",3/8"
Electrical entry /438" (21) 1(P), 4(A), 2(B), 5(R1), 3(R2) port
1(P), 4(A), 2(B), 5(R1), 3(R2) port 31

438

[3J: Values for 3-position
(): Values for 3/8"



Base Mounted

Plug-in/Plug Lead: Single Umit V Q4000 Series

Dimensions: Plug Lead Type
Grommet

2-position single: VQ4153-07

155.5 155.5
) . 42.5 50 425 50
Indicator light 1(12.5) 11(12.5) 23.5 | 235
4(A) port ‘ ‘ 2(B) port
o = B ¢
O — E) {7 A\ m# ®| o
—> PN S o 119 0le = == = - R
5l ! R : B
@ )id & ac 2
@ & S —AE —
‘ 5] ] = s _13_5_[
) 30 45 | 2x 5.6 6 "
Manual override 2x056 Mounting hole
Mounting hole 1/4", 3/8"
(5(R1), 3(R2) port: 1/4")
| h Bottom ported drawing
| o
T ©
Y =
u rx\ © «
v tERN
E:;:U g
. |19.5_19.5 | 1/8"
178 21) | 21) External pilot port
PE. port 31 31 1/4", 3/8"
1(P), 4(A), 2(B), 5(R1), 3(R2) port
(): Values for 3/8"
2-position double: vQ4259-0§ 3-position double check: VQ4659-0§
3-position closed center: VQ435%-01§
3-position exhaust center: vQ4459-00§
3-position pressure center: VQ455¢-015
178.5
Indicator light 125 = 73
1645 Ti(25). 11(125)
59 (73] |4(A) port 2(B) port
425 50 Indicator light
1(125) 11(125) .
4(A) port ‘ ‘ 2(B) port
= LS [
- 5 - I - 1 ™ ™| <
i & 1 8 ﬁ b
(wa ¢ owm Manual override 2x05.6
Manual override 30 45 \2x056 __ 05_'6 Mounting hole
Mounting hole
— T
I~ ! - il
| I I o
i =
l ! l o ) q o
P Y e 5
o)
— o telslz oo
=1 ‘ BNEVEEN mtRIS“"’
18" Jo.5 1;-5 1/8" : 18" 19.519.5 1/4", 3/8"
PE. port 3(121) ( 3)1 External pilot port PE. port N 1(P), 4(A), 2(B), 5(R1), 3(R2) port
14, 3/8" st .81

1(P), 4(A), 2(B), 5(R1), 3(R2) port

[1: Values for 3-position
(): Values for 3/8"

439



Plug-in Unit

I Base Mounted

VQ4000 Series €

[Option]
Note) CE/UKCA-compliant:
For DC only.

How to Order Manifold

VV5Q 4 1 -|08|C8|

Series—l_

[ 4 | vQ4000
Manifold
[ [ Pluginunit_] Thread type
Nil Re
Stations F
01 | 1 station N NPT
3 . T | NPTF

The maximum and minimum
number of stations are varied
depending on kit.

(Refer to the table below.)

Cylinder port
C6 06 One-touch fitting
Ccs8 08 One-touch fitting
C10 10 One-touch fitting
C12 212 One-touch fitting

02 1/4

03 3/8

B Bottom ported 1/4
CMm Mixed

N7 | ©1/4" One-touch fitting
N9 | 05/16" One-touch fitting
N11| 03/8" One-touch fitting

©

Indicator light

Manual override

External pilot
supply port

Type of
connection

Note) Figure shows VV5Q41-05C12FDO.

S, T kit

When mounting a terminal block box or serial unit, be
aware that they take up 2 stations of the manifold. In
the drawing below, you can see that of the 8 manifold
stations, 6 stations are available to be used for built-
in valves, options, etc.

VV5Q41-08C10TO

i)

Fut | |-[ |- G
flae S0t
CE/UKCA-compliant \ L)
T = R
Option
Symbol Option

Nil None

Control unit CD Note2) Exhaust cleaner: For D side mounting

Refer to pages CU Note 2) Exhaust cleaner: For U side mounting

468 to 471. KNote3) | Special wiring specifications (Except double wiring)

N Name plate (T kit only)

SB Direct exhaust with silencer box: Exhaust from both sides (FL kits only)

SD Nete 2) | Direct exhaust with silencer box: D side exhaust

SU Nete2) | Direct exhaust with silencer box: U side exhaust

w Enclosure IP65 (Except F kit)

Note 1) When multiple symbols are specified, indicate them
by letter in the order that they appear in the table,
starting from the top. Example) -CUK

Note 2) Combination of [C8] and [S] is not possible. Also,
exhaust cleaner is not attached. Please order it
separately.

Note 3) Specify the wiring specifications on the manifold
specification sheet. (Except L kit)

Kit type/Electrical entry/Cable length

Kit (D-sub connector) T Kit (Terminal block box kit)

Connector entry direction
D side | U side
FDO | FUO | without cable Terminal block
FD1 FU1 | Cable length 1.5 m 1to mounting position| .
FD2 | FU2 | Cablelength 3m 18 stations|D side[U side IP65 compatible
FD3 | FU3 | Cablelength5m TD | TO | Terminal block box 3o 18 stations ot 1|
L Kit (Lead wire cable) Kit (Serial transmission unit)
The valve is
equipped with a
lamp/surge
suppressor, and the
voltage is 24 VDC.
Uni‘t_ IP65 compatible
";J%”S'i}ig‘ng = Applicable to INPUT
i D side[U side] and OUTPUT type.
Electrical entry - -
Dside | Uside IP65 compatible S0 |Without SI Unit
SQ |DeviceNet® Note 1)
LDO LUO | Cable length 0.6 m 1to SR | OMRON Corp: CompoBus/S Syste (16 output poins 3to18
LD1 | LU1 |Cablelength1.5m |, . ISDR2|SR2] OMRON Con: CompoBuss Sysem 8 aupitpors) | stations
LD2 LU2 | Cable length 3 m SV [cC-Link

Note 1) For the T kit and S kit, 2 stations are required to mount the terminal
block box or Sl Unit, so the minimum number of stations is 3 stations.

Simple specials are available with SMC Simple Special System.
Please contact your local sales representative for more details.

440



Manifold Specifications

B pug-in unit. VQ4000 Series

Porting specifications Wi _ i
Series Base model Type of connection 4(A), 2(B) Port size applicable A || e L)
port . valve (Formula)
location | 1(P), 5(R1), 3(R2) 4(A), 2(B)
C6 (For @6)
C8 (For 28) F L kit
C10 (For 10) F. T kit , :
1/2 T
W F kit-D-sub connector Side Option C12 (Fore12) | 18 stations ga_?'?(;’ 0.75
W T kit-Terminal block box L kit Q4000 ’ .
E : 3/8 —
VQ4000 | VVSQ41-O0D | g kit | ead wire Direct exhaust| | \7 Forg1/4v | 16 stations | VQ4001 S'?%(" 2
W S kit-Serial transmission " with b N9 (For 05/16") S kit Not.including
silencer box B ; *
N11 (For93/8") | 18 stations valve weight.
Bottom 1/4
n: Stations
Flow Rate Characteristics at the Number of Manifold Stations (Operated individually)
Model Passage/Stations Station 1 Station 5 Station 10 Station 15
C [dm?¥/(s-bar)] 5.9 5.9 5.9 5.9
. 1—4/2 (P— A/B) b 0.23 0.23 0.23 0.23
2-position metal seal G 15 15 15 s
1 v . . . .
V4,00 C [dm?/(s-bar)] 6.2 6.2 6.2 6.2
4/2 — 5/3 (A/B — EA/EB) b 0.19 0.19 0.19 0.19
Cv 1.5 1.5 15 1.5
C [dm?¥/(s-bar)] 6.8 6.8 6.8 6.8
1—4/2 (P — A/B) b 0.31 0.31 0.31 0.31
2-position rubber seal Cv 1.8 1.8 1.8 1.8
vQ4301 C [dm¥(s-bar)] 7.0 7.0 7.0 7.0
4/2 — 5/3 (A/B — EA/EB) b 0.38 0.38 0.38 0.38
Cv 1.9 1.9 1.9 1.9

Note) Port size: 3/8

Manifold Options

Blanking plate assembly
VVQ4000-10A-1

Individual SUP spacer
VVQ4000-P-1- g§

Individual EXH spacer
VVQ4000-R-1- g§

E  Refer to pages 462 to 466 for :
! detailed dimensions of each op-
\ tion. H
+ » For replacement parts, refer to |
E page 475. H
1 » Refer to pages 468 to 471 for E
i control unit. '

SUP stop valve spacer
VVQ4000-37A-1

SUP/EXH block plate
VVQ4000-1 6A (1 pc./set)

EXH blocking plate
(Order q'ty: 2 pes.)

/SUP blocking plate

Interface regulator
(P, A, B port regulation)

ARBQ4000-00-§-1

Release valve spacer:
For D side mounting
VVQ4000-24A-1D Note 1) 2)

Double check spacer with
residual pressure exhaust

VVQ4000-25A-1 Note 1)

Direct exhaust with silencer

Manifold mounted exhaust
cleaner

Note 1) Release valve spacer and double check spacer with residual pressure exhaust cannot be combined with external pilot.
Note 2) Can be mounted on L kit only. For other kits, order E type control unit.

(Refer to pages 468 to 471.)

441




VQ4000 series

Kit (D-sub connector kit)

« Simplification and labor savings for wiring work can be achieved

Manifold Specifications

by using a D-sub for the el Porting specifications _

« Using connector for flat ribbon cable (25P) conforming to MIL Series 4(A), 2(B) Port size Applicable
standard permits the use of connectors put on the market and port location 1(P), 5(R1), 3(R2) 4(A), 2(B) stations
gives a wide interchangeability. C6, C8

 Connector entry can be selected on either the U side or the D _ c1 0’ C1’2
side according to the VQ4000 Side 112 114, 3/8, N7, Max. 18

* Maximum stations are 18. N9, N11 stations

Bottom 1/4
D-Sub Connector Kit (25 pins) Cable y ®
015
AXT100-DS25-030 D-sub Connector Cable
050 A bly Terminal No.
D-sub connector cable assemblies can be ordered by with manifolds. [Terminal no.| Lead vire color| Dot marking
Refer to How to Order Manifold. 1 Black None
2 Brown None
D-sub Connector Cable Electric 3 Red None
Multi-core vinyl cable ~ Assembly Characteristics 4 Orange None
0.3 mm2x 25 cores | Cable Ay RS Note Item Characteistcs 5 Yellow None
length [L] g ) Conductor resistance| 65 or 6 Pink None
Approx. 810 1.5m | AXT100-DS25-015 | Cable Q/km, 20°C less 7 Blue Nor_Ie
3m AXT100-DS25-030 | 0.3 mm?2 Voltage limit 1000 8 Purple White
5m AXT100-DS25-050 | X 25 cores | | VAC, 1 min. 9 Gray Black

- -

# For other commercial connectors, use a 25- | Insulation resistance 5 or more 10 Wh!te Black

3 pin type female connector conforming to MQkm, 20°C 11 White Red
# g;hn%tzgjzied for transfer wirin Note) The minimum z foon Rod

of [} | 9 bending radius for 13 Orange Red
T D-sub connector 14 Yellow Black

u\ cables is 20 mm. 15 Pink Black

55 N2xM2.6x0.45 Connector Manufacturers Example ¢

Socketside  * Fuiitsu, Limited 16 Blue White

« Japan Aviation Electronics Industry, Limited 17 Purple None

© «J.8.T. Mig. Co., Ltd. 18 Gray None
« HIROSE ELECTRIC CO., LTD. 19 Orange Black
20 Red White
47.04 _ [\Terminal no. 21 Brown White

22 Pink Red

23 Gray Red
24 Black White

Note) Lengths other than the above are also available. Please contact SMC for details. 25 White None

How to Order Manifold

VV5Q 4 1-|08]/C8]

F

T

UK
cA

[Option]
Ilo CE/UKCA-compliant

|_Q | CE/UKCA-compliant

Option
Symbol Option
Nil None
CD Note 2) Exhaust cleaner: For D side mounting
CU Note2) Exhaust cleaner: For U side mounting
KNote 3) | Special wiring (Except double wiring)
SB Direct exhaust with silencer box: Exhaust from both sides
SD Note2) | Direct exhaust with silencer box: D side exhaust
SU Note2) | Direct exhaust with silencer box: U side exhaust

Series .
Stations
01 | 1station
Manifold : : Thread type
[[1 ] Plug-inunit ] | 18 |18stations Nil Rc
. F G
Cylinder port N NPT
C6 26 One-touch fitting T NPTF
cs8 @8 One-touch fitting
C10| 210 One-touch fitting Connector entry direction
C12| 12 One-touch fitting [D] Dsideentry |
02 1/4 [ U] Usideentry |
03 3/8
B Bottom ported 1/4 Cable (Length)
cm Mixed 0_[ Without cable
N7 | o1/4" One-touch fitting 1 | Cablelength 1.5 m
N9 | 05/16" One-touch fitting 2 | Cablelength 3 m
N11|  03/8" One-touch fitting 3 | Cablelength 5m

Note) As a semi-standard specification, the maximum number of stations can be
increased by special wiring specifications. For detals, refer to page 443.

442

Note 1) When multiple symbols are specified, indicate
them alphabetically.
Example) -CDK

Note 2) Combination of [CY] and [SY] is not possible.

Note 3) Specify the wiring specifications on the manifold
specification sheet.

Note 4) Refer to pages 468 to 471 for with control unit.



B pug-in unit. VQ4000 Series

@ Electrical wiring specifications

D-sub connector

Stations are counted starting from the
first station on the D side.

%o_‘\\ 1 station
o
wo O
03 2 stations
10
04
7o
wo 2° 3 stations
0s
10
o7 .
©o 4 stations
210
o9
79 o 5 stations
%0
on
2%0
6o O 6 stations
o
)%JJ 7 stations
8 stations
Connector terminal no.
9 stations
Double wiring (connected to
SOL. A and SOL. B) is adopt- 10 stations
ed for the internal wiring of
each station, regardless of X
valve and option types. Mixed 11 stations
single and double wiring is
available as a semi-standard 12 stations

specification. For details, re-
fer to below.

Note) There is no polarity.

Standard wiring  Wiring with control unit D-sub connecnt:)sr assembly
AXT100-DS25- 030 Wire colors

Terminal no. Terminal no.  Polarity Lead wirg50 Dot
color marking
SOL.A 1 Release va\ve1 o ) Black None
{ | ~~-nSOLB oy 14(+) ) Yellow  Black

SOL.A Pressure switch
{ 2 —0 2(9) (+) Brown None
| ~~SOLB g 15 (+) © Pk Black
{ SOLA ;5 | ~~SOLA , 5 ) *)  Red None
—rwng%me —'w“:g%ma = *)  Ble White
{ - 4 —""———0 4(-) (+) Orange None
{—~~nSOLB 17 L SOLB 17 ) Puple  None
{ SOLA 5 —’W“Mo 5(-) (+) Yellow None
| ~~nSOLB 1 | ~SOLB 45, ®)  Gry None
SOLA ;g | ~~SOLA , o) *) Pk None
{ {—~~nSOLB 19 | ~SOLB g, (+) Orange  Black
SOLA ;7 |~~~ SOLA , 5 *)  Ble None
{ SOLB 5y | ~~SOLB 55 *)  Red White
SOLA ;g |~ SOLA 5 +)  Puple  White
{ SOLB 51 | ~~SOLB 5y )  Brown  Whie
SOLA g |_~SOLA (g *)  Gray Black
{ SOLB 5p | ~~SOLB 55 ®) Pk Red
L SOLA (g | SOLA g #)  White  Black
{ SOLB 55 | ~~SOLB o5 *)  Gray Red
L SOLA gy | \SOLA oy ) *)  White Red
{ SOLB 5y | ~~SOLB oy #)  Black  Whie
{ L SOLA 5 | W SOLA 1h ) #)  Yellow  Red
L wnSOLB o5 | SOLB o5 #)  White  None
COM. 13 13(+) ()% Orange  Red

Positive Negative
common  common

It can also be used as a negative common.

\ Special Wiring Specifications

Double wiring (connected to SOL. A and SOL. B) is used for the internal wiring of
each station regardless of valve and option types.
Mixed single and double wiring is available as a semi-standard specification.

1. How to Order

Indicate option symbol “-K” in the manifold part number and be sure to specify
station positions for single or double wiring on the manifold specification sheet.

How to Order Valves

voimo

Type of actuationl
1 2-position single
2 2-position double
3 | 3-position closed center
4 | 3-position exhaust center
5
6

3-position pressure center
3-position double check

l___|_

iManuaI override

2. Wiring specifications
Connections begin with the A side solenoid of the
first station being connected to terminal no. 1, and
continue in the order indicated by the arrows in the
drawing without skipping any terminals.
Maximum stations are 18.

C€ ch

[Option]

Ni

Non-locking push type (Tool required)

Locking type (Tool required)

c

Locki

ing type (Manual)

Light/Surge voltage suppressor

[Nl ]

Yes

|
‘ E ‘Wilhouthght with surge voltage ‘

. Seal Coil voltage
Series 0 | Metal seal 1 [ 100 VAC (50/60 Hz)
(4 Tvaa000 ] [ "1 | Rubberseal | 2 | 200 VAC (5060 Hz) | CE/UKCA-compliant
Functione | 3| 110VACGEOR0H | il _— |
NilNos ) | Standard (0.95 W) 4 | 220 VAC (5060 Hz) | | @ | CE/UKCA-compliant |
YNote2) | | ow wattage type (0.4 W) 5 24 VDG Note) CE/UKCA-compliant:
R Note 3) External pilot S 12VbC For DC only.

Note 1) When the unit is energized continuously, refer to “Specific Product Precautions 1” on page 519.

Note 2) In addition, only DC is available with Y.

Note 3) For external pilot specifications, refer to page 467. Combination of external pilot and perfect

interface is not possible.
Note 4) When multiple symbols are specified, indicate them alphabetically.

5%

D-sub connector

How to Order Manifold Assembly

Specify the part numbers for valves and options
together beneath the manifold base part number.

<Example>

D-sub connector kit with cable (3 m)
VV5Q41-05C8FD2(-Q)---1 set—Manifold base part no.

2 sets—Valve part no. (Stations 1 and 2)
2 sets—Valve part no. (Stations 3 and 4)
-1 set—Valve part no. (Station 5)

Prefix the asterisk to the part
nos. of the valve etc.

Enter in order starting from the first station
on the D side. When entry of part numbers
becomes complicated, indicate in the
manifold specification sheet.

443



VQ4000 series

E Kit (D-sub connector kit)

Applicable connector: D-sub connector (25P)

(Conforming to MIL-C-24308)

91

29.7

o) (L L111] e AL &

J, @Q©ﬂ

1(P), 5(R1), 3(R2) port

®
6x1/2"
COTJnef;!or ::olcjalion 163 =35
onUsido (FU) 47 106
-1 9 9
[ ,J,_
Manual override =M 2 }
— |
@
B I A I
e o o |l f
ﬁ\% lom] 1 T
o — s
B e | o !
Indicator light = YN~ A S @H_}j}
bOw
o) I (o)
>
,27,,@&,7,j{7,7,,@@1}
Ow i
35 e 8
> ~ i
e O —————8
e o) 4'\ ©) i i
>
——jm—ffeﬂf—fj{—f—f@ ﬂ
(©) ©L ©
= 7 H
ST il PO PN
< o) ! o)
I i
o Si,ifeﬂ,%,j,i,i, il
! o) AL (©)
< 1
N |
G T T ;
i D A
i \ji
Connector location
on D side (FD)
139.9 (Single)
148.9 (Double)
163 (3-position)

444

1/4", 3/8"
C6, C8, C10, C12, N7, N9, N11
4(A), 2(B) port

M5 x 0.8
2x1/8" Ground screw
External pilot port

1

Stations




B pug-in unit. VQ4000 Series

Bottom ported drawing

M5 x 0.8
2x1/8" Ground screw
External pilot port
17 10‘*7 1/4" 106 47 c
. onnector location
4(A), 2(B) port Tﬁ 9 on U side (FU)
Q[ \ \ H ; ;%_&;g
\‘€B (/ n ‘
: N \
fo—+ g — e D—— -
.
H
3 P 7 [ ,4,@7,i,,,,i,,,
H
& E] )
3 S O 6 L ,4@7,i,,,,i,,,
. i
) ;
£y . 5 | ,4,@,i,_,i,,,
I
& -
3 P 4 [ ,4,@7,7,,7,7",
: |
:
fali P 3 [ — RV S|
: }
:
B _ 2 P -
. : i N
:
3 P RV S|
o &
3 Stations i
N T T Connector location
I on D side (FD)
47.7
163
58.2
96.2
Dimensions Formula: L1=25n + 63, L2= 25n + 76 n: Stations (Maximum standard 18 stations)
L 1 2 3 4 5 6 7 8 9 10 | 11 |12 | 13 | 14 | 15 | 16 | 17 | 18
L1 88 | 113 | 138 | 163 | 188 | 213 | 238 | 263 | 288 | 313 | 338 | 363 | 388 | 413 | 438 | 463 | 488 | 513
L2 101 | 126 | 151 | 176 | 201 | 226 | 251 | 276 | 301 | 326 | 351 | 376 | 401 | 426 | 451 | 476 | 501 | 526

445



VQ4000 series

Kit (Terminal block box kit)

Manifold Specifications

* Enclosure IP65 compliant

« This type has a small terminal block inside a junction Porting specifications Applicable
box. The provision of a G3/4 electrical entry allows Series 4(A), 2(B) Port size Sl
connection of conduit fittings. port location 1(P), 5(R1), 3(R2) 4(A), 2(B)

* Maximum stations are 18. Ce, C8,

* 2 stations are used for terminal box mounting. Side C10, C12, Max. 18

VQ4000 12 1/4, 3/8, N7, .
N9, N11 stations
Bottom 1/4

Terminal Block Connections

Step 2. The diagram on the right shows the terminal block
wiring. All stations are provided with double wiring
regardless of the valves which are mounted.

ﬁ) Connect each wire to the power supply side, according

to the markings provided inside the terminal block.

Step 1. How to remove terminal block cover
Loosen the 4 mounting screws (M4) and open the
terminal block cover.

Terminal block cover

Mounting screw
)

M4

M3 screw

Gasket

Electrical entry
2xG3/4
Step 3. How to attach the terminal block cover

Securely tighten the screws with the torque shown

in the table below, after confirming that the gasket is

installed correctly. « Applicable terminal: 1.25-3, 1.25Y-3, 1.25Y-3N, 1.25Y-3.5
* Name plate: VVQ5000-N-T
* Drip proof plug assembly (for G3/4): AXT100-BO6A

Proper tightening torque [N-m]
0.7t0 1.2

C€ &8
How to Order Manifold [Option]

;CE/U KCA-compliant

-[o8][cé]

VVv5Q 4 1

Series Chi ]
[a [ vasooo [ = ]
. CE/UKCA-compliant
Manifold [a] =
[ 1 [ Plugin unit Option
. i Symbol Option
Stations Box mounting s D
- . l position Nil None
03 3 stations Cylinder port [ 0_[U side mounting CD Note2) Exhaust cleaner: D side exhaust
5 : cé 06 One-touch fitting : CU Note 2) Exhaust cleaner: U side exhaust
n “ D side mounting
18 18 stations [ 28 One-touch fitting K Note 3) | Special wiring (Except double wiring, 13 stations or more)
Note) 2 stati f - itti Note 4)
ote) mz ;nlt?:s‘iretuseq olr C10] 510 One-touch fitting Thread type N _Name plate i
gtheterminal  /¢12| 12 One-touch fitting i A SD Note2) | Direct exhaust with silencer box: D side exhaust
block t?ox. The number 02 1/4 | C SUNete2)| Direct exhaust with silencer box: U side exhaust
of stations is the F G
number of manifold 03 3/8 N NPT w IP65 enclosure
valves plus 2 stations B Bottom ported 1/4 T NPTF Note 1) When multiple symbols are specified, indicate
for the terminal block Ccm Mixed them alphabetically.
box. For 13 stations or | N7 21/4" One-touch fitting Example) -CDK
more, specify the N9 5/16" One-touch fitting Note 2) Combination of [CD] and [SD] is not possible.
wiring specifications by N - it Note 3) Specify the wiring specifications on the manifold
means of the manifold i 23/8" One-touch fitting specification sheet.

Note 4) Name plate is inlaid in the terminal block cover.
Note 5) Refer to pages 468 to 471 for with control unit.

Note) As a semi-standard specification, the maximum
number of stations can be increased by special
wiring specifications. For details, refer to page 447.

specification sheet.

446



B pug-in unit. VQ4000 Series

@ Electrical wiring specifications

5 Standard wiring Wiring with control unit
2xG3/4 [ Terminal no. Terminal no.  Polarity
Electrical entry ) e SOLA 10 Fleasg ) )

tsaton{ [ sore — w0 O
> { _N\N\Mo 2A r@ssuv@s‘mtcn2 A () )
stations SOLB ,op B8 )
| ~~nSOLA ) ~nSOLA ah @ )
3 siaiions{ SOL.B 38 SOL.B 3B ) (+)
[
poat { |~ nSOLA yp L nSOLA 4n () )
stations _NW\MQW SOL.B B ) (+)
Stations are counted starting from the | ~~nSOLA sp |~ nSOLA o) () ()
first station on the D side. 5 5‘3"0"5{ SOLB . ~~nSOLB (o5 () ()
\© T soa. SOLA
©) o { L~ D98A g L e 298A g5 () (1)
stations »—’W"\MOGB SOL.B 68 () (+)
Double wiring (connected to ! { _NW\MQW\ _NW\MQW\ =) (+)
SOL. A and SOL. B) is 7stations| | SOLB ;5 | SOLB .5 () (4
adopted for the internal wiring SOL.A 8A SOL.A A () )
[ ~~~SOLA [ ~~~SOLA =
of each slat\o_n, regardless of g sta(ions{ SOLB SOLB
valve and option types. P88 — o8 () (4)
Mixed single and double _ |~ SOLA gp L nSOLA G0 () ()
wiring is available as a semi- 9 3'3"0"5{ | ~~SOLB og A~nSOLB (o5 () @)
standard specification. s { | ~~nSOLA o SOLA yin (9 )
stations SOL.B SOL.B
. . { ~~~~SOLB , { ~~~~SOLB , )
Note) There is no polarity. It 108 B ) )
can also be used as oCOM oM 9 )
a negative common. Positive Negative
common  common

\ Special Wiring Specifications

Double wiring (connected to SOL. A and SOL. B) is used for the internal
wiring of each station regardless of valve and option types. Mixed single and
double wiring is available as a semi-standard specification. However, the
maximum number of stations is 16.

1. How to Order
Indicate option symbol “K” in the manifold part number and be sure to

2. Wiring specifications
Connections begin with the A side
solenoid of the first station being
connected to terminal no. 1, and
continue in the order indicated by the
arrows in the drawing without
skipping any terminals.

specify station positions for single or double wiring on the manifold

specification sheet.

How to Order Valves

=

[Option]

voimo

Type of actuationl
2-position single
2-position double

3-position closed center
3-position exhaust center
3-position pressure center
3-position double check

oo w(n|=

Seal

0 Metal seal

‘ 1 ‘ Rubber seal ‘

Series
[[4 [va4o00]

Functione—
Standard (0.95 W)
Low wattage type (0.4 W)
External pilot

Note 1) When the unit is energized continuously,
refer to “Specific Product Precautions 17
on page 519.

Note 2) In addition, only DC. is available with Y.

Note 3) For external pilot specifications, refer to
page 467. Combination of external pilot
and perfect interface is not possible.

Note 4) When multiple symbols are specified,
indicate them alphabetically.

Nil Note 1)
'y Note 2)

R Note 3)

[ =051 L]

CE/UKCA-compliant
N[ — |
L@ [CE/UKCA-compliant]

Note) CE/UKCA-compliant:

For DC only.
Enclosure
Nil Dust-protected
w Dust-tight/
Water-jet-proof (IP65)

Manual override

Nil | Non-locking push type (Tool required)
B Locking type (Tool required)
C Locking type (Manual)
Light/Surge voltage suppressor
[Nil_ ] Yes |

‘ E ‘Wilhoul light, with surge voltage suppressov‘
Coil voltage

100 VAC (50/60 Hz)

200 VAC (50/60 Hz)

110 VAC (50/60 Hz)

24VDC

1
2
3
4 | 220 VAC (50/60 Hz)
5
6

12VDC

How to Order Manifold Assembly

Specify the part numbers for valves and options
together beneath the manifold base part number.

<Example>

Terminal block box kit

VV5Q41-07C8T0(-Q)--1 set—Manifold base part no.
«\/Q4100-51(-Q)-----2 sets—Valve part no. (Stations 1 and 2)
*\Q4200-51(-Q)-----2 sets—Valve part no. (Stations 3 and 4)
+VQ4300-51(-Q)-------1 set—Valve part no. (Station 5)

Prefix the asterisk to the part

nos. of the valve etc.
Enter in order starting from the first station
on the D side. When entry of part numbers

becomes complicated, indicate in the
manifold specification sheet.

447



VQ4000 series

. Kit (Terminal block box kit)

91 38
18 | 18 2x1/8"
| PE. port
O | AN | & LT
LTy N
U © =
ma @o f\@l
il
olp Q—=t
T 6x1/2" 114", 3/8"
e— 1(P), 5(R1), 3(R2) port C6, C8, C10, C12, N7, N9, N11
4(A), 2(B) port
M5 x 0.8
2x G3/4 Ground screw
Conduit port 10.7
bt
129.5
163 =35 126.5
For U side mounting (TO) 47 106 96.2
# For D side mounting (TD) F 9 I 717
L / 1 I . VN
® 1 5
- v
" e
: =]
] . |\
:
)
® 7
Q (@) : |
Manual override © ‘ il 6 /»
H
@ g @ ‘ & 1/4" Note)
>
= = @@ﬂ 5 4—f
8o i o) o) : &
=] 9 &
=
Indicator light = = @@ﬂ 4 T
ndicator lig @ - 4 o e 5
~ > = = H . 7
Pw 1
0 4 o) K@ 5}
o> - ) h ) &
o = 1] T
39 H [S]
[ © @ ) H & &
D> = i ; Pg
o) o) i : ) 5}
=
¥ Stations ;E}{ - g
~| @
1 d\L/ 2x1/8" «
External pilot port
4 |nz
139.9 (Single) 16.2
148.9 (Double) 43.2
163 (3-position) 49.7
58.2
96.2

Shown VV5Q41-08C12TO-W.
Note) 4(A) and 2(B) port at the bottom of
the terminal block box are 1/4".

448



B pug-in unit. VQ4000 Series

Bottom ported drawing
M5 x 0.8
Ground screw

107
129.5 e
U side 126.5
9.2 06 -
71.7 1/4" g 5
4(A), 2(B) port
2xGsM4 [
Conduit port & 1 / N @
7 N _ n
@ [5] :
NP 8
E] .
=
7
= :
= : S —
1/47 Note) : v e
ote & -+ -
- i T
) 5 35 e P
£ 4 () fan
& . e >
& -~ S
25 : T @
g . N
£ 1 . () fan
I _ &) @
;@-‘ © § Stations 3 ‘ ‘
2x1/8" 8
1.7 47.7 80.8
432 | |
49.7 163
58.2
96.2

Note) 4(A) and 2(B) port at the bottom
of the terminal block box are 1/4".

R R Formula: L1=25n + 63, L2=25n + 76 n: Stations (Maximum standard 18 stations)
Dimensions * Including 2 stations for mounting terminal box.
L n 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15 | 16 | 17 | 18
L1 138 | 163 | 188 | 213 | 238 | 263 | 288 | 313 | 338 | 363 | 388 | 413 | 438 | 463 | 488 | 513
L2 151 | 176 | 201 | 226 | 251 | 276 | 301 | 326 | 351 | 376 | 401 | 426 | 451 | 476 | 501 | 526

449



VQ4000 series

L Kit (Lead wire cable)

¢ Enclosure IP65 compliant

* Direct electrical entry. Models with two or more
stations are available.

« Electrical entry can be selected on either the U side
or the D side according to the mounting orientation.

¢ Maximum stations are 16.

Wiring Specifications

IP65 complia

>
Manifold Specifications
Porting specifications "
Series | 4(A), 2(B) Port size A;’gt'ﬁf‘nbs'e
port location 1(P), 5(R1), 3(R2) 4(A), 2(B)
C6 (for @6), C8 (for 28),
. C10 (for 210), C12 (for 812),

vadooo | Side 112 1/4, 3/8, N7 (for 01/4"), Mla:‘ 16

N9 (for 05/16%), N11 (for g3/g") | Stations

Bottom 1/4

The red wire is for COM connection.

Three lead wires are attached to each station regardless of the type of valve which is mounted.

Lead wire color

Single solenoid

Lead wire color

SOLA, () () Black )+ Black
©) Red COM, () () Red
: (+)  White SOLB [ () () white
Positive  Negative Positive Negative
common common common common

Double solenoid

Black: A side solenoid

Red: COM

Lead Wire Assembly with Connector

Lead wire length

Part no.

0.6m VVQ5000-44A-8-01
1.5m VVQ5000-44A-15-0
3m VVQ5000-44A-30-00

0O: Number of stations 1 to 16.

Station number,

Cable: 3 core 24 x AWG

White: B side solenoid
(Not used for single solenoid)

For different lead wire lengths, order a lead wire assembly with connector shown in the table on the right.
Note 1) There is no polarity. It can also be used as a negative common.
Note 2) Connect the release valve and the pressure switch to SOL. A side on the manifold with control unit.

vvsQ 4 1 -[o8]cs| | L

How to Order Manifold

UK
cA

[Option]

C

Series
Manifold
Stations

01 1 station

16 16 stations

Cylinder port

C6 06 One-touch fitting

Cc8 28 One-touch fitting

n D side entry

Connector locations

CE/UKCA-compliant

T ——
o | CEIURCA-compiant |

U side entry Option
Symbol Option
Cable (Length) NIL Nome
CD Note2) Exhaust cleaner: For D side mounting
0 | Cable length 0.6 m n -
CU Note2) Exhaust cleaner: For U side mounting
1 Cable length 1.5 m - —— -
SB Direct exhaust with silencer box: Exhaust from both sides
2 | Cablelength3m - —— -
SD Note2) Direct exhaust with silencer box: D side exhaust
Thread t Sy Note 2) Direct exhaust with silencer box: U side exhaust
J read type w 1P65 enclosure
Nil Re Note 1) When multiple symbols are specified, indicate them
F G alphabetically.
N NPT Example) -CDW
T NPTF Note 2) Combination of [C3] and [SY] is not possible.

C10 ©10 One-touch fitting
C12 12 One-touch fitting
02 1/4

03 3/8

B Bottom ported 1/4
Ccm Mixed

N7 ©1/4" One-touch fitting

N9 | 05/16" One-touch fitting

N11 03/8" One-touch fitting

450



Plug-in Unit

VQ4000 series

=
How to Order Valves [Option]

ool ]-[s] ]

va 4 1-

* The drawing shows the electrical entry on the D side.
« Cable length is measured from the valve body.

How to Order Manifold Assembly

Specify the part numbers for valves and options
together beneath the manifold base part number.

<Example>

Lead wire kit with cable (3 m)
VV5Q41-05C8LD2(-Q)---1 set—Manifold base part no.
sets—Valve part no. (Stations 1 and 2)
sets—Valve part no. (Stations 3 and 4)
1 set—Valve part no. (Station 5)

*VQ4300-51(-Q)-

Prefix the asterisk to the part
nos. of the valve etc.

Enter in order starting from the first station
on the D side. When entry of part numbers
becomes complicated, indicate in the
manifold specification sheet.

CE/UKCA-compliant
(N[ — ]
"o | CEURCA-comptant|
. Note) CE/UKCA-compliant:
Series For DC only.
[4 T vasooo ] Enclosure
Nil Dust-protected
Dust-tight/
Type of actuation W | Water-jet-proof (IP65)
1 2-position single
| 2 | 2positiondouble | Manual override
3 | 3-position closed center Nil | Non-locking push type (Tool required)
4 | 3-position exhaust center B | Locking type (Tool required)
5 | 3-position pressure center c Locking type (Manual)
6 | 3-position double check
Light/Surge voltage suppressor
[N ] Yes |
Seal |__E_ [ without light, with surge voltage suppressor |
[0 [ Metalseal |
| 1 | Rubberseal | Coil voltage
1 | 100 VAC (50/60 Hz)
2 | 200 VAC (50/60 Hz)
3 | 110 VAC (50/60 Hz)
Function 4 | 220 VAC (50/60 Hz)
Nil Note 1) Standard (0.95 W) : fg xgg
Y Note2) | Low wattage type (0.4 W)
R Note 3) External pilot

Note 1) When the unit is energized continuously, refer to “Specific
Product Precautions 1” on page 519.

Note 2) In addition, only DC is available with Y.

Note 3) For external pilot specifications, refer to page 467.
Combination of external pilot and perfect interface is not
possible.

Note 4) When multiple symbols are specified, indicate them
alphabetically.

451



VQ4000 series

L Kit (Lead wire cable)

2x G3/4
(Electrical entry)

91

70 38

2x1/8"
PE. port

29.7,

Electrical entry on U side (LU)

6x1/2"

1(P), 5(R1), 3(R2) port

163

=35

Station number

47 106

N

Manual override

‘ !
AL
—jji—@&f——j)——ff—@@ﬂ
Indicator light 5‘& a | .o
—%E—S&ff—j’—ffffﬁ@ﬂ
Q @ Q
7%37@&**777*77*&@1]
o = o1 0
43 9
%;—@Ekﬁ—j—ffﬂ—@—fﬂ
5 Ie) é Ie)
—i;;—@ﬁkﬁ—j—ffﬂ—@—fﬂ
(o) é (o)
>
- 320 —1——77———71]
9 1) é 1)
o
=2 @‘E***iﬂi**f’*’*ﬂ
e 1 6
< ‘
< I
|
71 A ‘
HH_/
Electrical entry on D side (LD)
139.9 (Single)

452

148.9 (Double)

163 (3-position)

1/4", 3/8"
Lead wire length C6, C8, C10, C12, N7, N9, N11
Lo: 600 mm 4(A), 2(B) port
L1: 1500 mm M5 x 0.8
L2: 3000 mm Ground screw

71.7
10.7,

2x1/8"

External pilot port

@ |

[E]

2|
T~
27

i
O

ey
9,

<

,

©

Stations

o
o




B pug-in unit. VQ4000 Series

Bottom ported drawing

7.7

Lead wire length

Lo: 600 mm
L1: 1500 mm
L2: 3000 mm

M5 x 0.8

U side

2x1/8"

External pilot port

10.7

Ground screw

1/4"

4(A), 2(B) port

106

Station number

Electrical entry
on U side (LU)

n
:
- — 8 Y ,74_@7777777"7
5] :
;
% o oo |
Qe :
:
milo— .|| De—o 11
K= :
& .
o I v
el N
& : |
Zlfo 1 LY oo
Kl :
& .
Z o1 || oo
Q= :
H
Zffo . ||ro——o——1
G~ : g
B n
i et
& H
¢ E Stations 3
—— IN] A r === Electrical entry
T fiw o™ ] enb s 40y
1.7 477 80.8
43.2 163
49.7
58.2
96.2
Dimensions Formula: L1 = 25n + 63, L2= 25n + 76 n: Stations (Maximum 16 stations)
L n 1 2 3 4 5 6 7 8 9 [10 |11 |12 | 13 | 14 | 15 | 16
L1 88 | 113 | 138 | 163 | 188 | 213 | 238 | 263 | 288 | 313 | 338 | 363 | 388 | 413 | 438 | 463
L2 101 | 126 | 151 | 176 | 201 | 226 | 251 | 276 | 301 | 326 | 351 | 376 | 401 | 426 | 451 | 476

453



VQ4000 series

Kit (Serial transmission unit): EX124 (For Output) Serial Transmission System

* The serial transmission system reduces
wiring work, while minimizing wiring and
saving space.

* Double wiring (connected to SOL. A and
SOL. B) is adopted for the internal
wiring of each station, regardless of
valve and option types. Mixed single and
double wiring is available as a semi-
standard specification.

Manifold Specifications

Porting specifications .
Series | 4(A), 2(B) port Port size AlElis
(A), 2(B) po stations
location | 1(P), 5(R1), 3(R2) 4(A), 2(B)
Side C6 (for 06), C8 (for 08), C10 (for 010), C12 (for 012), Max

VQ4000 1/2 1/4, 3/8, N7 (for a1/4"), N9 (for 05/16"), N11 (for 03/8") 18 stations

Bottom 1/4

Iltem Specifications
External power supply 24 VDC +10%, —5%
Current consumption 01A
(Internal unit)

 Drip proof

How

plug assembly (for G1/2): AXT100-BO4A
to Order Manifold

C

[Opi

vvsQ 4 1 -[os][c8] |S[ |v]-

Series
[ 4 ] va4000
Manifold
[ [ Plugein unit_]
Stations
3 stations

03

18 18 stations

Note) 2 stations are used for mounting SI Unit.
The number of stations is the number of
manifold valves plus 2 stations for SI Unit.
For 11 stations or more, specify the wiring
specifications by means of the manifold
specification sheet.

Stations are counted starting from the
first station on the D side.

Cylinder port

Cé ©6 One-touch fitting

C8 08 One-touch fitting

Cc10 210 One-touch fitting

C12 @12 One-touch fitting

02 1/4

03 3/8

B Bottom ported 1/4

CcMm Mixed

N7 ©1/4" One-touch fitting

N9 | ©5/16" One-touch fitting

N11 ©3/8" One-touch fitting

Thread type

Nil Rc
F G
N NPT
T | NPTF

S| Unit mounting positi

[ Nil_]U side mounting]

D side mounting

Option
Symbol Option
Nil None

CD Note2) Exhaust cleaner: D side exhaust
CU Note2) Exhaust cleaner 1: U side exhaust

K Note 3) | Special wiring (Except double wiring, 11 stations or more)
SD Nete2) | Direct exhaust with silencer box: D side exhaust
SU Note2) | Direct exhaust with silencer box: U side exhaust
W Note 2) IP65 enclosure

Example) -CDK
Note 2) Combination of [CD] and [SD] is not possible.

Note 4) Refer to pages 468 to 471 for with control unit.
Note 5) The release valve and the pressure switch on the manifold with

UK
cA

tion]

CE/UKCA-compliant
[N [ — ]
[ Q[ CE/UKCA-compliant |

Note 1) When multiple symbols are specified, indicate them alphabetically.

Note 3) Specify the wiring specifications in the manifold specification sheet.

control unit

are connected to another power supply. Cable length is 0.6 m for L kit.

Sl Unit

0 Without SI Unit

Q DeviceNet® (16 output points)

R1 OMRON Corp.: CompoBus/S System (16 output points)
R2 OMRON Corp.: CompoBus/S System (8 output points)
\i CC-Link (16 output points)

Sl Unit Part No.

Symbol| Protocol type Sl Unit part no. Page
Q DeviceNet® (16 output points) B z:gz Ei:gjaggm
R1 | OMRON Corp.: CompoBus/S System (16 output points) B ::gz Eﬂgiagg:l
— 475
R2 | OMRON Corp.: CompoBus/S System (8 output points) B z:gzj Ei:g:ggggg
v CC-Link (16 output points) 8 ::g: Ei}ziggmj]

Refer to the Web Catalog and the Operation Manual for the details of EX124

Operation Manual via SMC website, https://www.smcworld.com

Integrated-type (For Output) Serial Transmission System. Please download the

454



B pug-in unit. VQ4000 Series

C€ 2h

How to Order Valves [Option]

va 4 [1]ofo] J-5[ [ I ]1-

Series

[ T vadooo ]

Type of actuation

2-position single

2-position double

3-position closed center

3-position exhaust center

3-position pressure center

ola|slw|n|=

3-position double check

Seal

[ 0 [ Metalseal
“ Rubber seal

CE/UKCA-compliant
N[ — ]
[@ [ CE/UKCA-compliant |

Enclosure

Ni Dust-protected

w Dust-tight/
Water-jet-proof (IP65)

Manual override

Nil | Non-locking push type (Tool required)
B | Locking type (Tool required)
C Locking type (Manual)

Light/Surge voltage suppressor
[Nl ] Yes |
‘ E ‘ Without light, with surge voltage supp(essor‘

Coil voltage
[s] 2avoc |
Function
Nil Note 1) Standard (0.95 W)
Y Note 2) Low wattage type (0.4 W)
R Note 3) External pilot

Note 1) When the unit is energized
continuously, refer to “Specific
Product Precautions 1” on page 519.

Note 2) In addition, only DC is available with Y.

Note 3) For external pilot specifications,
refer to page 467. Combination of the
external pilot and perfect interface is
not possible.

Note 4) When multiple symbols are specified,
indicate them alphabetically.

How to Order Manifold Assembly

Specify the part numbers for valves and options
together beneath the manifold base part number.

<Example>

VV5Q41-07C8SV(-Q)---1 set—Manifold base part no.
«\Q4100-51(-Q)- sets—Valve part no. (Stations 1 and 2)
+\/Q4200-51(-Q)- sets—Valve part no. (Stations 3 and 4)
*VQ4300-51(-Q)--- 1 set—Valve part no. (Station 5)

Prefix the asterisk to the part
nos. of the valve etc.

Enter in order starting from the first station
on the D side. When entry of part numbers
becomes complicated, indicate in the

manifold specification sheet.

455



VQ4000 series

E Kit (Serial transmission unit): EX124 (For Output) Serial Transmission System

91 38
18,

2x1/8"
PE. port

00 [~ | 2
e
il

3

17.2

B
M

= Eopes B0
41.7

) 1/4", 3/8"
6 x 1/2 C6, C8, C10, C12, N7, N9, N11
1(P), 5(R1), 3(R2) port A, 26) port

4xG1/2
Conduit port M5x038
Ground screw
163 ~35 107
Sl Unit 47 106 \ 129.5 Note 1)
For U side mounting (SCJ) 9 9 \ 94.7
For D side mounting (SDO) T 71.7
gy E
Na E; - / ; — -
[}
® ®7 : ()
8
: a a
7
: s Re
Manual override il \ EL
6
H
: & \ 1/4" Note 2)
s \
T
Sla o o) K= \ 5]
> 9 &
=) @eﬂ 4 -
Indicator light /o s o) [ S[=) =2
[ ST i e 2
Ho =] @t i 3 e
6 0 - 5 Q) 2
=>
o &= ﬂ 2 A
« 6 0 & 2
> ) h S
= i 1 & =
6} o) : 5]
3 Stations £}‘ w g
B
~®
. = i
LT 2x1/8"
External pilot port 11.7
139.9 (Single) 16.2
148.9 (Double) 43.
163 (3-position) 5392.7
96.2

Note 1) In the case of EX124D(U)-SMJ1, this dimension becomes 133.
Note 2) 4(A) and 2(B) port at the bottom of the SI Unit are 1/4".

Figure shows VV5Q41-08C12SQ-W.

. . Formula: L1 = 25n + 63, L2=25n + 76 n: Stations (Maximum standard 18 stations)
Dimensions # Including 2 stations for mounting S| Unit box.
L n 3 4 5 6 7 8 9 10 | 11 | 12 |13 | 14 | 15 | 16 | 17 | 18
L1 138 | 163 | 188 | 213 | 238 | 263 | 288 | 313 | 338 | 363 | 388 | 413 | 438 | 463 | 488 | 513
L2 151 | 176 | 201 | 226 | 251 | 276 | 301 | 326 | 351 | 376 | 401 | 426 | 451 | 476 | 501 | 526

456



B pug-in unit. VQ4000 Series

Bottom ported drawing

4(2) x G1/2
Conduit port M5 x 0.8
07 Ground screw
J side ) 129.5 ] 1/4"
947 4(A), 2(B) port 5 106 S 47
— N
8
) :
N> . \
7 \
\ A A
6
- a TP
1/4 =
P s A A
. Q= . ol - \v>4 \ %
e 15 7 I P
] 4
Qe Y N
Pe 115 A1
T : o—©
Pe 115 E PN
T 2| g o—©
& g : a
— 1
R !
e . <
X 3 g Stations <
&
: o !
7 47.7 80.8
2x1/8" 432
External pilot port é:; 163
%2

Note) 4(A) and 2(B) port at the bottom of the
terminal block box are 1/4".

. . Formula: L1=25n + 63, L2=25n + 76 n: Stations (Maximum standard 18 stations)
Dimensions * Including 2 stations for mounting SI Unit.
L n 3 4 5 6 7 8 9 10 | 11 |12 | 13 | 14 | 15 | 16 | 17 | 18
L1 138 | 163 | 188 | 213 | 238 | 263 | 288 | 313 | 338 | 363 | 388 | 413 | 438 | 463 | 488 | 513
L2 151 | 176 | 201 | 226 | 251 | 276 | 301 | 326 | 351 | 376 | 401 | 426 | 451 | 476 | 501 | 526

457



Plug Lead Unit: C Kit (Connector Kit)

VQ4000 Series C¢€

[Option]
Note) CE/UKCA-compliant:
For DC only.

I Base Mounted

How to Order Manifold

Crog ..

Nil

$Kit type [ | CE/UKGA-comptant |

VV5Q % 5 - 08
T

Manifold

[ 5 | Pluglead unit C Kit (Connector) Option
. <X Symbol Option
Stations p \\‘\%% Nil None
o1 1 station CD Note 2) Exhaust cleaner: For D side mounting
: : CU Note 2) Exhaust cleaner: For U side mounting
16 16 stations

SB Direct exhaust with silencer box: Exhaust from both sides
SD Nete 2) | Direct exhaust with silencer box: D side exhaust

Cylinder port

C6 96 One-touch fitting SU Note 2) | Direct exhaust with silencer box: U side exhaust
cs8 28 One-touch fitting w 1P65 enclosure
c10 210 One-touch fitting Note 1) When multiple symbols are specified, indicate

12 12 —touch fitti them alphabetically.
[ 212 One: t;>uc itting Example) .ODW

02 14 C ‘ Connector kit ‘ Max. 16 stations Note 2) Combination of [C3] and [Sh] is not available. Also,
03 3/8 exhaust cleaner is not attached. Please order it

B Bottom ported 1/4 Thread type separately.
CH o Mixed — Il Re : Refer to page 520 (Grommet type) E
N7 ©1/4" One-touch fitting F G ! for wiring specifications. :
N9 | 05/16" One-touch fitting N NPT Control unit g '
N11| 3/8" One-touch fitting T NPTF Refer to pages 468 o 471.

How to Order Valves How to Order Manifold Assembly

Specify the part numbers for valves and options
together beneath the manifold base part number.

1_

<Example>
T ¢ actuati CE/UKCA-c Connector kit
ion i
—ype of actuatio CEUKGA o] VVSQ45-05C12C(-Q}-1 set—Manifold base part no.
¥ i "
position single P VQ4150-5G1(-Q)--~-2 sets—Valve part no. (Stations 1 and 2)
2 2-position double Note) CE/UKCA-compliant: . .
3 | 3-position closed certar For DC only. «\/Q4250-5G1(-Q) sets—Valve part no. (Stations 3 and 4)
+ 305t h Enclosure #\Q4350-5G1(-Q)-------1 set—Valve part no. (Station 5)
-pos.n.mn exhaust center ‘ Nil ‘ Dust-protected ‘
5_| 3-position pressure center | W_ | Dust-tight/ Water-jet-proof (IP65) | Prefix the asterisk to the part
6 | 3-position double check | nos. of the valve etc.
Manual override
; Seal Nil: B: C: Enter in order starting from the first station
Series 0 Metal seal Non-locking | Locking type Locking type on the D side. When entry of part numbers
[4 ] va4000 | | 1 | Rubberseal | pushtype | (Tool required) (Ma”l“a” becomes complicated, indicate in the
(Tool required) | ¢}, [} manifold specification sheet.
Function
Nil Note 1) Standard (0.95 W)
Y Note 2) Low wattage type (0.4 W)
R Note 3) External pilot
Note 1) When the unit is energized continuously,
refer to “Specific Product Precautions 1"
on page 519. Light/Surge voltage suppressor
Note 2) In addition, only DC is available with Y. _g 9 g pp
Note 3) For external pilot specifications, refer to ‘ Nil ‘ Yes ‘
page 467. Combination of the external |__E_ [ without light, with surge voltage suppressor |
pilot and perfect interface is not possible.
Note 4) When multiple symbols are specified, Electrical entry

indicate them alphabetically.

G
Coil voltage Lelad \;vgre
1_[100 VAC (50/60 Ha)] [ 4 [220 VAC (50/60 Ha)| | & S
2 |200 VAC (50/60 Hz)| | 5 24VDC £
3 |110 VAC (50/60 Hz)| | 6 12VDC 5| H
Lead wire N
length
15m

458



Manifold Specifications

=Y Plug Lead unit V@Q4000 Series

Porting specifications Maximum
Series Base model Type of connection 4(A), 2(B) Port size applicable aneliceblaly el hia]
port Sl valve (Formula)
location | 1(P), 5(R1),3(R2) |  4(A), 2(B)
C6
c8
C10
12 c12
Side Option 1/4 VQ4Oi50 0.31n +0.55
VQ4000 | VV5Q45-000 | M C kit-Grommet Direct exhausf] ij/? 2 to 16 stations VQ4TI51 * Not including
with NS valve weight.
silencer box N11
Bottom 1/4
n: Stations
Flow Rate Characteristics at the Number of Manifold Stations (Operated individually)
Model Passage/Stations Station 1 Station 5 Station 10 Station 15
C [dm?¥/(s-bar)] 5.9 5.9 5.9 5.9
1—4/2 (P — A/B) b 0.23 0.23 0.23 0.23
2-position metal seal Cv 15 1.5 1.5 15
vQ4)50 C [dmS/(s-bar)] 6.2 6.2 6.2 6.2
4/2 — 5/3 (A/B — EA/EB) b 0.19 0.19 0.19 0.19
Cv 15 1.5 1.5 15
C [dm?¥/(s-bar)] 6.8 6.8 6.8 6.8
1 4/2 (P — AB) b 0.31 0.31 0.31 0.31
2-position rubber seal Cv 1.8 1.8 1.8 1.8
va4)s51 C [dm¥(s-bar)] 7.0 7.0 7.0 7.0
4/2 — 5/3 (A/B — EA/EB) b 0.38 0.38 0.38 0.38
Cv 1.9 1.9 1.9 1.9

Note) Port size: 3/8

Manifold Options

Blanking plate assembly
VVQ4000-10A-5

Individual SUP spacer
VVQ4000-P-5- g§

Individual EXH spacer
VVQ4000-R-5-32

Refer to pages 462 to 466 for |
detailed dimensions of each op- !
tion. H
« For replacement parts, refer to
page 475. E
* Refer to pages 468 to 471 for |
control unit. :

Restrictor spacer
VVQ4000-20A-5

SUP stop valve spacer
VVQ4000-37A-5

SUP/EXH block plate
VVQ4000-16A (1 pc./set)
>

EXH blocking plate
(Order q'ty: 2 pes.)

4 blocking plate

Interface regulator
(P, A, B port regulation)

ARBQ4000-00-8-5
P =2

Release valve spacer:
For D side mounting
VVQ4000-24A-5D Note)

Double check spacer with
residual pressure exhaust
VVQ4000-25A-5 Note)

Direct exhaust with silencer
box

Manifold mounted exhaust
cleaner
[-Col

Note) Release valve spacer and double check spacer with residual pressure exhaust cannot be combined with external pilot.

459



VQ4000 series
Kit (Connector kit)

38 2x1/8"
18 | 18 PE. port
o N
N . N
A7 =
mE am @E@ v
ot @z«\ =
‘ 6x1/2"
I ™1(p), 5(R), 3(Re) port
106.5

2x1/8"
178.5 (3-position) ~35 External pilot port 07
164.4 (Double) !
ol 96.2
155.4 (Single) 7.7 M5 x 0.8
625 106 58.2 Ground screw
49.7
9 9

U side

o
I~
27

1/4", 3/8"

i
Do a4 j} 7 ’g'% i @ C6, C8, C10, C12, N7, N9, N11
EE%;’*W%T\"W&“T 7{}@}} e 7% %@7 4(A), 2(B) port
Ez%zf—f—e@—nfi—i 743}91} a 5 —g@ %@—
—_— kT T e
%E%;————e@—n—i—i ettt 3 P %@—
:
—_—— *wifjﬁ’j it 2 <8 g@f g g
H !
et T T OO —
. ! 3 Stations @ N g| E
. EE AN ]
Manual override 117
Indicator light 43.21%

460



B Plug Lead unit. V4000 Series

Bottom ported drawing

M5 x 0.8
71.7 Ground screw
107 1/4" 106 62.5
4(A), 2(B) port 9 9
1 r
External pilot port / ,\I ‘ I
- &
o1 n
i |
© : <O—
& = ' |
Pe ' —1 I — e
R 7
&I : :
3 R —T 6 77@—7 e e = =
& : i
I R [ _ Ve —
C 3 R s | ﬁ@— (C— A==
& [E] : = | =
g 5O —+ 4 774.}@—— R e
& ‘
Hd} H L 3 7—43@—— — - —Afe—A=———r=
5) .
& : i
i L | _ _ S 7= N
] e 2 2 ﬁ@— fo—A————=
@ [E] : n b
Bl — 1 o 7749@—7 777@#5777
K= :
() © § Stations 3
~| ®
Y N[ i
Ty \ﬁ Cable length
11.7 47.7 96.3 (600 or 1500 mm)
432 178.5 (3-position)
49.7
58.2
96.2
Dimensions Formula: L1 = 25n + 63, L2= 25n + 76 n: Stations (Maximum 16 stations)
L n 1 2 3 4 5 6 7 8 9 [10 |11 |12 | 13 | 14 | 15 | 16
L1 88 | 113 | 138 | 163 | 188 | 213 | 238 | 263 | 288 | 313 | 338 | 363 | 388 | 413 | 438 | 463
L2 101 | 126 | 151 | 176 | 201 | 226 | 251 | 276 | 301 | 326 | 351 | 376 | 401 | 426 | 451 | 476

461



VQ4000 series

Manifold Options

Manifold Option Parts
Blanking plate assembly

VVQ4000-10A-1 (Plug-in type)
VVQ4000-10A-5 (Plug lead type)

It is used by attaching on the manifold block for
being prepared for removing a valve for
maintenance reasons or planning to mount a

spare valve etc. *) B
= Proper tightening torque: 0.5 to 0.7 N-m 4 2
5 1 3
(R1)(P) (R2)

Circuit diagram

Plug-in type Plug lead type

140 (Plug-in type)

92.5 (Plug lead type)

50

24.6

Individual SUP spacer

VVQ4000-P —? Q.
Thread F:Xpe
G

Manifold Port size Nil
\ 1 \ Plug-in type \ \ 02 \ 1/4 \ F
5 Plugleadtype | [ 03| 3/8 | N | NPT
T [NPTF
1(P)

Plug-in type

Plug lead type Circuit diagram

163 (Plug-in type)
115.5 (Plug lead type)
73
R RS
=

e

{ =t

T
26.4

VVQ4000-P-|

-
VVQ4000-P-[J-0:

02: 1/4
3: 3/8

Individual EXH spacer
VVQ4000—R—([1|—
m IloThread type

Manifold Port size Nil Rc

[1 ] Pugintype | [02] 1/4 F G
[ 5] Plugleadtype | [03] 38 | N | NPT
T _|NPTF

1(P)

3(R") =—|

5(R1) 3(R2)

Circuit diagram

Plug lead type

163 (Plug-in type)

115.5 (Plug lead type)

73

R

VVQ4000-R-|
VVQ4000-R-|

462



Restrictor spacer
VVQ4000-20A-1 (Plug-in type)
VVQ4000-20A-5 (Plug lead type)

A restrictor spacer is mounted on a manifold block to
control cylinder speed by throttling exhaust air flow.

5(R1)

Plug-in type

Manifold Options VQ4000 Series

165 (Plug-in type)

117.5 (Plug lead type) 25
75 125
4(A)
2(B) & [HO
i o 1 3 IQEs
& Q S B
3(R2)

[

Note 1) A certain amount of leakage is allowed in the products’ specifications.
Tightening the needle to reduce leakage to zero may result in equipment damage.
Note 2) Products mentioned in this catalog are retainer types, so the needle is not removed
completely. Over rotation will cause damage.

Circuit diagram

SUP stop valve spacer
VVQ4000-37A-1 (Plug-in type)
VVQ4000-37A-5 (Plug lead type)

A SUP stop valve spacer is mounted on a
manifold block, making it possible to
individually shut off supply air to each valve.

Plug-in type Plug lead type

Circuit diagram

163 (Plug-in type)
115.5 (Plug lead type)

R

a0

[T

Release valve spacer: For D side mounting

149 (Plug-in type)

VVQ4000-24A-1D (Plug-in type) 1015 (Plag eedipe)
VVQ4000-24A-5D (Plug lead type)
Combination of VQ410 (Single) and release
valve spacer can be used as air release valve. i _ H\ ] B
Note 1) Mounting on 2-position double and S &
3-position valve is not possible. 2
Note 2) Can be mounted on L kit only. For other 5(R1) _3(R2)
kits, order E type control unit.
(Refer to pages 468 to 471.)
3/8 54.5
'P1 SUP port
1(P) Po m =
y mI ]
Circuit diagram = =
Plug-in type Plug lead type
SUP/EXH block plate 1.8
VVQ4000-16A (1 pc./set)
When supplying two different pressures to one 1
manifold, this is used to shut off between stations with @
different pressures. ~
R RAF— RA——
P P P
R RA— RA—
SUP passage blocked EXH passage blocked SUP/EXH passage blocked

ﬁ blocking plate

EXH blocking plate
(Order q’ty: 2 pcs.)

<Passage blocked label>
Indication labels to confirm the blocking position are attached.
(Each for SUP passage, EXH passage, and SUP/EXH passage blocking positions)

463



VQ4000 series

Manifold Option Parts

Direct exhaust with silencer box
VV5Q4 } -000-SB (Exhaust from both sides)
VV5Q4 | -000-SD (D side exhaust)
VV5Q4 ; -000-SU (U side exhaust)

The EXH outlet is placed on the top side of the manifold

end plate. The built-in silencer provides highly effective
noise reduction. (Noise reduction of 35 dB(A) or more)

Effective area: 60.2 mm2

Note) Note that when excessive drainage occurs in the air
supply, the drainage will be released along with the
exhaust.

45

72

g

|
.

H

|
&, @@© e

111.2

58.2

s e

Double check spacer with

Specifications

residual pressure exhaust

VVQ4000-25A-3

Intermediate stop | Drop prevention

Double check
VVQ4000-25A-1 (Plug-in type) )
VVQ4000-25A-5 (Plug lead type) Applicable
Can hold an intermediate cylinder position for an solenad vave

vQ4400 vQ4;00

extended time.

When combined with a double check spacer with
built-in double check valve, it is unaffected by air
leakage between the spool valves, making it
possible to hold a cylinder at an intermediate
stopping position for an extended time.

Besides, combination between 2-position solenoid
valve (VQ45 00) and double check spacer cannot
hold an intermediate position, but can be used for
drop prevention at the cylinder stroke end.

163 (Plug-in type)

125.5 (Plug lead type)

50

464

Note) Figure shows VV5Q41-000-SD.

* Silencer box assembly: VVQ4000-33A (With gasket, screw)

A\ Caution

Handling Precautions

« In the case of 3-position double check (VQ46;0),
check the leakage from piping and fittings in
between valve and cylinder by means of
synthetic detergent solutions, and ensure that
there is no such leakage found there. Also,
check the leakage from cylinder seal and piston
seal. If there is any leakage, sometimes the
cylinder, when valve is de-energized, can move
without stopping at intermediate position.

Since One-touch fittings allow slight air leakage,

screw piping is recommended when stopping

the cylinder in the middle for a long time.

If exhaust side of double check spacer is

narrowed down, this causes a decrease in

intermediate stop accuracy and may
malfunction.

« Combining with 3-position valves “VQ4§DD”
is not possible.

« Set the cylinder load so that the cylinder
pressure will be within two times that of the
supply pressure.

+ Combining double check spacer with external
pilot is not possible.

Manual override for residual pressure exhaust
Slotted locking type (Tool required)




Manifold mounted exhaust cleaner

VV5Q4 ; -0000-CD (D side mounting)
VV5Q4 | -000-CU (U side mounting)

An adapter plate for exhaust cleaner mounting is
provided on the top of the manifold end plate.
The exhaust cleaner collects drainage and oil
mist (99.9% or more) and is highly effective for

noise reducti

ion.

(Noise reduction of 35 dB(A) or more)

Manifold Options VQ4000 Series

Applicable exhaust cleaner

AMC610-10 (Port size Rc 1)

Note 1) Exhaust cleaner AMC610-10 is not attached.
Please order it separately.

Note 2) Mount so that the exhaust cleaner is at the lower side.

Note 3) For details about the exhaust cleaner, refer to the Web Catalog.

Plug-in type

Lead wire length
L 0: Approx. 600 mm

/4", 3/8"
C6, C8, C10, C12, N7, N9, N11

L 1: Approx. 1500 mm
L 2: Approx. 3000 mm

4(A), 2(B) port

163 (3-position) = 3.5
96.2
148.9 (Doubl
1399 (sxle)e T
91
Station number 44 1106 2x1/8" 9
w\ﬂ, rL? External pilot ﬂﬂ
- RIS port L
a T |
Manual override i i by e 5 !
i S S
a5 | [ 2 ‘
i |2} I
. H 2y
Indicator light SormmenE ; E ‘
2 Ty
. |
i s ) ‘
. |
& 1
u
AMC610-10 . ] . ‘
Exhaust cleaner . ' \ !
w T
D side ‘ 0118
2x G3/4 ! %
Electrical ents !
(Electrical entry) oy 12 149
o 1(P) port U side mounting
203 38| \2x 18’ ‘
PE. port
B R Formula: L1 = 25n + 63, L2 = 25n + 76
Dimensions n: Stations (Maximum 16 stations)
L nl 1 2 3 4 5 6 7 8
L1 88 | 113 | 138 | 163 | 188 | 213 | 238 | 263
L2 101 | 126 | 151 | 176 | 201 | 226 | 251 | 276
L Wl &) 10 | 11 | 12 | 13 | 14 | 15 | 16
L1 288 | 313 | 338 | 363 | 388 | 413 | 463 | 463
L2 301 | 326 | 351 | 376 | 401 | 426 | 476 | 476

Plug lead type

178.5 (3-position]

1/4", 3/8"

=35

C8, C8, C10, C12, N7, N9, N11

155

164.4 (Double)

4(A), 2(B) port

1/8"
External pilot
port

25 14
L:

P=

Indicator light

44

Manual override,

AMC610-10

215

0118

90
149

U side mounting

Formula: L1 = 25n + 63, L2 = 25n + 76

Dimensions n: Stations (Maximum 16 stations)
L nl 1 2 3 4 5 6 7 8
L1 88 | 113 | 138 | 163 | 188 | 213 | 238 | 263
L2 101 | 126 | 151 | 176 | 201 | 226 | 251 | 276
L Wl &) 10 | 11 | 12 | 13 | 14 | 15 | 16
L1 288 | 313 | 338 | 363 | 388 | 413 | 463 | 463
L2 301 | 326 | 351 | 376 | 401 | 426 | 476 | 476

465



VQ4000 series

Manifold Option Parts

Interface regulator (P, A, B port regulation)
ARBQ4000-00-01-1 (Plug-in type)
ARBQ4000-00-1-5 (Plug lead type)

Spacer Interface regulators can be placed on top of the manifold block
to reduce the pressure of each of the valves.

Specifications

Flow Rate Characteristics

Conditions Inlet pressure: 0.7 MPa
ARBQ4000-00-A

Interface regulator ARBQ4000 o
F ing port A ‘ B ‘ P 06
Appli valve Plug-in |Plug Iead‘ Plug-in | Plug Iead‘ Plug-in |Plug lead E 05
- = T
operating pressure 1.0 MPa =04
Set pressure range 0.05 to 0.85 MPa g [
pi g . . 303 =]
Fluid Air g 02
. . - . s ~ N
Ambient and fluid temperature -5 to 60°C (No freezing) T ot
Port size for of pressure gauge M5 x 0.8 8 0 \ \
N o 200 400 600 800 1000 1200 1400 1600
Weight [kg] 033 | 030 | 083 | 030 | 083 [ 030 Flow rate [Limin(ANR)]
Effective area at supply side [nm?]| P — A 15 31 14
SatP1=07MPaP2=05MPa | p_ B 35 16 15 ARB£4°°°‘°°'B
Effective area at exhaust side [mm?]|A — EA| 18 40 40 = 06
SatP2=05MPa o
B — EB 37 19 37 < 05 =
Note 1) Set the pressure within the operating pressure range of the valve. o 04 ]
Note 2) Operate an interface regulator only by applying pressure from the P port of the base, except 2 03 D
when using it as a reverse pressure valve. When using it as a reverse pressure valve, P port @
regulation is not allowed to use. a2
Note 3) When using a perfect spacer, assemble a valve, a spacer regulator and a perfect spacer in this 2 o1
order to use it. 3 \

Note 4) When using in A port regulation, B port regulation by closed center, since there is a problem in
its operation, please contact SMC.
Note 5) Dust-tight/Water-jet-proof (IP65) is not available with interface regulator.

How to Order

Valve model Interface regulator Regulating port

ARBQ4000-00-A-1 A

VQ4100] (Plug-in type) ARBQA4000-00-B- 1

ARBQ4000-00-P-1
ARBQ4000-00-A-5
ARBQ4000-00-B-5

VQ4050 (Plug lead type)

V| W|>|V| T

ARBQ4000-00-P-5

o

o

200 400 600 800 1000 1200 1400 1600
Flow rate [L/min(ANR)]

ARBQ4000-00-P (P — A)
0.7]
06

05

JL

Outlet pressure [MPa]
°
&

o 200 400 600 800 1000 1200 1400
Flow rate [L/min(ANR)]

Dimensions

L

¢ | 8%
& Owg 2 5
m & o i
55.5
218.5 125

Regulating port: A Regulating port: B

466

ARBQA4000-00-P (P — B)
0.7|
0.

&o

z ] —

%0. \\

g |

5 0

e — 3
3 AN\

0 200 400 600 800 1000 1200 1400
Flow rate [L/min(ANR)]

Pressure Characteristics

Conditions

Inlet pressure: 0.7 MPa
Outlet pressure: 0.2 MPa
Flow rate: 20 L/min (ANR)

035
030

025

020

015

— |
T

010

005

Outlet pressure [MPa]

000
02 03 04 05 06 07 08 08 1

Inlet pressure [MPa]




VQ4000 series

Semi-standard Specifications

External Pilot Specifications

* When the supply air pressure is:

« lower than the required minimum operating pressure 0.15 to 0.2 MPa,

« opposite air supply (R port supply), cylinder supply (A and B port supply),

« used for vacuum specification, it can be used for external pilot specification.
Order a valve by adding the external pilot specification [R] to the part number.
External pilot is available as standard for manifolds and options.

« Internal/external pilot can be mounted in a manifold.
« Compatibility with universal porting is possible for the single, double and
3-position (excluding double check) types.

How to Order Valves

Pressure Specifications

Valve construction Metal seal Rubber seal
Operating pressure range —-100 kPa to 1.0 MPa
Single 0.2t0 1.0 MPa
etemeprot Double | 0.15t01.0MPa | 0.15t0 1.0 MPa
pressure range
3-position 0.2to0 1.0 MPa
Combination of manifold options shown below and external pilot

specification is not possible.

Release valve spacer VVQ4000-24A-00D

Manifold with control unit VV5Q40-000

Control unit model no.

Double check spacer with residual pressure exhaust VVC)4000-25A-;3

Pugin  VQ4100[R]—51-03 Pugin  VQ4100|R|—51
Pluglead VQ4150[R]—5G1—03 Pluglead VQ4150|R]|—5G1

External pilot

<Sub-plate>

External pilot

External pilot port
2x1/8

<Manifold>

Note) Possible to mix mounting of internal and external pilot

467




VQ4000 series
Manifold with Control Unit

* Mounting air filter, regulator, pressure
switch for air release valve on manifold as
unit is possible and permits piping labor
savings.

* Maximum number of stations d

Manifold Specifications

each kit.
Refer to manifold specifications.
*2 stations are used for control unit
mounting.
(1 station is used for E type.)

Plug lead type

ACaution

In the case of air filters with auto-drain or
manual drain, mount so that the air filter is
at the bottom.

VvsQ 4

Series—l_

[[4 T va4o00 | Stations
Manifold® [o2 [2

1 Plug-in unit
5 | Plug lead unit

Maximum and

minimum number
of stations depend
on the kit.

Porting specifications Note) :
Base model|  Type of connection | 4(A), 2(B) Port size Applicable Applllcable
ort max. stations|  V&!Ve
pends on location |1(P), 5(R1), 3(R2)|  4(A), 2(B)
C6 (for @6)
12 C8 (for 08) —_—
it D- C10 (for @10) |F, T ki
VV5Q41 F kit - D-sub connector " C12 (for@12) |14 stations | VQ4TI00
T kit — Terminal block box|  Side . .
-000 L : Option | 1/4,3/8 (13 stations) | VQ4C101
L kit — Lead wire _ N7 (for o1/4") || G i
Direct exhaust|| Ng (for 05/16") 1éstanons
77777777777777777777777777777777 _ with N11 (for 03/8") (17 slations)} - - ---~-
vv5Q45 | . { silencerbox ] vQ4050
-ooo C kit — Connector Bottom 1/4 VQ4ao51

L]

Note) Manifold for mounting is included. ( ): E type

Control Unit Specifications

Control Unit/Option

Air filter (With auto-drain/With manual drain) \

Air release valve vQ41 g? Y-5 (ﬁ)1 (-Q)

Filtration 5um
Regulator \ Note 2) <Plug-in type>
Set pressure (Outlet pressure) \ 0.05 to 0.85 MPa Air release VVQ4000-24A-1D

Pressure switchNote 1)

Set pressure range: OFF

0.1t0 0.6 MPa

valve spacer <Plug lead type>

VVQ4000-24A-5D

Differential 0.08 MPa or less Pressure switch 1S1000P-2-1
Contact 1a Note 3) | Regulator with filter MP2-3
Light LED (RED) Blanking | Pressure switch MP3-2
Max. switch capacity 2 VA (AC), 2W (DC) plate Release‘ Plug-in | VVQ4000-24A-10
M " i 50 mA at 24 VAC, DC or less valve | Plug lead| VVQ4000-24A-15
lax. operating current 20 mA at 100 VAG, DC Filter
T 7 INA-13-854-12-5B
\ Air release valve (Single only) \ element

Operating pressure range |

0.15t0 1 MPa

How to Order

Kit Note 5)

Air release valve coil rating

Note 1) Rated voltage: 24 VDC to 100 VAC
Internal voltage drop: 4 V

Note 2) Combination of VQ4100 (Single) and
release valve spacer can be used as air
release valve.

Note 3) Plug lead type can not be mounted later.

c UK

cA

[Option]
- Ill—OCE/UKCA-com pliant
g

Option ["a [CE/UKCA-compliant]  For B ony
Symbol Option

Nil None
KNote2) | Special wiring sp ions (Except double wiring)

N Name plate (Applicable to T kit)
SuNoted) | Direct exhaust with silencer box: U side exhaust
W Note 4) IP65 enclosure

Nil Without air release valve Note 1) When multiple symbols are specified, indicate them
: U alphabetically. Example) -KN
Cyllnder port (Only F, G type) Note 2) Specify wiring on the manifold specification sheet.
C6 | 06 One-touch fitting 51 24 VDC Note 3) Mounting on'S and T kits is not possible.
v ™ Note 4) For the types with a pressure switch (AP and MP types),
G5 08 One-touch fitting the pressure switch enclosure is IP40.
C10| 010 One-touch fitting Note 5) The release valve and the pressure switch on S kit are
C12| 212 One-touch fitting connected to another power supply. Cable length is 0.6 m.
02 14 Control unit type
03 38 ) Symbol | i\ A (aP| M |MP| F (G| C | E
B Bottom ported 1/4 Control equipment
cMm Mixed Air filter with auto-drain o e [ ]
N7 | 01/4" One-touch fitting Air filter with manual drain [ 2K ] [ ]
N9 | 05/16" One-touch fitting Regulator 00 000
N11| 03/8" One-touch fitting Air release valve (I I K ) (L]
Pressure switch [ ] [ ]
Thread type ® |Blanking plate (Air release valve) o e
Nil Rc Blanking plate (Filter, Regulator) [ ] N Electrical )
F G Blanking plate (Pressure switch) (] (] [ I K ) ote) Electrical entry:
" 2ol el el el el = Control unit can not
N NPT Necessary number of manifold blocks for s|ls|s|e|le|&|&|s be removed except
T | NPTF_| |mounting (Stations) glglzlzlgla|g|” Land C kits.

468



Manifold with Control unit V4000 Series

Use of Control Unit

<Construction and piping>

1. The supply pressure (Po) passes through the filter regulator (1) and is
adjusted to the prescribed pressure. Next, it goes through the release Ri _ R2
valve (2) (outlet residual pressure switching function used as normally ON) n
and is supplied to the manifold base side (P). }
2. Supply pressure from Po port is blocked when release valve (2) is OFF. i ::é
Air supplied to manifold side P port is exhausted to R1 port through ! VVQ4000
release valve (2). 7 -10A-1
3. Pressure switch is piped at outlet side of release valve (2). (Release valve . A
(2) is operated at energizing.) i é
Also, since there is an internal voltage drop of 4 V, it may not be possible '
to confirm the OFF and ON states with a tester, etc. 6 VQ4401D ﬁ%q T\ l ‘ T ‘ i /T%
! [ oV —
<Wiring> | —8
1. Electrical entry of manifold (except L and C kit) is individual wiring. For 5 VQ430°
details, refer to internal wiring figure of each kit. Cable length is 0.6 m for L !
Kit. i A
I A
! ——)
<Change of pressure switch piping> 4 vas20! ﬂ
1. Pressure switch (3) is changed to piping on inlet side of release valve (2), ! |
remove the pressure switch, reverse the gasket up and down, and fix 3 B A
mark. B
2. When pressure switch is mounted, tightening torque of bolt is 0.8 to 1.2 ? vQ410¢ Zﬁﬂ
N-m. | [ A /—
Gasket Gasket |
2 (3) Pressure &7
i switchu n

1 — 1 T P.
. (2) Release valve ’7’5{ T ‘ _‘r %

) o ——
Outlet side piping Inlet side piping ‘ - "
Stations
(1) Filter
regulator
,,,,,, Pressure switch
B ol T [YT] ------ Release valve
% A1 ; R2 Po P1 Control unit

(Supply port)

Circuit of control unit manifold

Regulator with filter

469



VQ4000 series

Dimensions
—
Plug-in type
163 (3-position) 1/4", 3/8"
C6, C8, C10, C12, N7, N9, N11
Electrical entry from 148.9 (Double) 4(A), 2(B) port 96.2
U side (FU) 139.9 (Single) ' 7.7
49.7
47 106 43.2
16.2
1.7
Manual overrid 8 g 28
Manua’ override, IK 1 External pilot port
| 4l i o
i ) el
I A W
J : G CN
—— oy
BRI s of
jcator I > 5 : P2: 3/8" g
Indicator light ,%m, R S— i 1 5 g ,,,( -
: o o
S\B e Edool 4
Pressure switch = H &) Gl 0|
B> o SR S gL LY
(IS1000P-2) - P 3 - Al S
: : = o ol
Release valve - \‘ﬁ@ = =i 0T 2 j@f j E@} @35
VQ4100- = S SHEL 1 % -
(Vosto0) Pele—al 1 = 5C0-0—-
Stati = 3 g 3
ations 0] o @ N 3
o o ,L H o —
3 f Electrical entry
L] from D side (FD)
Filter regulator H ‘
] ]
AP: Auto-drain (INA-13-854DG Blanking plate %
MP: Manual drain (INA-13-854G] (MP3-1) f Plate assembly -
| (VVQ4000-60A-1) 2|
| | 0
| o
\ ! &
I
P1:1/2"
=106 17 Drain port
6,] AP: 510
T MP: 06
L
= 12"
— H w Supply port: Po
4x1/2" )
5(R1), 3(R2) port B @
i Yane !
o WO Ty &
e A |
i Vet =R
&l oo é‘\ S
s
70 29 2x1/8"
91) 38 PE. port
163
Dimensions Formula: L1 = 25n + 63, L2 = 25n + 76, Ls = 25n + 282 (260.5) _n: Stations
L 0 2 3 4 5 6 7 8 9 10 11 12
L1 113 138 163 188 213 238 263 288 313 338 363
L2 126 151 176 201 226 251 276 301 326 351 376
Ls 332 357 382 407 432 457 482 507 532 557 582
(310.5) | (335.5) | (360.5) | (385.5) | (410.5) | (435.5) | (460.5) | (485.5) | (510.5) | (535.5) | (560.5)

470

# L3 (): Type MP



Manifold with Control unit V4000 Series

Plug lead type

178.5 (3-position) 1/4", 3/8"
C6, C8, C10, C12, N7, N9, N11 96.2
164.4 (Double) 4(A), 2(B) port 717
155.4 (Single) 49.7
43.2
62.5 106 6.2
2x1/8" 1.7
9 9 . —
Ny External pilot port S
‘ =
Indicator light 3
Manual override ! n K E'\ mj
Cable length X‘f,i,jf,ig 7+,, 7 ’E€9’€9?7
- ! o
(600 0r 1500 mm)\, A 4 : Ik
I - 6 oo
e 4 a : _ BN |
: 3 5
—_—— e - I = 5 P2: 3/8" DO -
= : 3 g | o
—_——2 - - T - 4 Elff{}af /3
q : 3 o w©
Release valve =—=">-—- o o 3 k ;E} ’E}E o
(VQ4100-+) 7,7,7,4&@,—“’ =l > @ >
W‘ G ‘ WT Ml 2 é@ g
> Z 1 5
P ; ORTA
Pressure switch | Stations 2 OF ‘ ?3 g |
. A B
(1S1000P-2) = i ==
S|
Filter regulator g
AP: Auto-drain (INA-13-854DG) Plate assembly =
>
MP: Manual drain (INA-13-854G) (VVQ4000-60A-5) =
S
&
P1:1/2" .
=106 17 Drain port
6, AP: 610
T MP: 26
il
] ?2 : W 172"
— @ Supply port: Po
axtz ) [l (o 9
5(R1), 3(R2) port - Ed
\ I @@"’“ u
o
y | 7
% D,
om N o Y pm g
4 2 b
[Tt i
18 N 2x1/8"
18| 29 PE. port
53 38
125
Dimensions Formula: L1 = 25n + 63, L2 = 25n + 76, Ls = 25n + 282 (260.5) n: Stations
L 0 2 3 4 5 6 7 8 9 10 11 12
L1 113 138 163 188 213 238 263 288 313 338 363
L2 126 151 176 201 226 251 276 301 326 351 376
Ls 332 357 382 407 432 457 482 507 532 557 582
(310.5) | (335.5) | (360.5) | (385.5) | (410.5) | (435.5) | (460.5) | (485.5) | (510.5) | (535.5) | (560.5)

# L3 (): Type MP

471



VQ4000 series

Construction

Plug-in Unit
Metal seal type

vQ4100

(A)(B)
42

513
(R1)(P)(R2)

51
(R1)(P)

A) (B]
vaasoo @®

vassoo BB

3
(R2)

VQ4201

e

513
(R1)(P)(R2)

) ST
/ //iﬁ %ﬂ

vaszor @O

513
(R1)(P)(R2)

VQ4401

Zao

1
(R1)(P)

(A)(B)
42

T T

3
(R2)

A) (B
vassor ©®

513 513
(R1)(P)(R2) (R1)(P)(R2)
Component Parts Component Parts
Number Description Material Note Number Description Material Note
1 Body Aluminum die-casted 1 Body Aluminum die-casted
2 | Spool/Sleeve Stainless steel 2 Spool valve Aluminum, HNBR
3 |Piston Resin 3 | Piston Resin

Replacement Parts

Replacement Parts

Pilot valve
assembly

A
v118L1-0-B
E
4 Coil type
[Nl [ _Standard (0.5 W) ]
Low wattage type (0.4 W)

[: Coil rated voltage

Example) 24 VDC: 5
A: With light (For A side)
B: With light (For B side)
E: Without light

(A/B side common)

Pilot valve
assembly

A
Vv11801-0J-B
E
4 Coil type
[Nl | Standard (0.95 W)

[: Coil rated voltage

Example) 24 VDC: 5
A: With light (For A side)
B: With light (For B side)
E: Without light

(A/B side common)

472




Plug Lead Unit
Metal seal type

VQ4150

A)(B]
(4)(2)

VQ4250

(ﬁ) (g)

513
(R1XP)(R2)

513
(R1)(P)(R2)

VQ4450

AT

(ﬁ) (g)

Construction VQ4000 Series

Rubber seal type ©)

© @

vQ4151

(A)(B)
42

VQ4251

VQ4351

(A) (B)
(4)(2)

513
[GDIGGE)
A)(B)
vaasst DO

AT

513 513
(R1)(P)(R2) (R1)(P)(R2)
vaasso QO vaasst @D®
513 513
(R1)(P)(R2) (R1)(P)(R2)
Component Parts Component Parts
Number Description Material Note Number Description Material Note
1 Body Aluminum die-casted 1 Body Aluminum die-casted
2 Spool/Sleeve Stainless steel 2 Spool valve Aluminum, HNBR
3 Piston Resin 3 Piston Resin

Replacement Parts

Replacement Parts

A
Vv11801-0J-B
Pilot valve E
4 Coil type
[CNil | Standard (0.95W)
Low wattage type (0.4W)

assembly

[: Coil rated voltage

Example) 24 VDC: 5
A: With light (For A side)
B: With light (For B side)
E: Without light

(A/B side common)

[: Coil rated voltage

A
V118L1-0-B Example) 24 VDC: 5
4 | Piotvave - E A: With light (For A side)
assembly B: With light (For B side)
Low wattage type (0.4W)

E: Without light
(A/B side common)

473



VQ4000 series
Exploded View of Manifold

D-side end plate assembly

Manifold block assembly

Tie-rod

U-side end plate assembly

Note) The electrical entry cannot be changed.

Example)
5 stations (Odd number)

6 stations (Even number)

474

U side

Tevoenens D Fc T Borenns Beveene Bevvnnee Stations

\ 2 stations \ 2 stations \1 station\

\ 2 stations \ 2 stations \ 2 stations \

Figure shows a plug-in type.




Exploded View of Manifold VQ4000 series

D-Side End Plate Assembly U-Side End Plate Assembly
(D D-side end plate assembly part no. (For F, L, S, T kit) @ U-side end plate assembly part no. (For F, L, S, T kit)
Thread type Thread type
Nil Rc . Nil Rc .
N | NPT _ Option 1 N | NPT _ Option 1
T NPTE Nil Standard T NPTF Nil Standard _
F G cD For exhaust cleaner mounting F G cu For exhaust cleaner mounting
SD Direct exhaust with silencer box su Direct exhaust with silencer box
Electrical entry Electrical entry
L F,L, S, Tkit Option 2 L F L, S, Tkit Option 2
F Note 1) | F kit (Connector location on D side) [ Nil_ [ Standard | FNote 1) | F kit (Connector location on U side) [ Nil_ [ Standard |
C C kit (Plug lead type) \W Note 2'\ IP65 enclosure \ [ C kit (Plug lead type) \W Note 2'\ IP65 enclosure \
Note 1) D-sub connector assembly for D side: Note 2) Drip proof type for F Note 1) D-sub connector assembly for U side: Note 2) Drip proof type for F
VVQ4000-19A-D is not included. kit is not available. VVQ4000-19A-U is not included. kit is not available.
(Order separately) (Order separately)
D-sub connector assembly
D-sub connector assembly VVQ4000 - 1 9A - Q
[ D [Dside entry |
[U U side entry |
Manifold Block Assembly Manifold Block Replacement Parts
(3 Manifold block assembly part no. (Including @, ® and ®) Replacement Parts
VVQ4000 — 1 — — — No. Part no. Description Material Qty
@ VVQ4000-80A-1 Gasket HNBR 10
Type Port thread type ® VVQ4000-80A-2 Gasket HNBR 10
A Fortfsaton | '::' NF;CT ® VVQ4000-80A-4 Clip  [Stainless steel| 10
T | NPTF Note) Spare parts consist of sets containing 10 pes. each.
F G
Option .
Fitting Assembl
tting Assembly
i @ Fitting assembly part no. (For cylinder port)
Electrical entry Port size
F1_| F kit Double wiring 02 |1/4 VVQ4000 - SOB -
F2 | F kit Single wiring 03 |3/8 Port size
T1 | T kit Double wiring B | Bottom ported 1/4 Note 4) C6_| Applicable tubing 06
T2 | T kit Single wiring C6 | With One-touch fitting for 06 C8_| Applicable tubing 08
S1 | S kit Double wiring C8 | With One-touch fitting for 08 C10 | Applicable tubing 910
S2 | S kit Single wiring C10 | With One-touch fitting for 910 C12 | Applicable tubing 012
LOC] | LO kit OJ: Stations (1 to 16) C12 | With One-touch fitting for 912 N7_| Applicable tubing 01/4
L1001 | L1 kit O): Stations (1 to 16) N7 | With One-touch fitting for 01/4 N9 | Applicable tubing 05/16
L20 | L2 kit O: Stations (1 to 16) N9 | With One-touch fitting for 65/16 N11 | Applicable tubing 03/8
C | Ckit (Plug lead type) N11_| With One-touch fitting for 03/8

Note) Purchasing order is

Note 1) Tie-rods (2 pcs.) and lead wire assembly for station addition included. available in units of 10 pieces.

Note 2) Dripproof F kit is not available.

Note 3) When ordering block assembly for L kit 2 stations, the lead wire should Tie-rods part no. (2 pcs.)
be ordered by the smaller numbers of the D side (no. of station).
Note 4) Bottom ported type: For 1-station type only. VVQ4000 - TR -

Stations: 02 to 18

Note) When eliminating manifold stations, order this separately. When
increasing manifold stations, it is not necessary to order since tie-rods
are included in the manifold block assembly.

Housing Assembly and Sl Unit

Kit type Model symbol Part no. Description
0 — Without SI Unit
Q EX1248-SDN1 DeviceNet® (2 power supply systems)
(Seril S, jon uni) R1 EX124§-SCS1 OMRON Corp.: CompoBus/S (16 output points, 2 power supply systems)
R2 EX1248-SCS2 OMRON Corp.: CompoBus/S (8 output points, 2 power supply systems)
\' EX1248-SMJ1 CC-Link (2 power supply systems)
T (Terminal block box kit — VVQ5000-70A-5 (-W) —

475



VQ4000 series

List of Valves, Options, and Mounting Bolts

+ Individual SUP (EXH) (Bottom)

Number q Bolt part no. Qty . . "
o opions Valve and options Proper tightening torque: 0.8 to 1.2 N-m|(ps.) Note Option mounting diagram
= =
. AXT632-17-4
Single valve (M3 x 37) 3 Valve
° S ——
Blanking plate AXT632-38-1 .
(VVQ4000-10A- 1) (M3 x 14) Note 2) 4 | For manifold
Valve + Individual SUP spacer @ AXT632-17-10 (M3 x 62) 3 For manifold
(VVQ4000-P- § -33) (2) AXT632-17-19 (M3 x 26) 2
Valve + Individual EXH spacer © AXT632-17-10 (M3 x 62) 3 For manifold
(VVQ4000-R- § -33) (@ AXT632-17-19 (M3 x 26) 2
Valve + Restrictor spacer (D) AXT632-17-10 (M3 x 62) 3 @ 5
(VVQ4000-20A- § ) (2) AXT632-17-19 (M3 x 26) 2| Notnecessary when mounting the sub-plate. J\Eﬂ - )
Valve + Release valve spacer @ AXT632-17-10 (M3 x 62) 3 | For manifold Valve
(VVQ4000-24A- § D) (2) AXT632-17-19 (M3 x 26) 2 A
o) Spacer
1 Valve + SUP stop valve spacer (1) AXT632-17-10 (M3 x 62) 3 ) PU IO
(VVQ4000-37A- ) (2) AXT632-17-19 (M3 x 26) 2 | Not necassary when mountng the sub-piate.
Valve + Double check spacer with residual pressure exhaust | (D AXT632-17-11 (M3 x 87) 3
(VVQ4000-25A- § ) (2) AXT632-41-1 (M3 x 54)Note ) | 2 | Not necessary when mounfing the sub-plate.
Valve + Interface regulator (D AXT632-17-11 (M3 x 87) 3
(ARBQ4000-00 8- :) (2 AXT632-17-8 (M3 x 52) 2| Not necessary when mounting the sub-plate.
) (D) AXT632-41-4 (M3 x 42) Note2) | 3 =g _a_
Blanking plate + SUP stop valve ’ - 2
For manifold =
(Top) (Bottom) N Spacer =
(2) AXT632-17-19 (M3 x 26) 2
Valve + Individual SUP + Individual EXH (1) AXT632-17-11 (M3 x 87) 3
(Top) (Bottom) — For manifold
(Bottom) (Top) (2 AXT632-17-8 (M3 x 52) 2
Valve + Restrictor + Individual SUP or Individual EXH | (1) AXT632-17-11 (M3 x 87) 3 | For manifold
(Top) (Top) — The individual EXH cannot be
(Bottom) (Bottom) (2) AXT632-17-8 (M3 x 52) 2 | mounted on the top.
Valve + SUP stop valve + Individual SUP, () AXT632-17-11 (M3 x 87) 3 B
(Top) Individual EXH or — For manifold 4)\ 2
Restrictor (Bottom) (2 AXT632-17-8 (M3 x 52) 2 = o
Valve + Double check spacer with + Individual SUP or | (1) AXT632-17-14 (M3 x 112) 3 Valve
residual pressure exhaust  Individual EXH — For manifold
(Top) (Bottom) () AXT632-41-2 (M3 x 78) Note 2) 2 Spacer (Top) =)
2 | Valve + Interface regulator + Individual SUP, Individual EXHor | (1) AXT632-17-14 (M3 x 112) 3 | For manifold Spacer (Bottom) L]
(Top) Restrictor — The individual EXH and restrictor
(Bottom) (2) AXT632-41-2 (M3 x 78) 2 | can be mounted on the top.
Valve + Restrictor + Double check spacer with | (1) AXT632-17-14 (M3 x 112) 3
(Top) residual pressure exhaust — For manifold
(Bottom) (2 AXT632-41-2 (M3 x 78) 2
Valve + Interface regulator+ Double check spacer with | (1) AXT632-17-16 (M3 x 137) 3
(Top) residual pressure exhaust - For manifold
(Bottom) (2 AXT632-41-3 (M3 x 103) 2
o= a0
. (1) AXT632-17-17 (M3 x 66) Note 2) | 3 Blanking plate @
Blanking plate + SUP stop valve + Individual SUP For manifold Spacer (Top) =
(Top) (Bottom) N T
(2) AXT632-17-8 (M3 x 52) 2 Spacer (Bottom)
8]
Valve + SUP stop valve (Top) (1) AXT632-17-14 (M3 x 112) 3
+ Individual SUP (Middle, Bottom) — For manifold
+ Individual EXH (Middle, Bottom) (2) AXT632-17-13 (M3 x 77) 2 )
Valve + Double check spacer with residual pressure | (1) AXT632-17-16 (M3 x 137) 3 O 2
exhaust (Top) + Individual SUP (Middle, Bottom) — For manifold = =
+ Individual EXH (Middle, Bottom) (@ AXT632-41-3 (M3 x 103) Nete2) | 2 Valve
Valve + Spacer (Top): Interface regulator (D) AXT632-17-16 (M3 x 137) 3 | For manifold e
3 Spacer (Middle): “Individual SUP or Individual EXH'Restrictor” —— The individual EXH and restrictor Spacer (Top)
Spacer (Bottom): “Restrictor’Individual SUP or Individual EXH| (2) AXT632-41-3 (M3 x 103) 2| can be mounted on the top. Spacer (Middle) 1|
Valve + Double check spacer with residual pressure | (1) AXT632-17-16 (M3 x 137) 3 Spacer (Bo“om)u
exhaust (Top) + SUP stop valve (Middle) — For manifold oo 5] g
+ Individual SUP (EXH) (Bottom) (2 AXT632-41-3 (M3 x 103) Note2) | 2
Vglve +'Interface regulator (TOP)_+ Double check spacer| (1) AXT632-17-20 (M3 x 162) 3 | For manifold
with residual pressure exhaust (Middle) - . .
(2) AXT632-41-5 (M3 x 128) o |available as special order

Note 1) When the SUP stop valve and individual SUP are mounted, the stop valve is mounted on the top of the individual SUP.
Note 2) Proper tightening torque: 0.5 to 0.7 N-m

476




477

(\)



Base Mounted
Plug-in/Plug Lead: Single Unit

VQ5000 Series C¢€

[Option]
Note) CE/UKCA-compliant:
For DC only.
Model
Flow rate characteristics Response time [ms]
Series | Configuration Model Port T 4/2 (P— A/B) | 4/2— 5/3 (NB— EA/EB) | Standard: | -0V Watiage e
size type: AC [ka]
Com(sbar] | b Cv |Clmi(sbar]| b Cv | 0.95W | oaw

s Single Metal seal VQ5150 12 0.14 | 2.9 14 0.18 | 3.4 35 38 38 0.59 (0.67)

= Rubber seal |VQ5151 16 0.33 | 44 17 031 | 47 40 43 48 0.58 (0.66)

8_ Metal seal VQ5250 12 0.14 | 2.9 14 0.18 | 3.4 20 23 23 0.62 (0.70)

N RIS Rubber seal V052g 1 16 0.33 | 44 17 0.31 | 47 25 28 28 0.60 (0.68)

Closed |Metal seal vas320 11 024 | 2.6 11 023 | 28 50 53 70 0.65 (0.73)

VQ5000 center Rubber seal | VQ5321 12 12 0.33 | 34 13 0.37 | 3.7 60 63 63 0.58 (0.66)
| Exhaust |Metal seal vVQ5420 12 013 ] 29 14 |o018] 34 50 53 70 | 0.65(0.73)

:% center Rubber seal | VQ5451 14 0.39 | 3.9 16 035 | 45 60 63 63 0.58 (0.66)

8| Pressure |Metal seal VQ5530 12 023 | 29 13 024 | 33 50 53 70 0.65 (0.73)

@ center Rubber seal VQ55g 1 13 0.32 | 34 14 0.40 | 3.9 60 63 63 0.58 (0.66)

Double  |Metal seal vQ5620 80 | — | — 85 | — | — 62 65 65 | 1.17(1.25)

check  |Rubber seal |VQ5621 83| — | — 90 | — | — 75 78 78 | 1.10(1.18)

Note1) Value for valve on sub-plate. Note 2) Cylinder port 1/2: Value for valve on sub-plate.

Note 3)Based on JIS B 8419: 2010. (Supply pressure: 0.5 MPa, with indicator light and surge voltage suppressor, clean air.
This will change depending on pressure and air quality.) The value when ON for the double type.

Note 4) Values inside ( ) indicate the weight of plug lead units.
Table: Without sub-plate, With sub-plate; Add 0.65 kg for plug-in type, 0.55 kg for plug lead type.

Standard Specifications

Valve construction Metal seal Rubber seal
Fluid Air
2 Max. operating pressure 1.0 MPa
% i Single 0.10 MPa 0.20 MPa
g | Min-op Double 0.10 MPa 0.15 MPa
= pressure —
I3 3-position 0.15 MPa 0.20 MPa
& Ambient and fluid temperature —10 to 50°C Note 1)
g Lubrication Not required
S Manual override Push type/Locking type (Tool required)
Plug lead unit Impact/Vibration resistance 150/30 m/s2 Note 2)
Encl e Dust-tight (IP65 compatible) Note 3)
Symbol » | Coil rated voltage 12, 24 VDC, 100, 110, 200, 220 VAC (50/60 Hz)
c -
2-position single 3-position closed center S Allowable voltage fluctuation +10% of rated voltage
s
(/:)(g) 3 Coil insulation type Class B or equivalent
S| Power ion | e Standard 0.95
qg’- w] Low wattage type 0.4
513 513 w 100V 1.19
(R1)(P)(R2) (R1)(P)(R2) ° A 10V 132
2-position double (Metal)  3-position exhaust center £ pparent AC :
(A)(B) (A)(B) k] power [VA] 200V 1.90
4 i w 220V 2.08
Note 1) Use dry air to prevent condensation when operating at low temperatures.
51 Note 2) Impact resistance: No malfunction occurred when it is tested with a drop tester in the axial direction
B (R1)(P)R2) . (RI(P)(R2) and at the right angles to the main valve and armature in both energized and de-
2-position double (Rubber) 3-position pressure center energized states every once for each condition. (Values at the initial period)

(‘})(B) A E) Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz. Test was
performed at both energized and de-energized states in the axial direction and at
the right angles to the main valve and armature. (Values at the initial period)

Note 3) Available only with T, L, S and C.

513 513

(R1)(P)(R2) (R1)(P)(R2)

3-position double check
(A) (B)

513
(R1)(P)(R2)

478



How to Order Valves (Single Unit)

Plug-in/Plug Lead: Single Unit

VQ5000 series

C UK

cA

Body

0: Plug-in
sub-plate

T o

[Option]
Port size
Nil Without sul_)-plate
(For manifold)
04 12
Thread type
Enclosure Nil Re
Nil Dust-protected E G
= Dusttight/ : NN:TTF
Water-jet-proof (IP65)

-
|

1_ —_—
1_ —_—

5]G]

. Porting .
Type of actuation specifications CE/UKCA-compliant
2- position single 3-position closed center [ Nil_] Side ported m
(A)(B) n n CE/UKCA-compliant
g 9 Note) CE/UKCA-compliant:
For DC only.
NN Manual override
(R1 P R2 (R1(PYR2) Nil: Non-locking B: Locking type | C: Locking type
2-position double 3-position exhaust center push type (Toa‘ required) (Manual)
L] (ﬁ) (2) (Tool required) (&) '
g 4 (&)
Q
= Ny >
513 513
2 (R1)(P)(R2) (R1)P)R2)
2-position double 3-position pressure center
(A)(B) (A)(B]
5 ( 4)( ) ( 4)( )
8
= d@m Light/Surge voltage suppressor
H15 119 aﬂz Fns |1: 3Rz [ Yes
( - JP)R2) - ( JP)R2) ‘ E ‘ Without light, with surge voltage suppressor ‘
Note) For details about 3-position double check
double check type, (A)(B) R
refer to page 510. 4 ——— e Electrical entry
A G
(ms(; )(aﬂz) Coil voltage
) 1 | 100 VAC (50/60 Hz) 5, Leag aire
Body 2 | 200 VAC (50/60 Hz) £ |length 0.6m
5+ Piug load 3 | 110 VAC (50/60 Hz) g
: Plug lea H
Subsplate 4 | 220 VAC (50/60 Hz)
5 24 VDC Lead wire
6 12VDC length 1.5 m
Function
Seal NiINN:"ez;) Standard (0.95 W)
ot
[0 T Wetalseal | R | e b (AT
(1| Rubber seal | oo
Note 1) When the unit is energized continuously,

How to Order Sub-plates

VQ5000 -

Electrical entr i
n Plug-in conduit terminal
B Plug lead
re

Enclosu

Nil_|

Dust-protected

‘WN"'E" Dust-tight/Water-jet-proof ‘

Note) Not required for plug lead type.

04| |-

Thread type
Rc
F G
N | NPT
T | NPTF

Porting specifications

Side ported

[Nt ]
[ [ Bottomported |

refer to "Specific Product Precautions 1"
on page 519

Note 2) In addition, only DC is available with Y.

Note 3) For details about external pilot
specifications, refer to page 513.

Note 4) When multiple symbols are specified,
indicate them alphabetically.

UK
CA

[Option]

CE/UKCA-compliant

L ——
@ [CEUKGA-compian

E Replacement of pilot valve assembly

Port size | (Voltage)
[0a | 12 ] - Refer to pages 514 and 515 for pilot valve

Note) For bottom ported,

+ assembly part numbers.
port size is 1/2. :

- Refer to page 520 for replacement method.



VQ5000 series

Dimensions: Plug-in Type

Conduit terminal

2-position single: VQ5109
2

195
121.8 73.2 2 195
105.8 59.5 732
4(A) port 17.5 13.5 2(B) port 59.5
10.0]_M5x 0.8 Ground screw || 3/8" 27.5 | 275
) ‘ 5(R1), 3(R2) port
Indicator light lg—3 vy C@ = lg=3 T v $%
B o : — B eEs
e —ef— 2|83 - 2 ST Mol gl
Ie! L o - <F>i€\;‘ H 91
’%: o wWe g B 2] q—— LA ]
. 35 53 2x06.5 17.5 13.5
Manual override Mounting hole 5 53
Bottom ported drawing 1/2"
) ) 1(P), 4(A), 2(B) port
=2 =) H
3| 8
‘ =S
|
©| o
a1z ] x P i 3|g
Electrical entry }} T o J S
| e ERR =yo
3 f 2l5 o §
1/8" ‘ 275 | 275 ‘ 1/g"
PE. port 41 4 External pilot port
1(P), 4(A), 2(B), 5(R1), 3(R2) port
2-position double: VQ5209 3-position double check: VQ560
3-position closed center: VQ5309
3-position exhaust center: VQ540
3-position pressure center:VQ5509
Indicator light : !
195 (200.3) Indicator light
121.8 73.2 (78.5) 2 2135
105.8 59.5 / 1211623 = 31-7
4 (A) port 17.5 13.5 2(B) port @A po'rt)17.5 135 ('B ool
) e
§ =
S QB8 & i -—& <88
[ d —— o |4
4 a me 0 moeg—!
2 %065 35 53 2 x06.5
- Manual Mounting hole
Manual override Mounting hole override,
G1/2 b ¥ = =
Electrical entry - fH ] -H %
iR G1/2
—| o ¥
3 =]5 it &
1/8" 1/8" : & e
PE. port External pilot port }) @ :ﬂ o of
o b s pafrst
G @ Q 1\ i‘Et"’I"’
1(P), 4(A), 2(B), 5(R1), |27.5]275]
3(R2) port a4 18"

Numbers inside () are for metal seal 3-position type.

480

12"

External pilot port

1(P), 4(A), 2(B), 5(R1),

3(R2) port



Dimensions: Plug Lead Type

Grommet

2-position single: VQ5153-05

,
Plug-in/Plug Lead: Single Umt V5000 Series

194.5
73.2 194.5
53 59.5 73.2
4(A) port 17.5 13.52 (B) port 59.5
10.0|_M5 x 0.8 Ground screw 3/8" 27.5 | 27.5

‘ 5(R1), 3(R2) port

Indicator light

o

66

& S AT
Al LR D%’@w ZER
] ©

53

& =)
= <

g@ 1]

o)
2

|| O]

35 53 2x06.5 175 ‘ ‘ 13.5

Manual override

Mounting hole 35 53

/ﬁ} é N
=r—) e 25|
2 ® Ei = °
1/8" |275 | 275 | 1/8"
PE. port 41 41 External pilot port

2-position double: VQ525-01§
3-position closed center: VQ5359-015
3-position exhaust center: VQ5453-01

12"
1(P), 4(A), 2(B), 5(R1), 3(R2) port

3-position double check: VQ5653-015

G
H

3-position pressure center: VQ5553-015

194.5 (199.8)

Indicator light

73.2 (78.5) 213
! 53 59.5 91.7
4(A) port 17.5 13.5 2(B) port \ 53 59.5
‘ ‘ 4(A) port 17.5 13.5.2(8) port
Indicator light
¢ Ca: i 5 ! é =
U | O B - q
t"’ o _ = ol o ® o> = [ & Q1Y
o e ST ¥ 9 © ® | 0|
B e (o]
@%m [ El gﬁ&‘ Manual | B ) S—
override 35 53 | \2x065
Manual LL#—J 2x 06.'5 Mounting hole
override Mounting hole )
— =) f T
=) ‘ o q
il 2
‘ B R o
2 = e
) o= il f
i 0 =3 [}
& P! + oy ISR ;}EI { [l
F QR S
: pysiiol
s L275 | 275 | 108" Bt
PE. port 41 41 External pilot port 1/8" 275]275 1/8"
PE. port 41 41 External pilot port
172" "
1(P), 4(A), 2(B), 2
1(P), 4(A), 2(B),

Numbers inside () are for metal seal 3-position type.

5(R1). 3(R2) port 5(R1), 3(R2) port

481



Plug-in Unit cA

[Option]

I .
VQ5000 series -

: LAl
How to Order Manifold ﬁm ° e, 2
T8 e 2~
s
vvsQ 5 1 -[08]03] ][ Fu1 |- —D -
CE/UKCA-compliant
Series N ——
[5 T vasooo | option Q| CEURGA-compiant]
Symbol Option
Nil None
Manifold Thread type CD1 Note2) Exhaust cleaner for Rc 1: D side exhaust
‘ 1 ‘ Plug-in unit ‘ Nil Rc CD2Note2)|  Exhaust cleaner for Rc 1 1/2: D side exhaust
F G CU1Nete2)  Exhaust cleaner for Re 1: U side exhaust
N NPT CU2Nete2)|  Exhaust cleaner for Re 1 1/2: U side exhaust
Station T NPTF K Note 4) | Special wiring specifications (Except double wiring)
01 1 station N Name plate (T kit only)
. . SB Note 3) | Direct exhaust with silencer box: Exhaust from both D and U sides
o . SD Nete2) | Direct exhaust with silencer box: D side exhaust
Minimum number of SU Note 2) | Direct exhaust with silencer box: U side exhaust
stat\o_ns depends on w IP65 enclosure (Except F and T1 kits)
zr;{igir.to the table Note 1) When multiple symbols are specified, indicate them by letter in the order that
below.) they appear in the table, starting_ from the top. Example) -CU1K )
Note 2) Combination of [C8]] and [S] is not possible. Also, exhaust cleaner is not
attached. Please order it separately.
P Note 3) Available only with F, L and T1 kits.
5 Cy::;:der port Note 4; Specify the wi)lfing specifications on the manifold specification sheet. (Except L kit)
04 2 Kit/Electrical entry/Cable length
B Bottom ported 1/2 Kit (Lead wire cable)
cM Mixed Note) L )

Note) In case of mixed specification,
indicate on the manifold
specification sheet.

External pilot
Indicator light supply port

Connector entry direction
Type of D side U side Connector entry direction
connection FDO FUO | Without cable Dside | Uside IP65 compatible
FD1 FU1 Cablelength1.5m  |1t012| LDO LU0 Cable length 0.6 m 1012
FD2 FU2 Cable length 3 m stations|  LD1 LU1 Cablelength 1.5m |\l
FD3 FU3 Cable length 5 m LD2 LU2 Cable length 3 m
T Kit (Terminal block box kit) Kit (Serial transmission unit)

Note) Figure shows VV5Q51-0504FDO.

S, T kit
When mounting a terminal block box or serial unit, be

B = i The valve voltage is
aware that they take up 2 stations of the manifold. In o nToum 9 posw ion IP65 compatible 24 \{DC anq itis
the drawing below, you can see that of the 8 manifold D side [ U side equipped with
stations, 6 stations are available to be used for built- TD TU_| Terminal block box 210 12 stations Nete light/surge voltage
in valves, options, etc. Kit suppressor.
VV5Q51-0704TU ! .. . .
f Fr o T RE T ﬁﬂ 3 (Individual terminal block kit) IP65 compatible
Unit mountin
L P position g
AR AR AR AR K I D side U side
°D.DDOLDOLD° SDO | SUO |without SI Unit g
SDQ | SUQ |DeviceNet® 2
S
SDR1|SUR1 |OMRON Corp.: CompoBus/S (16 output points) | ‘%
@
Note) For the T kit and S kit, one station is required to SDR2|SUR2|0MRON Corp.: CompoBus/S (8 output points) | &
mount the terminal block box or SI Unit, so the £
minimum number of stations is 2 stations. T1Kit_| With terminal blocks [11012stations | SPV | SUV |CC-LINK System ~

482



B pug-in unit. VQ5000 Series

Manifold Specifications

Porting specifications Ve
9 . A B Applicable | Weight [kg]
Series Base model Type of connection 4(A), 2(B) Port size applicable
ort o valve (Formula)
location | 1(P), 5(R1), 3(R2) 4(A), 2(B)
N F, L kit:
B F kit-D-sub connector 8 F. L, T1 kits 062n+1.4
W T kit-Terminal block box Side o s 12 stations STki:
B T1 kit-Individual terminal  Option T kit VQ5000 | 062(n-1)+26
USCOOR) VVSQS51-00 block kit Direct exhaust 12 stations | VQ5001 o)
W L kit-Lead wire siler:,gg: box S kit « Not including
M S kit-Serial transmission Bottom 1”2 12 stations valve weight.
n: Stations
Flow Rate Characteristics at the Number of Manifold Stations (Operated individually)
Model Passage/Stations Station 1 Station 5 Station 10
C [dm3/(s-bar)] 11 11 1
1—4/2 (P — A/B) b 0.24 0.24 0.24
2-position metal seal Cv 27 27 27
; . X .
vas;00 C [dm¥(s-ban)] 12 12 2
4/2 — 5/3 (/B — EA/EB) b 0.14 0.14 0.14
Cv 2.9 2.9 2.9
C [dm3/(s-bar)] 12 12 12
1 4/2 (P — AB) b 0.33 0.33 0.33
2-position rubber seal Cv 3.4 34 34
vas;01 C [dm3/(s-bar)] 16 16 16
4/2 — 5/3 (A/B — EA/EB) b 0.33 0.33 0.33
Cv 4.4 4.4 4.4
Note) For port size 1/2
Manifold Options
Blanking plate assembly Individual SUP spacer Individual EXH spacer EXH block plate
VVQ5000-10A-1 VVQ5000-P-1-33 VVQ5000-R-1-33 VVQ5000-16A-2 (1 pc./set)

(Order q'ty: 2 pcs.)

Restrictor spacer SUP stop valve spacer SUP block plate Double check spacer with
VVQ5000-20A-1 VVQ5000-37A-1 VVQ5000-16A-1 residual pressure exhaust

- VVQ5000-25A-1
‘l‘;’? )

Release valve spacer: Direct exhaust with Manifold mounted exhaust | Interface regulator
For D side mounting silencer box cleaner (P, A, B port regulation)
‘ ARBQ5000-00-§-1
e

1 * Refer to pages 508 to 512 for detailed dimensions of each option.
E * For replacement parts, refer to page 517.

483



VQ5000 series

Kit (D-sub connector kit)

« Simplification and labor savings for wiring work can be

achieved by using a D-sub connector for the electrical Manifold Speclflcatlons

connection. Porting specifications X
* Using connector for flat ribbon cable (25P) conforming to MIL Series 4(A), E(B) o e Ag'l;'tlicoib;e
y pol
st_andard _perr_nlts the use 01: f:onnectors put on the market and location | 1(P), 5(R1), 3(R2) | 4(A), 2(B)
gives a wide interchangeability. 38
* Connector entry can be selected on either the U side or the D Side
A - N N N 12 i
side according to the mounting orientation. VQs000 3/4 Max. 12 stations
« Maximum stations are 12. Bottom 12
D-Sub Connector Kit (25 pins) Cable assembly @
015
AXT100-DS25- 030 D-sub Connector Cable
050 Assembly Terminal No.
D-sub connector cable assemblies can be ordered with manifolds. Terminal no. |Lead wire color| Dot marking
Refer to How to Order Manifold. 1 Black None
2 Brown None
D-sub Connector Cable Electric 3 Red None
Multi-core vinyl cable  Assembly Characteristics 4 Orange None
j/0.3 mm? x 25 cores | Cable A o 3 - Item Characterist 5 Yellow None
ssembly part no. ote ;
length [L] s Conductor resistance| oo o 6 Pink None
. Approx. o10 15m | AXT100-DS25015 | Cable Uk, 20°C 7 Blue None
3m | AXT100-DS25-030 | 0.3 mm2 Voltage imit 1000 8 Purple White
5m AXT100-DS25-050 | X 25 cores VAC, 1 min. 9 Gray Black
- -
+ For other commercial connectors, use a 25- Insulation resistance 10 White Black
< pin type female connector conforming to MQkm, 20°C §ormore " White Red
3
lsmc| MIL-C-24308. ) 12 Yellow Red
« Cannot be used for transfer wiring. Note) The minimum 13 ° Red
of |1 ! bending radius for range e
e | D-sub connector 14 Yellow Black
55 2xM2.6x045 Connector Manufacturers Example cables is 20 mm. 15 Pink Black
« Fuiji imi 16 Bl Whit
140 Socket side  * Fuiitsu, Limited = uel N te
« Japan Aviation Electronics Industry, Limited 17 urple one
© «J.S.T. Mfg. Co., Ltd. 18 Gray None
« HIROSE ELECTRIC CO., LTD. 19 Orange Black
13 v 20 Red White
4704 N\Teminal no. 21 Brown | White
22 Pink Red
23 Gray Red
24 Black White
Note) Lengths other than the above are also available. Please contact SMC for details. 25 White None
How to Order Manifold [Option]
CE/UKCA-compliant
Series Nil
(5 | vasooo [_Q | CE/UKCA-compliant
Manifold Thread type Option
—— Nil Re Symbol Option
[T Plaginuni | Fl 6 mt Jotor
N NPT CD1 Exhaust cleaner for Rc 1: D side exhaust
Stations e T NPTF CD2 Exhaust cleaner for Rc 1 1/2: D side exhaust
0.1 1 sténon Connector entry gﬂ; - ixhausllcleanefr fo'; R:: 1;93|d2exha}1usl
: : Cylinder port direction x| 'aust‘f:eaner”or .c 2: U side exl a}fst
12 |12 stations n KNote3) | Special wiring specifications (Except double wiring)
03 38 n SB Direct exhaust with silencer box: For mounting on both D and U sides
o4 12 v SD | Direct exhaust with silencer box: D side exhaust
CBM BonornMpor;ed 112 Cable (Length) su Direct exhaust with silencer box: U side exhaust
e Without cable Note 1) When multiple symbols are specified, indicate

them alphabetically. Example) -CD1K.

Caz:e :engt: 15m Note 2) Combination of [CC]] and [S] is not possible.
Cable length 3 m Note 3) Specify the wiring specifications on the manifold
Cable length 5 m specification sheet.

w(v|=|o

484



B pug-in unit. VQ5000 Series

@ Electrical wiring specifications

D-sub connector

1“0
150
0
70
]
0
200
210
20
230
20

20

Stations are counted starting from the
first station on the D side.

Connector terminal no.

Double wiring (connected to
SOL. A and SOL. B) is adopted
for the internal wiring of each
station, regardless of valve and
option types.

Mixed single and double wiring
is available as a semi-standard
specification. For details, refer
to below.

Standard wiring D-sub connector assembly
(AXT100-DS25- ggs) Wire colors
Terminal no. Polarity ~ Lead wire Dot

color  marking

) SOLA 1 ) ) Black None
1 station { SOLB ., “) +) Yellow Black

! | ~~SOLA ) (+)  Brown None
2 stations { SOL.B 15 “) +) Pink Black
! SOL.A ) (+) Red None
3 stations { SoL.B 16 “) (+) Blue White
‘ soLA -, o) (+)  Orange None

4 stations { SoLB . ) (+) Purple None
‘ SOLA o ) () Yellow None

5 stations { SOL.B 18 ) (+) Gray None
! | ~~~SOLA o ) +) Pink None
6 stations { | ~~~SOLB .o =) (+)  Orange Black
! SOLA 7 ) (+) Blue None
7 stations { SOL.B 20 =) (+) Red White
! SOLA | o ) (+) Purple White
8 stations { SOL.B 21 ) (+) Brown White
. SOLA o ) (+) Gray Black

9 stations { SoLB ., =) ) Pink Red
! SOLA 10 “) (+) White Black

10 stations { soLs . O @ Gay  Red

‘ SOLA ., [ ) White Red
11 stations { soLs O ) Bk  Whie

‘ SOLA _1» [ +)  Yellow Red

12 stations { soLs . © ) Whte  None

L cOM ., (+) () Note) Orange Red

Positive Negative
common  common
specifications  specifications

\ Special Wiring Specifications

Double wiring (connected to SOL. A and SOL. B) is used for the internal wiring of
each station regardless of valve and option types.
Mixed single and double wiring is available as a semi-standard specification.
1. How to Order
Indicate option symbol “-K” in the manifold part number and be sure to specify
station positions for single or double wiring on the manifold specification sheet.

How to Order Valves

l___|_

vogmo

Type of actuation )

iManual override

2. Wiring specifications
Connections begin with the A side solenoid of the
first station being connected to terminal no. 1, and
continue in the order indicated by the arrows in the
drawing without skipping any terminals.
However, the maximum number of stations is 12.

c UK

cA

[Option]

D-sub connector

How to Order Manifold Assembly

Specify the part numbers for valves and options
together beneath the manifold base part number.

<Example>

Non-locking push type (Tool required)

D-sub connector kit with cable (3 m)

Locking type (Tool required)

VV5Q51-0503FD2(-Q)--1 set—Manifold base part no.

2-position single Nil
2-position double B
3-position closed center C

Locking type (Manual)

#\/Q5100-51(-Q)-----2 sets—Valve part no. (Stations 1 and 2)

3-position pressure center

Light/Surge voltage suppressor

«VQ5200-51(-Q) sets—Valve part no. (Stations 3 and 4)
#VQ5300-51(-Q)------1 set—Valve part no. (Station 5)

1
2
3
4 | 3-position exhaust center
5
6

[ Nil_ ]

3-position double check

‘ E ‘Wilhoull\ght‘ with surge voltage

Yes |
|

Seal Coil voltage
Series 0 Metal seal 1 | 100 VAC (50/60 Hz) Enter in order starting from the first station
['5 [ vasooo | ‘ 1 ‘ Rubber seal ‘ . on the D side. When entry of part numbers
2_| 200 VAC (50/60 Hz) CEIUKCA-compllant becomes co.mplicaled indicate in the
Function 3 | 110VAC(50/60Hz) | ['Nit [ — ] manifold specification sheet.
Nil Note 1) Standard (0.95 W) 4 | 220 VAC (50/60 Hz) n CE/UKCA-compliant
Y Note2) || ow wattage type (0.4 W) S 24 VDC Note) CE/UKCA-compliant:
R Note 3) External pilot 6 12VDbC For DC only.

Note 1) When the unit is energized continuously, refer to “Specific Product Precautions 1” on page 519.

Note 2) In addition, only DC is available with Y.
Note 3) For details about external pilot specifications, refer to page 513.
Note 4) When multiple symbols are specified, indicate them i

Prefix the asterisk to the part
nos. of the valve etc.

485



VQ5000 series

E Kit (D-sub connector kit)

Applicable connector: D-sub connector (25P)

(Conforming to MIL-C-24308)
107.8

For U side mounting (FU)

83

36

]
=

%

Indicator light

Manual override

® ® '
|
==
ﬁ!ﬁ b
179
61 106
9, 9. |
[ ]
kil
® | ©
R [——
I
\ = y
-l

1]

1

[D side |

o
= ;
M
3|3 }S @_@__@_@_

SmruE=
— ‘
=kt

i 2 o2
> e[ 1 g

L1
. a o |4

With connector on D side (FD)

486

179 (Single, Double, 3-position, Rubber seal type)

184.5 (3-position, Metal seal type)

6 x 3/4"
1(P), 5(R1), 3(R2) port

83.5
56.5M5x0.8

Ground screw

n
<
n el
3/8", 1/2"
4(A), 2(B) port
6 L
5
5]
&l
4 .
3 anWa
2 W
=] 5]
1 an e
& 2 &
0
& 00|
Stations 0] 2 ©|
]
3
15.5
17
22
P
51
2x18" 69
External pilot port 117



B pug-in unit. VQ5000 Series

Bottom ported drawing
With connector on U side (FU)

106 X 61
83.5
55.5M5x0.8 9 9
Ground screw 12"
) o 4(A), 2(B) port 1. .
I < L
™
A n
ENA
\Y
a L 6 A D ml.
=]
- (a 5 Y Jan ol -
8]
& &)
(] ® E] !
B (O ‘ Ne— HD)<—p-
(3 & ol
] ® T . !
e (@ s Ne 1 D)<—p-
(3 i
©
- 2 D (De—p—
& - N\ N
p. I
® o
1 L1 ol -
] J K 8]
&
o
s
Stations J
SER
fill S
2x1/8" [ \
External pilot port 155 58 91.8
22 \
51 179
69
117
With connector on D side (FD)

Dimensions Formula: L1 = 41n + 76, L2 = 41n + 96 n: Stations (Maximum 12 stations)
L n1 2 3 4 5 6 7 8 9 10 | 11 12
L1 117 | 158 | 199 | 240 | 281 | 322 | 363 | 404 | 445 | 486 | 527 | 568
L2 137 | 178 | 219 | 260 | 301 | 342 | 383 | 424 | 465 | 506 | 547 | 588

487



VQ5000 series
Kit (Terminal block box kit)

* Enclosure IP65 compliant

* This type has a small terminal block inside a junction box.
The provision of a G3/4 electrical entry allows connection of
conduit fittings.

* Maximum stations are 11. (12 stations as a semi-standard
specification)

* 1 station is used for terminal block box mounting.

Terminal Block Connections

Step 1. How to remove terminal block cover
Loosen the 4 mounting screws (M4) and open the
terminal block cover.

[

Mounting screw Terminal block cover

(M4)

Gasket

Step 3. How to attach the terminal block cover

Securely tighten the screws with the torque

shown in the table below, after confirming

that the gasket is installed correctly.

Proper tightening torque [N-m]
07t01.2

How to Order Manifold

IP65 compliant

Manifold Specifications

Porting specifications )
Series 4(A), 2(B) Port size apoicaie
port stations
location | 1(P), 5(R1), 3(R2) |4(A), 2(B)

. 3/8

Side Max. 12
12

VQ5000 3/4 stations
Bottom 1/2

Step 2. The diagram on the right shows the terminal block

Electrical entry

wiring. All stations are provided with double wiring
regardless of the valves which are mounted.
Connect each wire to the power supply side, according
to the markings provided inside the terminal block.

M3 screw

2x G3/4

* Applicable terminal: 1.25-3S, 1.25Y-3, 1.25Y-3N, 1.25Y-3.5
* Name plate: VVQ5000-N-T
 Dripproof plug assembly (for G3/4): AXT100-BO6A

UK
cA

[Option]

C

vvsa 5 1-[08][03] | T

. CE/UKCA-compliant
Series T
[(s T vaso00 | Q | CE/UKCA-compiiant
Manifold Option
Plug-in unit i Symbol Option
Box mounting Nil None
Stations position CD12)|  Exhaust cleaner for Rc 1: D side exhaust
02 Py ) l [ D [D side mounting] [cD2Ne2)] Exhaust cleaner for Rc 1 1/2: D side exhaust
: S a: ons Cylinder port [ U [U side mounting| [cu1Ne2|  Exhaust cleaner for Rc 1: U side exhaust
= 12 stations 03 3/8 CU2Note2)]  Exhaust cleaner for Rc 1 1/2: U side exhaust
— 04 1/2 Thread type K Note 3) | Special wiring (Except double wiring, 12 stations)
Note) One station is used for B Bottom ported 1/2 i e N Name plate
mounting the terminal M Mixed L NEEE| o —— —
block box. The number of X F G SD N“‘E 2) D!rect exhaust w!ih s!lencer box: D s!de exhaust
stations is the number of N NPT SU Note 2) | Direct exhaust with silencer box: U side exhaust
manifold valves plus one T NPTF w IP65 enclosure

station for the terminal
block box. For 12
stations, specify the
wiring specifications by
means of the manifold
specification sheet.

488

Note 1) When multiple symbols are specified, indicate them
alphabetically.
Example) -CD1K

Note 2) Combination of [CB O] and [SB] is not possible.

Note 3) Specify the wiring specifications on the manifold
specification sheet.



B pug-in unit. VQ5000 Series

2 x G3/4
Electrical entry

Stations are counted starting from the
first station on the D side.

1 station

2 stations

3 stations

4 stations

5 stations

6 stations

!

7 stations
Double wiring (connected to SOL.
A and SOL. B) is adopted for the
internal wiring of each station,
regardless of valve and option
types.
Mixed single and double wiring is
available as a semi-standard
specification.

8 stations

9 stations

10 stations

{
{
{
{
{
{
{
{
{
{

Standard viring | Special Wiring Specifications
Terminal no. Polarity Double wiring (connected to SOL. A and SOL. B) is
SOLA used for the internal wiring of each station regardless
— 220 o1A [ G of valve and option types. The optional specification
| ~~SOLB g (S G] permits mixture of single and double wiring. However,
| ~~~~SOLA op (R the maximum number of stations is 12.
| ~~SOLB ,5p [ ] 1. How to Order
| ~~~~SOLA 35 (R Indicate option symbol (“—K”) in the manifold part
~~~~SOLB 03B ) ) number and be sure to specify station positions for
SOL.A (4 @ W single or double wiring on the manifold specification
SOLB 45 [N sheet.
~~~~SOL.A 5A © ) 2. Wiring specifications
~~~~SOL.B 5B © ) Connections begin with the A side solenoid of the
SOLA first station being connected to terminal no. 1, and
SOLB 06A 60 ® continue in the order indicated by the arrows in the
—NW\EOGB [ drawing without skipping any terminals.
228 574 =) +)
| ~~SOLB 75 (e 5
| ~~nSOLA ga [CEe) —F
| ~~~SOLB gp [ @ S
Sl
| ~~~~SOL.A jgp G >
SOL.B ~ B,
9B 608 (SR 55 [k
SOL.A B
2R G10A [CENC Bla 1]
SOLB o 5B Sl
-~~~ SOL-B 10 @ @ HslE [glﬁ
L SOLAccom (1 ) o
Positive Negative Eg <§
common common g T a@

(e}

UK
cA

C

How to Order Valves [Option] How to Order Manifold Assembly
Specify the part numbers for valves and options
VQ 5 m 0 —_— 5 1 — together beneath the manifold base part number.
T <Example>
Type of actuation ¢ CE/UKCA-compliant ~ Terminal block box kit
1 2-position single [Nl]  — ] VV5Q51-0603TU(-Q)--1 set—Manifold base part no.
2 [ 2-position double | Q [CE/UKGA-compliant| ~ *VQ5100-51(-Q)--2 sets—Valve part o, (Stations 1 and 2
3 | 3-position closed center Note) CE/UKCA-compliant: xVQ5200-51(-Q)-----2 sets—Valve part no. (Stations 3 and 4)
4 | 3-position exhaust center Enclosure For DC only. 1 set—Valve part no. (Station 5)
5 | 3-position pressure center [N ] Dust-protected | . .
6 | 3-position double check [ W |Dust-ight/ Water-jet-proof (IP65)| P'ef'xf‘h: as‘f”Sk to the part
nos. of the valve etc.
. Seal Manual override
Series (] Metal seal Nil_| Non-locking push type (Tool required) Enter in order starting from the first station
[ 5 Tvas000 | | 1 | Rubberseal | B | Locking type (Tool required) on the D side. When entry of part numbers
. - becomes complicated, indicate in the
o0 Function G Locking type (Manual) manifold specification sheet.
I Note .
il Standard (0.95 W) Light/Surge voltage suppressor
YNote2) | | ow wattage type (0.4 W) ‘ Nil Yos ‘
R Note 3) External pilot

Note 1) When the unit is energized continuously, refer to
“Specific Product Precautions 1” on page 519.

Note 2) In addition, only DC is available with Y.

Note 3) For details about external pilot i ions,

‘ E ‘W\thoul light, with surge voltage suppressor‘

Coil voltage

100 VAC (50/60 Hz)

refer to page 513.
Note 4) When multiple symbols are specified, indicate
them alphabetically.

200 VAC (50/60 Hz)

110 VAC (50/60 Hz)

220 VAC (50/60 Hz)

24VDC

1
2
3
4
5
6

12VDC

489



VQ5000 series
Kit (Terminal block box kit)

107.8

29.5 | 29.5 2x1/8"
‘ PE. port
AT
<:L@:pl: —IN
. 0
mE S
@ Z;@m @
i T
6 x 3/4"

1(P), 5(R1), 3(R2) port

]

2 x G3/4
Conduit port
1445 3/8" Note)
179 ! 143
61 106 125
83.5
= o, 555M5% 08,
Ground screw
[l | o
® 3| e
n 71 e
3/8", 1/2"
S| Jaa), 2(8) port
@ ‘ 6
: :
R
Indicator light - - 5 *f{% —
\\SI
> - . 4 .
il —
Manual override S o @—@—
E L= 3 ,
i
[E]
S~ 2 Fan W an
d B —
¥ =% 5]
[E]
o
Q © | f
)
Q 5] 1)
2] LA |
Stations 0 % ©
ST AT :
L i
179 (Single, Double, 3-position, Rubber seal type) <1_7.
184.5 (3-position, Metal seal type) 22
51
69
2x1/8" 117

490

External pilot port

Note) 4(A) and 2(B) port at the bottom of the terminal block box are 3/8".



B pug-in unit. VQ5000 Series

Bottom ported drawing

2 x G3/4
Conduit port
s
4(A), 2(B) port
112.5 (A),28) po . 106 . 61
83.5
555 M5 x 0.8 9 9
Ground screw
1 .
3 I 3 )
=]
s ® {:})
=] \7/
/an | 6 D) N enl
\J A\ \J U
=
| ! =
3/8" Note)
@ 5 (D N Lnl
& % W v
E
@ 5] I
@D 4 D D enl
& A\ W v
e
= ol
@D 3 D D enl
N\ A\ W v
= '
=
@) 2 D N enl
& _ W/ /2L
|
il
7 | R 1 D D enl
B N\ A\ W
= =
wn
| |
| . |
0| ® © Stations
3 + :
Ji \
15.5 58 91.8
22
51 179
69
117
2x1/8"
External pilot port
Formula: L1=41n + 76, L2=41n + 96
R . n: Stations (Maximum 12 stations)
Dimensions # Including 1 station for mounting terminal box.
L nj 2 3 4 5 6 7 8 9 10 | 11 12
L1 158 | 199 | 240 | 281 | 322 | 363 | 404 | 445 | 486 | 527 | 568
Note) 4(A) and 2(B) port at the bottom of the terminal block box L2 178 | 219 | 260 | 301 | 342 | 383 | 424 | 465 | 506 | 547 | 588

are 3/8".

491



VQ5000 series
Kit (Individual terminal block kit)

* When the junction cover on the manifold is opened, terminal box
is installed in the manifold block. Lead wire from a solenoid is
connected with the terminals on the terminal box in the bottom
side. (The terminal box is connected with lead wire for both SOL.
A and SOL. B and they correspond with the marking 1, 2, 3, 4 on
the terminal box. Refer to how to connect with the terminal box.)

* Maximum stations are 12.

Terminal Block Connections

Terminal block
marking 1 3 2 4
Model
vQs5109 Aside + | Aside—
vQ5209 Aside+ | Aside— | Bside+ | Bside—
3
V05§0‘1’ Aside+ | Aside— | Bside+ | Bside—

* Compatible crimp terminals: 1.25-3S, 1.25Y-3, 1.25Y-3N, 1.25Y-3.5
* There is no polarity (+, -).

Aside Bside \Marking

6 mm

Connection
M3 screw

Manifold Specifications

Porting specifications .
Series 4(A), 2(B) Port size Rgplliezilly
rt stations
location | 1(P), 5(R1), 3(R2) | 4(A), 2(B)
Sid 3/8,1/2
VQ5000 ce 3/4 Max. 12 stations
Bottom 12

Junction cover

How to Order Manifold

vvsQ 5 1 -[o8]03] | T1 —|___|—Q

E/UKCA-compliant

Series Thread type
5 [ vas000 Nil | Rc
F G
Manifold N NPT
o T | NPTF
[ [ Plugin unit_]
Stations Cylinder port
1 1 station 03 3/8
: : 04 1/2
12 12 stations B Bottom ported 1/2
CcM Mixed

492

Terminal block

C€ ek

[Option]

(N T — ]
[_@ | CEIUKCA-compiiant |

————e Option

Symbol

Option

Nil

None

CD1 Note)

Exhaust cleaner for Rc 1: D side exhaust

CD2 Note)

Exhaust cleaner for Rc 1 1/2: D side exhaust

Cu1 Note)

Exhaust cleaner for Rc 1: U side exhaust

Cu2 Note)

Exhaust cleaner for Rc 1 1/2: U side exhaust

SB Direct exhaust with silencer box: Exhaust from both U and D sides

SDNote) | Direct exhaust with silencer box: D side exhaust

SUNete) | Direct exhaust with silencer box: U side exhaust

Note) Combination of [CBD] and [SB] is not possible.




Plug-in Unit

VQ5000 series

va 5

Series

(5 T vasoo |

Type of actuation

2-position single

2-position double

3-position closed center

3-position exhaust center

3-position pressure center

oa|slw(n|=

3-position double check

Seal

n Metal seal
n Rubber seal

How to Order Valves

UK
cA

[Option]

C

o[o][ ]-[s]]

1 —_
CE/UKCA-compliant

| Q | CE/UKCA-compliant
Note) CE/UKCA-compliant:
For DC only.

Manual override

How to Order Manifold Assembly

Specify the part numbers for valves and options
together beneath the manifold base part number.

<Example>

Individual terminal block kit

VV5Q51-0503T1(-Q)--1 set—Manifold base part no.
+VQ5100-51(-Q)-+---2 sets—Valve part no. (Stations 1 and 2)
-2 sets—Valve part no. (Stations 3 and 4)
1 set—Valve part no. (Station 5)

Prefix the asterisk to the part
nos. of the valve etc.

Light/Surge voltage suppressor
[Nl ] Yes |
‘ E ‘ Without light, with surge voltage suppressor ‘

Coil voltage

100 VAC (50/60 Hz)

200 VAC (50/60 Hz)

110 VAC (50/60 Hz)

220 VAC (50/60 Hz)

24VDC

ola|slw|n|=

12VDC

Function

Nil Note 1)

Standard (0.95 W)

Y Note 2)

Low wattage type (0.4 W)

R Note 3)

External pilot

Note 1) When the unit is energized continuously, refer to “Specific
Product Precautions 1” on page 519.
Note 2) In addition, only DC is available with Y.

Note 3) For details about external pilot specifications, refer to page 513.

Note 4) When multiple symbols are specified, indicate them
alphabetically.

Nil | Non-locking push type (Tool required)
B Locking type (Tool required) Enter in order starting from the first station
(o] Locking type (Manual) on the D side. When entry of part numbers

becomes complicated, indicate in the
manifold specification sheet.

493



VQ5000 series
Kit (Individual terminal block kit)

29.5 | 29.5 2x1/8"
PE. port

5

/5| &
47.

@ (E] E)
T @ oo
2xG1
(Electrical entry) ) ; ) ) 6 x3/4"
oo Ea = 1(P), 5(R1), 3(R2) port
n th =
179
61 106
83.5
.o 9 | 55.5M5x 0.8
Ground screw
al Iy T
[ ~
™|
n B AN
&
3/8", 1/2"
© [ 4(A), 2(B) port
- - - 6 [
Indicator light ——
\S bl - ) .
Manual override
o - - — = 4

T
%@L
éL

N N 9 N

E { T 2 ‘
=
: - M——
o —
5
@1 { - 1
. ol e |
3 : 8
Stations - 0l % ©
=Y T b L
L t
15.5
17,
179 (Single, Double, 3-position, Rubber seal type) 22|
184.5 (3-position, Metal seal type) 6951

17

2x1/8"
External pilot port

494



B pug-in unit. VQ5000 Series

Bottom ported drawing

1z 106 61
83.5 4(A), 2(B) port
55.5M5x 0.8 9 9
Ground screw
B ! !
3
BN n
E]
| 6 \7/ al-
\{ - U
5 I " nl _
\{ - U
4 /4 Ne ol
8]
o=
35
3 i
\{ ANV
B /4 Ne nl.
i ‘ 0
<
I
o
; /4 DN ol
8]
)|
0 |
I ) s
0 ® © Stations
i R
13 /‘U j s
I \
58 91.8
179

2x1/8"
External pilot port

Dimensions Formula: L1=41n + 76, L2 =41n + 96 n: Stations (Maximum 12 stations)
L 01 2 3 4 5 6 7 8 9 [10 | 11 | 12
L1 117 | 158 | 199 | 240 | 281 | 322 | 363 | 404 | 445 | 486 | 527 | 568
L2 137 | 178 | 219 | 260 | 301 | 342 | 383 | 424 | 465 | 506 | 547 | 588

495



VQ5000 series

L Kit (Lead wire cable)

Manifold Specifications

¢ Enclosure IP65 compliant
« Direct electrical entry type available with two or more Porting specifications
stations. 9 . Applicable
: . . S 4(A), 2(B) Port )
« Electrical entry can be selected on either the U side or eries port crsize stations
the D side according to the mounting orientation. location | 1(P). 5(R1),3(R2) | 4(A), 2(B)
* Maximum stations are 12. side 3/8
VQ5000 3/4 172 Max. 12 stations
Bottom 12
Wiring Specifications
Three lead wires are attached to each station regardless of the type of valve which is mounted.
The red wire is for COM connection.
Lead Wire Assembly with Connector
Lead wire color Lead wire color Lead wire length Part no.
(+)  Black SOLA, () ) Black 0.6m VVQ5000-44A-8-0]
O Red SoMow ) Red 15m VVQ5000-44A-15-0
5 +)  White SOLB, ()  (+) White .
Positive  Negative Positive Negative 3m VVQ5000-44A-30-00
common common common common [J: Number of stations 1 to 12
Single solenoid Double solenoid
Black: A side solenoid
Red: COM
Station
number
Cable: 3 core 24 x AWG White: B side solenoid
(Not used for single solenoid)
For different lead wire lengths, order a lead wire assembly with connector shown in the table on the right.

C€ &8
How to Order Manifold [Option]

SeriesI iCEIU KCA-compliant
(5 [ vaso00 (N ] — ]
|_Q | CE/UKCA-compliant
Manifold
[ [ Pluginunit_] Option
Symbol Option
Stations Cable (Length) Nil None
o1 T station 0 | Cable length 0.6 m CD1MNoe!)|  Exhaust cleaner for Rc 1: D side exhaust
T T 1 | Cable length 1.5 m CD2 Nete )| Exhaust cleaner for Rc 1 1/2: D side exhaust
1‘2 T stétions 2 | Cablelength 3m ICU1 N 1)l Exhaust cleaner for Rc 1: U side exhaust
CU2 Note 1) Exhaust cleaner for Re 1 1/2: U side exhaust
. Electrical entry Direct exhaust with silencer box:
Cylinder port n b Exhaust from both U and D sides
03 3/8 u SDNoe 1) | Direct exhaust with silencer box: D side exhaust
04 12 SUNoe 1) | Direct exhaust with silencer box: U side exhaust
B Bottom Poned 12 Thread type w P65 enclosure
cMm Mixed _ yp Note 1) Combination of [C50] and [SD] is not possible.
Nil Re Note 2) When multiple symbols are specified, indicate them
F G alphabetically.
N NPT Example) -CD1W.
T | NPTF

496



Plug-in Unit

VQ5000 series

va 5

SerieJ

(5] vasooo |

Type of actuation

How to Order Valves

C€ ch

[Option]

2-position single

2-position double

oo ]-[s] I ]

1_

3-position closed center

3-position exhaust center

3-position pressure center

oo|s w(n|=

3-position double check

» The drawing shows the electrical entry on the D side.
« Cable length is measured from the valve body.

How to Order Manifold Assembly

Specify the part numbers for valves and options
together beneath the manifold base part number.

Seal

Metal seal

o]
(74| Fubber sear |

Function

Nil | Non-locking push type (Tool required)
B | Locking type (Tool required)
(o] Locking type (Manual)

Light/Surge voltage suppressor
[Nl ] Yes |
‘ E ‘ Without light, with surge voltage suppressor ‘

Coil voltage

100 VAC (50/60 Hz)

200 VAC (50/60 Hz)

110 VAC (50/60 Hz)

220 VAC (50/60 Hz)

Nil Note 1)

Standard type (0.95 W)

24 VDC

Y Note 2)

Low wattage type (0.4 W)

ola|slw(nf=

12VDC

R Note 3)

External pilot

Note 1) When the unit is energized continuously, refer to “Specific

Product Precautions 1” on page 519.
Note 2) In addition, only DC is available with Y.

Note 3) For details about external pilot specifications, refer to page
513.
Note 4) When multiple symbols are specified, indicate them
alphabetically.

<Example>
CE/UKCA-compliant Lead wire kit with cable (3 m)l
m— VV5Q51-0503LD2(-Q)--1 set—Manifold base part no.
“ CE/UKCA-compliant +VQ5100-51(-Q) sets—Valve part no. [Stat!ons 1and2)
Note) CE/UKCA. iant *VQ5200-51(-Q)- sets—Valve part no. (Stations 3 and 4)
ote, -compliant: R 1-51(-Q)eeeenns - "
For DC only. VQ5300-51(-Q) 1 set—Valve part no. (Station 5)
Enclosure Prefix the asterisk to the part
Nil Dust-protected nos. of the valve etc.
w Dust-tight/
Water-jet-proof(IP65) Enter in order starting from the first station
on the D side. When entry of part numbers
Manual override becomes complicated, indicate in the

manifold specification sheet.

497



VQ5000 series
Kit (Lead wire cable)

107.8

2x1/8"
PE. port

29.5 1,295

@
2xG1

(Electrical entry)

6 x 3/4"
1(P), 5(R1), 3(R2) port

Cable length

Lg1: 1500 mm
L5 2: 3000 mm

Station number

555M5x0.8
Ground screw

Electrical entry on U side (LU)

== = == g
t o) g
179
61 106
9 9

E
==

® [ O
\E o T i
CiaEEa
Manual override g %‘% JEET
SN e

SRMPE= =Y
J — v
T = e U1 1Y
= A
R

o C 1
S B S e

o © H

I

i
5

Electrical entry on D side (LD)

498

;.

E

179 (Single, Double, 3-position, Rubber seal type)
184.5 (3-position, Metal seal type)

3/8", 1/2"
4(A), 2(B) port
6 L
bi
E
5 DD
U WV £
B @ = 2
®| %
P T i W 2
5 \J v S
5] =
R E
3 I D WA
I ANV AANY
S =
» e A\
oy
. La A m
U
| @ =
Stations ‘ T NE: g
15.5
117
L22,]
51
69
117
2x1/8"

External pilot port



B pug-in unit. VQ5000 Series

Bottom ported drawing

Lead wire length

L50: 600 mm
L5 1: 1500 mm
L5 2: 3000 mm
55.5M5x 0.8 ¢ 106 . 61 Station number
Ground screw
T 9 -
172 /| Electical entry on Uside (LU)
4(A), 2(B) port K T
Rig ]
(7R | \?’ N .
@, ° D—HD—
R) s Y ol
2 ° \> N 8 £
N Jai M ol 2
2 o O—p— 3
- |
N ] (] nl-
) ° D (NP2
]
) . O—1—8t-
4 . U W U
R\ . * /> e nl
4 \J U
: o p
) & Stations @
3 \
i |
15'54@_ 58 org W
51 179
69
117

Electrical entry on D side (LD)

2x1/8"
External pilot port

Dimensions Formula: L1=41n + 76, L2 =41n + 96 n: Stations (Maximum 12 stations)
L 01 2 3 4 5 6 7 8 9 [10 | 11 | 12
L1 117 | 158 | 199 | 240 | 281 | 322 | 363 | 404 | 445 | 486 | 527 | 568
L2 137 | 178 | 219 | 260 | 301 | 342 | 383 | 424 | 465 | 506 | 547 | 588

499



VQ5000 series

Kit (Serial transmission unit): EX124 (For Output) Serial Transmission System

d

* The serial trar issi y r
wiring work, while minimizing wiring and
saving space.

*Double wiring (connected to SOL. A and
SOL. B) is adopted for the internal wiring of
each station, regardless of valve and option
types. Mixed single and double wiring is
available as a semi-standard specification.

vvs5Q 5 1

Series

Manifold
Stations
02 2 stations

12 12 stations

Note) One station is used for mounting
SI Unit.
The number of stations is the
number of manifold valves plus
one station for SI Unit. For 10
stations or more, specify the
wiring specifications by means
of the manifold specification
sheet.

Stations are counted starting from the
first station on the D side.

Manifold Specifications

Porting specifications

Series 4(A), 2(B) port Port size Applicable stations
location 1(P), 5(R1), 3(R2) 4(A), 2(B)
. 3/8
Sidk
VQ5000 ee 3/4 1/2 Max. 12 stations
Bottom 12
Item Specifications

External power supply

24 VDC +10%, -5%

Current
consumption
(Internal unit)

0.1A

C

How to Order Manifold

-[o8][03] ] S[ufal-

500

Cylinder port
03 3/8
04 12
B Bottom ported 1/2
cMm Mixed
Thread type
Nil Rc
F G
N NPT
T NPTF

Sl Unit mounting position

[0 0 sce mounting|

U |U side mounting

CE/UKCA-compliant

[n | —
["a_[GEUKGAcompiart]
Option
Symbol Option
Nil None
CD1Note2)]  Exhaust cleaner for Rc 1: D side exhaust
CD2Note2)| Exhaust cleaner for Rc 1 1/2: D side exhaust
CU{ Note2) Exhaust cleaner for Rc 1: U side exhaust
CU2Nete2)|  Exhaust cleaner for Re 1 1/2: U side exhaust
K Note 3) | Spejal wiring specifcations (except double wirng specification, 10 stations or more)
SD Note2) | Direct exhaust with silencer box: D side exhaust
SU Nete2) | Direct exhaust with silencer box: U side exhaust
w IP65 enclosure

UK
cA

[Option]

Note 1) When multiple symbols are specified, indicate them alphabetically.
Example) -CD1K

Note 2) Combination of [C50]] and [S5] is not possible.

Note 3) Specify the wiring specifications on the manifold specification sheet.

Sl Unit

0 Without SI Unit

Q DeviceNet® (16 output points)

R1 | OMRON Corp.: CompoBus/S System (16 output points)
R2 | OMRON Corp.: CompoBus/S System (8 output points)
\' CC-LINK (16 output points)

Sl Unit Part No.

|Symbol| Protocol type Sl Unit part no. Page
. . D side: EX124D-SDN1
®
Q DeviceNet® (16 output points) U side: EX124U-SDN1
R1 | OMRON Corp.: CompoBus/S System (16 output points) B Z:g: E;} gjaggg;‘
— 517
R2 | OMRON Corp.: CompoBus/S System (8 output points) 8 z:gz: E;} ziagggg
v CC-Link (16 output points) B :g:f Eé}giagml

Refer to the Web Catalog and the Operation Manual for the details of EX124
Integrated-type (For Output) Serial Transmission System. Please download
the Operation Manual via SMC website, https://www.smcworld.com




B pug-in unit. VQ5000 Series

How to Order Valves

=

[Option]

va 5

Series—l_
(5]

Type of actuation
2-position single
2-position double

3-position closed center

3-position exhaust center
3-position pressure center
3-position double check

o(o|s w(N|=

Seal

[ 0 [ Metalseal
n Rubber seal

ofo][ J-5[ ]

Function

Nil Note 1) Standard (0.95 W)

Y Note 2) Low wattage type (0.4 W)

R Note 3) External pilot

Note 1) When the unit is energized
continuously, refer to “Specific
Product Precautions 1” on page 519.

Note 2) In addition, only DC is available with Y.

Note 3) For details about external pilot
specifications, refer to page 513.

Note 4) When multiple symbols are specified,
indicate them alphabetically.

1_

CE/UKCA-compliant

| Q | CE/UKCA-compliant

Enclosure

Nil Dust-protected

w Dust-tight/
Water-jet-proof (IP65)

Manual override

Nil | Non-locking push type (Tool required)
B | Locking type (Tool required)
Cc Locking type (Manual)

Light/Surge voltage suppressor
[N ] Yes
|__E__ [ without light, with surge voltage suppressor |

Coil voltage
[ 5] 24 VDC

How to Order Manifold Assembly

Specify the part numbers for valves and options
together beneath the manifold base part number.

<Example>
VV5Q51-0603SUQ(-Q)-1 set—Manifold base part no.

+VQ5100-51(-Q)- sets—Valve part no. (Stations 1and 2)
«VQ5200-51(-Q)- sets—Valve part no. (Stations 3 and 4)
+VQ5300-51(-Q)---------1 set—Valve part no. (Station 5)

Prefix the asterisk to the part
nos. of the valve etc.

Enter in order starting from the first station
on the D side. When entry of part numbers
becomes complicated, indicate in the
manifold specification sheet.

501



VQ5000 series

E Kit (Serial transmission unit): EX124 Integrated-type (For Output) Serial Transmission System

107.8

2x1/8"
. ‘ PE. port

Uﬂcﬂ@:ﬁl

ex34
H 1(P), 5(R1), 3(R2) port

47.5

179 146 Note 1) 3/8" Note 2)
61 106 111
Sl Unit 83.5
4xG1/2 55.5M5x 0.8
Conduit port Ground screw

J(

ﬁJ[

o |
n V B
EN
] i 3/8", 1/2"

4(A), 2(B) port

Indicator light

i3]

L1

%@“ﬂr@

o
-

Manual override

0] e

RNE IR
| &) |
5l(E] 5l(El
mlm

&)
@@

1]

@W@FW@F;T@FWQF ]

2
6]

68.5

Stations

48

34.5

58.5

15.5

179 (Single, Double, 3-position, Rubber seal type)
184.5 (3-position, Metal seal type)

External pilot port

Note 1) In the case of EX124D(U)-SMJ1, this dimension becomes 149.
Note 2) 4(A) and 2(B) port at the bottom of the SI Unit are 3/8".

502



B pug-in unit. VQ5000 Series

Bottom port drawing

4(2) x G1/2
Conduit port
146
111 106 61
83.5 12"
55.5 M5 x 0.8 4(A), 2(B) port 9 9
Ground screw
m,] kﬁﬁ ) 0 ‘7 —f— )
ol <
@ Lol
@ ° B )
A2
=
JanWan e 1D al
\>J ° o
DA NPASEAND,
) 3/g" Note)
" Note)
@——t 5 P VR W W
\ NN NN
@) Me 1M« 1
N ! (NZASEN ANVART A
| o -
-
@) s Do D pl
3 NN (N
=
1 , M M ol
| N (N
= . N
: c\: T
@) 1 DD~
N Y (N
3 = .
: 0
B . 8
0| %) Stations !
& : \ ;
Ji |
15.5 58 91.8
22
51 179
69
117
2x1/8"
External pilot port
Formula: L1=41n + 76, L2=41n + 96
R . n: Stations (Maximum 12 stations)
Dimensions = Including 1 station for mounting SI Unit.
L n 2 3 4 5 6 7 8 9 10 | 11 | 12
L1 158 | 199 | 240 | 281 | 322 | 363 | 404 | 445 | 486 | 527 | 568
Note) 4(A) and 2(B) port at the bottom of the SI Unit are 3/8". L2 178 | 219 | 260 | 301 | 342 | 383 | 424 | 465 | 506 | 547 | 588

503



Base Mounted

Plug Lead Unit: C Kit

VV5Q % 5 —[08] 03]
Series

How to Order Manifold

C_

VQ5000 Series ¢

CE/UKCA-compliant

(Connector Kit)

UK
CA

[Option]
Note) CE/UKCA-compliant:
For DC only.

[ = ]
Manlfolq Option
B Symbol Option
Stations Kit type Nil None
01 1 station . CD1Note )| Exhaust cleaner for Rc 1: D side exhaust
: : Kit (Connector) CD2 Note 1)| Exhaust cleaner for Rc 1 1/2: D side exhaust
12 12 stations CU1 Note )| Exhaust cleaner for Rc 1: U side exhaust
CU2 Nete 1)| Exhaust cleaner for Rc 1 1/2: U side exhaust
Cylinder port SB Direct exhaust with silencer box: Exhaust from both U and D sides
03 3/8 SD Note 1) | Direct exhaust with silencer box: D side exhaust
04 12 SU Note ) | Direct exhaust with silencer box: U side exhaust
B Bottom ported 1/2 w IP65 enclosure
CM Mixed Note 1) Combination of [CSD] and [Sg] is not possible. Also,
Thread type exhaust cleaner is not attached. Please order it
separately.
Nil Re | | T ENRE310 e,
F G E Refer to page 520 (Grommet type) E
N NPT + for wiring specifications. H
T NPTF (o3 ‘ Connector kit ‘ Max. 12 stations Lmmmmmssssssemmsneeeeeene e '

How to Order Valves

LI-lslel

1_

How to Order Manifold Assembly

Specify the part numbers for valves and options together
beneath the manifold base part number.

<Example>

Connector kit

VV5Q55-05042C(-Q)---1 set—Manifold base part no.
#\/Q5150-5G1(-Q)-~--2 sets—Valve part no. (Stations 1 and 2)
#\Q5250-5G1(- sets—Valve part no. (Stations 3 and 4)
+VQ5350-5G1(-Q)-----1 set—Valve part no. (Station 5)

Prefix the asterisk to the part
nos. of the valve etc.

I Series CE/UKCA-compliant
|  [CE/UKCA-compliant
Type of actuation Note) CE/UKCA-compliant:

1 2-position single Enclosure For DC only.

2 2-position double [N ] Dust-protected |

3 | 8-position closed center | W_ [ Dust-tight/ Water-jet-proof (IP65) |

4 | 3-position exhaust center .

5 | 3-position pressure center Manual override

6 | 3-position double check Nil: . B: c:

Non-locking Locking type | Locking type
Seal {)-IL'.IOS; :?;iire@ (Tool r‘equired) (Manual)
[0 ot soa | b \
n Rubber seal N g o
Function

Nil Note 1) Standard (0.95 W)

Y Note 2) Low wattage type (0.4 W)

RICES External pilot Light/Surge voltage suppressor
Note 1) When the unit is energized continuously, refer to ‘ Nil Yes ‘

“Specific Product Precautions 1” on page 519. " n -

Note 2) In addition, only DC is available with Y. [ E_[without light, with surge voltage suppressor|
Note 3) For details about external pilot

specifications, refer to page 513. Electrical entry

Note 4) When multiple symbols are specified, G
indicate them alphabetically.
Lead wire
o 4= | length
Coil voltage¢ | & e
1 [100 VAC (50/60 Hz)|| 4 |220 VAC (50/60 Hz) g
2 |200 VAC (50/60 Hz)|| 5 24 VDC 1G] H
3 [110 VAC (50/60 Hz)|| 6 12VDC Lead wire
length
1.5m

504

Enter in order starting from the first station
on the D side. When entry of part numbers
becomes complicated, indicate in the
manifold specification sheet.




=Y Plug Lead unit V@Q5000 Series

Manifold Specifications

Porting specifications i _ i
Series Base model Type of connection 4(A), 2(B) Port size applicable Gppicatie Weight [kg]
port - valve (Formula)
location |1(P), 5(R1), 3(R2)|  4(A), 2(B)
3/4
. 3/8
Side oot 12 21012 V5050 0.58n +0.9
_ o ption 0
ROSO0B)) VVSASS-0O0 | M C kit-Grommet Direct exhaust stations VQ5051 | » Not including
with valve weight.
silencer box
Bottom 12
n: Stations

Flow Rate Characteristics at the Number of Manifold Stations (Operated individually)

Model Passage/Stations Station 1 Station 5 Station 10

C [dm3/(s-bar)] 11 11 11

1—4/2(P— A/B) b 0.24 0.24 0.24

2-position metal seal Cv 27 27 2.7
VQ5100 C [dm®(s-bar)] 12 12 12

4/2 — 5/3 (A/B — EA/EB) b 0.14 0.14 0.14

Cv 2.9 2.9 2.9

C [dm3/(s-bar)] 12 12 12

1—4/2 (P— A/B) b 0.33 0.33 0.33

2-position rubber seal Cv 3.4 3.4 34
VQ5301 C [dm¥(s-bar)] 16 16 16

4/2 — 5/3 (A/B — EA/EB) b 0.33 0.33 0.33

Cv 4.4 4.4 4.4

Note) For port size 1/2

Manifold Options

Blanking plate assembly Individual SUP spacer Individual EXH spacer EXH block plate
VVQ5000-10A-5 VVQ5000-P-5-33 VVQ5000-R-5-33 VV0500-1 6A-2 (1 pc./set)

Restrictor spacer SUP stop valve spacer SUP block plate Double check spacer with

VVQ5000-20A-5 VVQ5000-37A-5 VVQ5000-16A-1 residual pressure exhaust
< VVQ5000-25A-5

Release valve spacer: Direct exhaust with silencer box| Manifold mounted exhaust | Interface regulator

For D side mounting [-S81 cleaner (P, A, B port regulation)

VVQ5000-24A-5D <
2

* Refer to pages 508 to 512 for detailed dimensions of each option.
« For replacement parts, refer to page 517.

505



VQ5000 series
Kit (Connector kit)

29.5

L2
L1

58.5

Manual override

Indicator light

I

Lead wire length

(600 or 1500 mm)

506

External pilot port

@ E[5] @ @
1O T O
| ‘ o o
6 x 3/4"
1(P), 5(R1), 3(R2) port
] ]
123
133
15 106
) 9, | 83.5
55.5 M5 x 0.8
‘\ L Ground screw
3/8", 1/2"
ﬁ@;@ : \ \E( 4(A), 2(8) por
e ° Hq\/ (v
5 ¢ - =
- fore 1o s B
@_! el 1 &
1 & %
- olm - j ECERS 4 —a ) an
e ) 1 & ! [lc)
1 & %
= &3 j B s B />/\
e 2 k) & 5
0 & %
e ar IR r e
& 2 kY & % o)
" Y 5]
- olg [T 1 ol | N Vs W
v 1 . L
: ©& B o) =2
]
Stations \%\ m©$
15.5
REA
L22]
194.5 (Single, Double, 3-position, Rubber seal type) 51
200 (3-position, Metal seal type) 69
117
2x1/8"



B Plug Lead unit. V5000 Series

Bottom ported drawing

E|&

Bz

E|z

!/\\H@

117

2x1/8"
External pilot port

83.5 106 15
55.5 M5 x 0.8 9 9
Ground screw T
12" |
S am) 2 Y
| <|  port
[}
0o—F— "
=
R) € 6 D DN ..
D) NP A ANV AR
=
§ |
D -+ 5 D ; il /25
Y T
=
— ] Mo |y ol
U U™ 9\
4 = |- I I
a0
o+ . Mo M ol
N AUZL
ot . Pas W Vax T 72
_ " U™ Ul\H
= <
5] nli i
5 1 Pan Y Fan W P
7 U/ A\ \4/‘ Cable length
= 0 (600 or 1500 mm)
3 3
| ® ©| Stations !
g T ‘ T
J\ |
15.5 58 45.8
22
51 133
69
Dimensions Formula: L1=41n + 76, L2 =41n + 96 n: Stations (Maximum 12 stations)
L 1 2 3 4 5 6 7 8 9 |10 | 11 | 12
L1 117 | 158 | 199 | 240 | 281 | 322 | 363 | 404 | 445 | 486 | 527 | 568
L2 137 | 178 | 219 | 260 | 301 | 342 | 383 | 424 | 465 | 506 | 547 | 588

507



VQ5000 series
Manifold Options

Manifold Option Parts

Blanking plate assembly

VVQ5000-10A-1 (Plug-in type)
VVQ5000-10A-5 (Plug lead type)

170 (Plug-in type)

124.5 (Plug lead type)

T
It is used by attaching on the manifold block for being 1 @ @
prepared for removing a valve for maintenance f o
reasons or planning to mount a spare valve etc. ! A
. <
(A)(B)
4 2
II
ITT
513
(R1)(P)(R2 T 1 oo:
Circuit diagram ' <
Plug-in type Plug lead type
Individual SUP spacer
VVQ5000 P Il. 179 (Plug-in type)
133 (Plug lead 32
Thread type (Plug lead type) 16
Manifold Port S|ze N||
1 | Plug-in type \ \ 03 \ 3/8 e ———
\ 5 |Plugleadtype | |04 ] 172 N NF‘T imamanE .
T _|[NPTF B m@ [_0] S
= %\ U @)
1(P;
® 4A) 03:3/8
3(8) 04:1/2
I
O
3(R2)
k Circuit diagram
Plug-in type Plug lead type
Individual EXH spacer
VVQSOOO R 179 (Plug-in type)
133 (Plug lead type) 32
Thread type 16
Manifold Port slze N||
1 | Plug-in type \ \ 03 \ 3/8 @D AR B* @
\ 5 |Plugleadtype | |04 | 1/2 N NPT B nm M) |«
T_[NPTF e L) s
U@l )
1(P) 03:3/8
4R 04:1/2

Plug-in type Plug lead type

3(R2)

Circuit diagram

508



Manifold Options VQ5000 Series

Restrictor spacer
VVQ5000-20A-1 (Plug-in type)

1(P)
VVQ5000-20A-5 (Plug lead type) 4A)
B
A restrictor spacer is mounted on a manifold block 26
to control cylinder speed by throttling exhaust air flow.
5(R1) * 3(R2)

Circuit diagram

Plug-in type Plug lead type

179 (Plug-in type)

133 (Plug lead type) 32
el AT g(
& 11U O00PTEH T =)

il

Note 1) A certain amount of leakage is allowed in the products’ specifications.
Tightening the needle to reduce leakage to zero may result in equipment damage.

Note 2) Products mentioned in this catalog are retainer types, so the needle is not removed
completely. Over rotation will cause damage.

SUP stop valve spacer
VVQ5000-37A-1 (Plug-in type)
VVQ5000-37A-5 (Plug lead type)

179 (Plug-in type)

133 (Plug lead type)

k<]
A SUP stop valve spacer is mounted on a manifold block, 1(P) 4A) o5 m% T[H WH@HF
making it possible to individually shut off supply air to each 2(8) s U ‘H ”H‘HJU]&
valve. o
5(R1) *3(R2) ia
Circuit diagram ‘ LD
Plug-in type Plug lead type
Release valve spacer: !=or D side mounting 179 (Plugin type)
VVQ5000-24A-1D (Plug-in type) 133 (Plug lead type) 32
VVQ5000-24A-5D (Plug lead type) r&
A VQ5100 (single) valve can be used as an air release [ ¢ 2
valve by combining it with a release valve spacer. 5(R1)_3(R2) (B m _ m N m = X
Note) 2-position double and 3-position cannot be mounted. @ & U U Cj ?‘3 N
' P1
f (P) Po
Circuit diagram
Plug-in type Plug lead type
18.5

SUP block plate EXH block plate ~——‘
VVQ5000-16A-1 VVQ5000-16A-2 =
When supplying two different pressures to one manifold, © AN
this is used to shut off between stations with different 3| k
pressures. RO

R RO——] RO—

P it P P

R RH——— R H—

SUP blocking plate

(Order q’ty: 2 pcs.)

SUP passage blocked

<Passage blocked label>

Indication labels to confirm the blocking position are attached.

EXH blocking plate (Each for SUP passage and SUP/EXH passage blocking positions
Each for EXH passage and SUP/EXH passage blocking positions/

EXH passage blocked SUP/EXH passage blocked

509



VQ5000 series

Manifold Option Parts

Direct exhaust with silencer box

VV5Q5 ; -000-SD (D side exhaust)
VV5Q5 ; -000-SU (U side exhaust)

VV5Q5 } -000-SB (Exhaust from both sides)

The EXH outlet is placed on the top side of the

manifold end plate. The built-in silencer provides

highly effective noise reduction. (Noise reduction of

35 dB(A) or more)

Note) Note that when excessive drainage occurs in
the air supply, the drainage will be released
along with the exhaust.

9 1 O i
= el el
(©) o
58.8 68.2
107.8 71.2
(mm] mm]

Note) Figure shows VV5Q51-000-SD.

« Silencer box assembly: VVQ5000-75A (With gasket, screw)

Double check spacer with residual pressure exhaust

VVQ5000-25A-1 (Plug-in type)
VVQ5000-25A-5 (Plug lead type)

Can hold an intermediate cylinder position for an
extended time.

When combined with a double check spacer with
built-in double check valve, it is unaffected by air
leakage between the spool valves, making it
possible to hold a cylinder at an intermediate
stopping position for an extended time.

Besides, combination between 2-position solenoid
valve (VQ5300) and double check spacer can
be used for drop prevention.

Plug-in type

Plug lead type

510

Specifications

Double check

VVQ5000-25A-1

spacer part no.

Intermediate stop

Drop prevention

Applicable
solenoid valve

vQs400

vasioo

A\ Caution

\ Handling Precautions

¢ In the case of 3-position double check
(VQ5600), check the leakage from piping and
fittings in between valve and cylinder by
means of synthetic detergent solutions, and
ensure that there is no such leakage found
there. Also, check the leakage from cylinder
seal and piston seal. If there is any leakage,
sometimes the cylinder, when valve is de-
energized, can move without stopping at
intermediate position.
If exhaust side of double check spacer is
narrowed down, this causes a decrease in
intermediate stop accuracy and may
malfunction.
« Combination with 3-position valves “VQ53 00"
is not possible.
* Set the cylinder load so that the cylinder
pressure will be within two times that of the
supply pressure.



Manifold Options VQ5000 Series

Manifold mounted exhaust cleaner Applicable exhaust cleaners
VV5Q5 ! -000-CD 3 (D side mounting) AMC610-10 (Port size Rc 1), AMC810-14 (Port size Rc 1 1/2)
VV5Q5 { -0000-CU 2 (U side mounting) Note 1) Exhaust cleaner: AMC610-10 and AMC810-14 are not included.

Please order it separately.
Note 2) Mount so that the exhaust cleaner is at the lower side.
Note 3) For details about the exhaust cleaner, refer to the Web Catalog.

An adapter plate for exhaust cleaner mounting is
provided on the top of the manifold end plate. The
exhaust cleaner collects drainage and oil mist
(99.9% or more) and is highly effective for noise
reduction.

(Noise reduction of 35 dB(A) or more)

Plug lead type

Metal

H
&

2x1/8"

200 (3-postion,

Station no.

U side entry (LU) St N
L 2 N
| mT ! L Manual
g 2 fat—1 override
indicator [ 6 N
light . 5 19 Indicator light
=N —»G_Eﬁ_ew 5 J==4 K
s - b
Manual
5 cpoen = e Y | =0
e —7
B i £ D@ =
S b A=y S e ST
" P SRR [CRe . ol—t-1]
3 : o u‘usmuons 59’3; g 3
5 g3 )
2| ; s
s ] ] T £
3 | | £
= - —
T I e [ —
W ACEID Ttes Aot g psies W s W%}”&"‘mmm
0118 (9135), | [(~ 105 wih AMCB10-14 ntalled) (=105 wilh AMCB10-14 ntalled) 0118 (0135), | | (105 wiAVCB10-14 Igalled) - A0 14 )
159 (172.5) 159 (172.5)
158.7 ‘ 158.7 ‘
2xG1 Ji_2xaa
(Electrical entry) 1(P) port
o yyo
8 5
o
2x1/8"
PE. port
. . Formula: L1 =41n + 76, L2 = 41n + 96 . . Formula: L1 =41n+76,L2=41n + 96
Dimensions n: Stations (Maximum 12 stations) Dimensions n: Stations (Maximum 12 stations)
L nNf2/3|4|5[6 |7 /|8 /]9  |10]11]12 L nf2/3|4|5 6 7 8|9 (101112
L1 158 | 199 | 240 | 281 | 322 | 363 | 404 | 445 | 486 | 527 | 568 L1 158 | 199 | 240 | 281 | 322 | 363 | 404 | 445 | 486 | 527 | 568
L2 178 | 219 | 260 | 301 | 342 | 383 | 424 | 465 | 506 | 547 | 588 L2 178 | 219 | 260 | 301 | 342 | 383 | 424 | 465 | 506 | 547 | 588

511



VQ5000 series

Manifold Option Parts

Interface regulator (P, A, B port regulation)

ARBQ5000-00--1 (Plug-in type) Flow Rate Characteristics
ARBQ5000-00-01-5 (Plug lead type)

By mounting a spacer regulator on the manifold block, it enables to regulate pressure per every

Conditions Inlet pressure: 0.7 MPa
ARBQ5000-00-A (P—A)

valve. 07
Specifications 7 08
Interface regulator ARBQ5000 % 05 ]
R N 5 04
egulating port A B P 2 -
2 03
Applicable valve Plug-in |Plug lead| Plug-in |Pluglead| Plug-in |Plug lead =3 T~
3 02
Maximum operating pressure 1.0 MPa g 01 \
Set pressure range 0.05 to 0.85 MPa ‘c A\
Fluid Al 0 500 1000 1500 2000 2500 300
ul " Flow rate [L/min (ANR)]
Ambient and fluid temperature -5 to 60°C (No freezing)
- - ARBQ5000-00-B (P—B)
Port size for connection of pressure gauge M5 x 0.8 07
Weight [kg] 0.79 0.74 0.78 0.73 0.79 0.74 7 08
s 05
Effective area at supply side [nm?] |P — A 33 75 29 ? od T
SatP1=07MPa/P2=05MPa |p_ g 4 2 z o
- 6: 33 8 g, ~]
Effective area at exhaust side [mm?] A—EA 36 75 78 ;; 0.
SatP2=0.5 MPa B — EB 68 38 69 3
O o1
Note 1) Set the pressure within the operating pressure range of the valve. 0
Note 2) Operate an interface regulator only by applying pressure from the P port of the base, except 0 500 1000 1500 2000 2500 300¢
when using it as a reverse pressure valve. When using it as a reverse pressure valve, P port Flow rate [L/min (ANR)]
regulation is not allowed to use.
Note 3) When using a perfect spacer, assemble a valve, a spacer regulator and a perfect spacer in this ARBQSOOOBO?-P (P=A)
order to use it. X
Note 4) When using in A port regulation, B port regulation by closed center, since there is a problem in N 06
its operation, please contact SMC. 2 05
Note 5) Dust-tight/Water-jet-proof (IP65) is not available with interface regulator. 2 04 -
g —
g 03
How to Order 5 o0z I~
Solenoid valve Interface regulator Regulating port 3 04 \
ARBQ5000-00-A-1 A 0 \
N 0 500 1000 1500 2000 2500 300
VQS50100] (Plug-in type) ARBQ5000-00-B-1 B Flow rate [L/min (ANFY]
ARBQ5000-00-P-1 P
ARBQ5000-00-A-5 A ARBQAS000-00-P (P5)
VQS5CI50] (Plug lead type) ARBQ5000-00-B-5 B = 06
ARBQ5000-00-P-5 P Y
0 ~~
H 0.4
Dimensions g o —
3 o
s
e s 8 o \
} } #‘ 00 500 1000 1500 2000 2500 300(
| | Flow rate [L/min (ANR)]
35
- Pressure Characteristics
™ Conditions
8 Inlet pressure: 0.7 MPa
Outlet pressure: 0.2 MPa
Flow rate: 20 L/min (ANR)
103 M DN
g7
= 0
o A\l
Regulating port: B Regulating port: P 3 0
B 5 0.15 Set point
a A
T o1
s
O o

0.00
02 03 04 05 06 07 08 09 1
Inlet pressure [MPa]

512



VQ5000 series

Semi-standard Specifications

External Pilot Specifications

* When the supply pressure is: Pressure Specifications

« lower than the minimum valve operating pressure of 0.1 to 0.2 MPa, or when it

Valve construction

Metal seal

Rubber seal

drops below this level,
« used for reverse pressure (R port pressure) or cylinder pressure (A, B port

Operating pressure range

-100 kPa to 1.0 MPa

pressure), . Single 0110 1.0 MPa 0.2t0 1.0 MPa
. . L External pilot

« used for vacuum specification, it can be used for external pilot specification. pressure range Double 0.15t0 1.0 MPa

Order a valve by adding the external pilot specification [R] to the part number. 3-position 0.15to0 1.0 MPa 0.2t0 1.0 MPa

External pilot is available as standard for manifolds and options.
* Compatibility with universal porting is possible for the single, double and
3-position (excluding double check) types.

How to Order Valves

[Sub-plate]
Plug-in  VQ5100[R|—51—04 Plug-in
Pluglead VQ5150[R|—5G1—-04 Plug lead

External pilot

<Sub-plate>

VQ5100 [R]
VQ5150 [R]

51
5G1

External pilot

External pilot port
2x1/8

<Manifold>

Note) Possible to mix mounting of internal and external pilot

513



VQ5000 series
Construction

Plug-in Unit

Metal seal type

VQ5400

Rubber seal type

513 513
(R1)(P)(R2) (R1)(P)(R2)
VQ5500  (A)(B) vasso1  (A)B)
42 42
513 513
(R1)(P)(R2) (R1)(P)(R2)
Component Parts Component Parts
No. Description Material Note No. Description Material Note
1 Body Aluminum die-casted 1 Body Aluminum die-casted
2 Spool/Sleeve Stainless steel 2 Spool valve Aluminum, HNBR
3 Piston Resin 3 Piston Resin

Replacement Parts

Replacement Parts

A
V118 -D-B
Coil type

a Pilot valve
assembly
[ Nil | Standard (0.95 W)
Low wattage type (0.4 W)

[: Coil rated voltage

Example) 24 VDC: 5
A: With light (For A side)
B: With light (For B side)
E: Without light

(A/B side common)

Pilot valve
assembly

A
V118 -D-B
Coil type

[Nil [ Standard (0.95 W)

Low wattage type (0.4 W)

[O: Coil rated voltage
Example) 24 VDC: 5
A: With light (For A side)
B: With light (For B side)
E: Without light
(A/B side common)

514



Plug Lead Unit

Metal seal type

T
)

(A) (B,
VQ5250 (4)(2)

VQ5350 (5\)(2) VQ5450  (A)(B)
513 513
(R1)(P)(R2) (RN)(P)(R2)

VQ5550 (A)(g)

Construction VQ5000 Series

Rubber seal type

] E /

T i

H'mﬂ%f\m'm

~

=]

VQ5251

(A)(B)
42

3
g
~ |

A) (B
vas3st 4)( 2) VQ5451 (ﬁ)(EZi)
513 513
(R1)(P)(R2) (R1)(P)(R2)
VvQ5551 (A)(B)

513 513
(R1)(P)(R2) (R1)(P)(R2)
Component Parts Component Parts
No. Description Material Note No. Description Material Note
1 Body Aluminum die-casted 1 Body Aluminum die-casted
2 Spool/Sleeve Stainless steel 2 Spool valve Aluminum, NBR
3 Piston Resin 3 Piston Resin

Replacement Parts

Replacement Parts

[: Coil rated voltage

[: Coil rated voltage
Example) 24 VDC: 5

A
Vv1180)-0-B
E
Coil type

Example) 24 VDC: 5
A: With light (For A side)

A
v118[)-0-B
a Pilot valve - E A: With light (For A side) a Pilot valve
assembly Coil type B: With light (For B side) assembly B: With light (For B side)
[Nt [ Standard (095 W) | E: Without light [Nl T Standard 095W) | E: Without light
Low wattage type (04 W) (A/B side common) Low wattage typo (04 W) (A/B side common)
515




VQ5000 series
Exploded View of Manifold

D-side end plate assembly

Manifold block assembly

Tie-rod

U-side end plate assembly

i
=

Note) The electrical entry cannot be changed.

516

Figure shows a plug-in type.



Exploded View of Manifold VQ5000 series

D-Side End Plate Assembly

U-Side End Plate Assembly

(D D-side end plate assembly part no. (For F, L, S, T & T1 kits)

VV05000—3A—1|_—r|—|_—(|—|]—_|—|___|

Thread type
Nil Rc
F G Option
N | NPT Nil Standard
T |NPTF cD1

Exhaust cleaner mounting Rc 1
CD2 | Exhaust cleaner mounting Rc 1 1/2
SD Direct exhaust with silencer box

Electrical entry

L T1, F, L kit Option 2
F Note 1)| F kit (Connector location on D side) m
! andar
c C it {Plug lead type)
s S, T kit

Note 2) Drip proof type is

Note 1) D-sub connector assembly for D side: not available for F

VVQ4000-19A-D is not included.

(@ U-side end plate assembly part no. (For F, L, S, T & T1 kits)

VV05000—2A—1|;|—|%|— -]

Thread type
Nil Rc
F |G Option 1
N | NPT Nil Standard
T _[NPTF cu1 Exhaust cleaner mounting Rc 1

CU2 | Exhaust cleaner mounting Rc 1 1/2
su Direct exhaust with silencer box

Electrical entry

L T1, F, L kit Option 2
F Note )| F kit (Connector location on U side) S
c C kit (Plug lead type) lmlw [ Standard |
165 enlosure |
S S, Tkit IP65 enclosure

Note 2) Drip proof type is

Note 1) D-sub connector assembly for U side: not available for F

VVQ4000-19A-U is not included.

(Order separately) and T1. (Order separately) and T1.
D-sub connector assembly
D-sub connector assembly VVQ4000 - 1 9A -
Electrical entry
[ D [Dsideentry |
[y Uside entry |
Manifold Block Assembly Manifold Block Replacement Parts
(3 Manifold block assembly part no. (Including @ and ®
e ve ( 9 ) Replacement Parts
VVQ5000 —1 —_ g —_ Part no. Description Material Qty
VVQ5000-80A-1 Gasket HNBR 10
Typg Option VVQ5000-80A-2 Gasket HNBR 10
(A [For 1 station] [ Nil | Standard | Note) Spare parts consist of sets containing 10 pcs. each.
P65 enclosure
Electrical entry Thread type
F1 | F kit Double wiring Nil Rc
F2 | F kit Single wiring F G
TO | T1 kit (Individual terminal block) Double wiring N NPT Ti
ie-rods part no. (2 pcs.
T1 | T kit (Terminal box) Double wiring T |NPTF @ p ( p )
T2 | T kit (Terminal box) Single wiring VVQ5000—TR—
S1 | S kit Double wiring
S2 | S kit Single wiring . .
LODC) | LO kit O0: Stations (1 to 12) Port size Stations: 02 to 12
L10 | L1 kit O: Stations (1 to 12) 03 3/8 Note) When eliminating manifold stations, order this separately. When
L20 | L2 kit O: Stations (1 to 12) 04 1/2 increasing manifold stations, it is not necessary to order since tie-rods
C | Ckit (Plug lead type) B | Bottom ported 1/2 are included in the manifold block assembly.

Note 1) Tie-rods (2 pcs.) and lead wire assembly for
station addition included.
Note 2) Drip proof type is not available for F and T1.

Housing Assembly and Sl Unit

Part no.
Kit type Model symbol - - - - Description
For U side mounting | For D side mounting
Q EX124U-SDN1 EX124D-SDN1 DeviceNet®
s R1 EX124U-SCS1 EX124D-SCS1 OMRON Corp.: CompoBus/S (16 output points, 2 power supply systems)

(Serial transmission unit) R2 EX124U-SCS2 EX124D-SCS2 OMRON Corp.: CompoBus/S (8 output points, 2 power supply systems)

v EX124U-SMJ1 EX124D-SMJ1 Mitsubishi Electric Corporation: CC-Link System (2 power supply systems)
T (Terminal block box kit) — VVQ5000-70A-U (-W) | VVQ5000-70A-D (-W) —

517



VQ5000 series

List of Valves, Options, and Mounting Bolts

Number of : Bolt part no. Qty . . §
opions VORI Proper tightening torque: 1to 1.8 N-m |(PCS.) e Cpiionlelntinaldiagian
= =
" AXT632-25-4

Single valve (M4 x 50) 4 Valve

0 S "
Blanking plate AXT632-25-8 i | 0o
(VVQ5000-10A- }) (M4 x17) 4 | For manifold
Valve + Individual SUP spacer (D AXT632-25-5 (M4 x 82) 4 i
'VQ5000-P- ! _03) - For manifold
( 5704 () AXT632-25-10 (M4 x 34) 2
Valve + Individual EXH spacer (D) AXT632-25-5 (M4 x 82) 4 .
VVQ5000-R- - 53 > For manifold
( 57 04) (2) AXT632-25-10 (M4 x 34) 2
Valve + Restrictor spacer (1) AXT632-25-5 (M4 x 82) 4 o )

a )

(VVQSOOD-2OA-;) (2) AXT632-25-10 (M4 x 34) 2 | Not necessary when mounting the sub-plate. Vol
Valve + Release valve spacer (D AXT632-25-5 (M4 x 82) 4 For manifold Valve
(VVQ5000-24A-5D) (@) AXT632-25-10 (M4 x 34) 2 _ Sacer u“f‘

4 Valve + Double check spacer (1) AXT632-25-6 (M4 x 114) 4
with residual pressure exhaust ~
(VVQ5000-25A- 1) (2) AXT632-66-1 (M4 x 64)Note2) | 2| Not necessary when mounfing the sub-plate.
Valve + SUP stop valve spacer (1) AXT632-25-5 (M4 x 82) 4
(VVQ5000-37A-5) (2 AXT632-25-10 (M4 x 34) 2 | Not necessary when mounting the sub-plate
Valve + Imerfaciregulator (1) AXT632-25-6 (M4 x 114) 4
(ARBQS5000-00 g';) (@) AXT632-66-1 (M4 x 64) 2| Notnecessary when mounting the sub-plate.

(1) AXT632-25-4 (M4 x 50) 4 G .
Blanking plate + SUP stop valve . W lat (2
(Top)  (Botom , For maniol
(2) AXT632-25-10 (M4 x 34) 2 e L
Valve + Individual SUP + Individual EXH (1) AXT632-25-6 (M4 x 114) 4
(Top) (Bottom) N For manifold
(Bottom) (Top) (2) AXT632-25-11 (M4 x 66) 2
Valve + Restrictor + Individual SUP or Individual EXH | (1) AXT632-25-6 (M4 x 114) 4 | For manifold
(Top) (Top) ~ # The individual EXH cannot S
(Bottom) (Bottom) @ AXT632-25-11 (M4 x 66) 2 | be mounted on the top. @ _
Valve + SUP stop valve + Individual SUP, (1) AXT632-25-6 (M4 x 114) 4 2
(Top) Individual EXH or — For manifold = =
Restrictor (Bottom) | (@) AXT632-25-11 (M4 x 66) 2 Valve
Valve + Double check spacer with + Individual SUP or | (1) AXT632-25-7 (M4 x 146) 4 Spacer (Top) [E=]
residual pressure exhaust  Individual EXH —— For manifold T
2 (Top) (Bottom) (2) AXT632-66-2 (M4 x 96) Note 2) | 2 uSpuaceru lBOEom)u I
Valve + Interface regulator + Double check spacer with Q AXT632-25-14 (M4 x 178) 4
(Top) residual pressure exhaust [~ — For manifold
(Bottom) (2) AXT632-66-3 (M4 x 128) 2
Valve + Interface regulator + Individual SUP, (1) AXT632-25-7 (M4 x 146) 4 | For manifold
(Top) Individual EXH or — + The individual EXH and throttle valve
Restrictor (Bottom) | (2) AXT632-66-2 (M4 x 96) 2 | canbe mounted on the top.
g P o el .
Blanking + SUP stop + Individual (D) AXT632-25-5 (M4 x 82) 4 (T Blanking piate_} 2
plate valve SuUP For manifold Spacer (Top) o
(Top)  (Bottom) (2) AXT632-25-11 (M4 x 66) 2 Spacer (Bottom) __
Valve + SUP stop valve (Top) + Individual (1) AXT632-25-7 (M4 X 146) 4 0! @
SUP (Middle, Bottom) + Individual EXH — For manifold - bt
(Middle, Bottom) (2) AXT632-25-12 (M4 x 98) 2 = =
Valve + Double check spacer with residual pressure | (T) AXT632-25-14 (M4 x 178) 4 Single valve
3 | exhaust (Top) + Individual SUP (Middle, Bottom) — For manifold Spacer (Top) =
+ Individual EXH (Middle, Bottom) (2) AXT632-66-3 (M4 x 128) Note2) | 2 Spacer (Middie) L1
Valve + Spacer (Top): Interface regulator (D AXT632-25-14 (M4 x 178) 4 | For manifold P i
Spacer (Middle): “ndividual SUP or Individual EXH'Restrictor” —— # The individual EXH and throttle valve Spacer (Bottom)
Spacer (Botiom): ‘RestictorMndividual SUP or Individual EXH' | (2 AXT632-66-3 (M4 x 128) 2 | canbe mounted onthe top. vm o oom

Note 1) When the SUP stop valve and individual SUP are mounted, the stop valve is mounted on the top of the individual SUP.
Note 2) Proper tightening torque: 1 to 1.4 N-m

518




Ak

precautions.

VQ4000/5000 series
Specific Product Precautions 1

Be sure to read this before handling the products.
Refer to page 8 for safety instructions and pages 9 to 15 for 3/4/5 port solenoid valve

\ Continuous Duty |

\ Valve Mounting

A Warning

When the product is continuously energized for a long
period of time (10 minutes or longer), select the low
wattage type (DC specification). The AC type cannot
be continuously energized for 10 minutes or longer. If
anything is unclear, please contact SMC.

\ Manual Override \

AWarning

Since connected equipment will operate when the
manual override is activated, confirm that conditions
are safe prior to activation.

Push type (Tool required)

Bore 06.1
Bore 05 Push down the manual over-
’N ride button with a small screw-
o~ driver, etc., until it stops.
The manual override will return
when released.
VQ4000 VQ5000

Push down the manual override
' button with a small flat head
(&) screwdriver until it stops, and turn

Locking type (Tool required)

& Bore 061 it clockwise 90° to lock it. Turn it
Bore 05 N counterclockwise to release it.
A 7
@PUSH T
a TURN
D #'[Lock
VQ4000 VQ5000
Locking type (Manual) Push down the manual override
' button with a small flat head
d) L 14 mm scrgvydnver or with your ﬁnggrs
13 mm until it stops. Turn it clockwise
by 90° to lock it. Turn it counter-
clockwise to release it.
@PUSH T
a TURN
VQ4000 VQ5000 @ 0" LockK
A\ Caution

Do not apply excessive torque when turning the
locking type manual override. (0.1 N-m or less)

/A Caution

After confirming that the gasket is installed correctly, securely tighten
the mounting screws according to the tightening torque shown below.

VQ4000 VQ5000
\ Proper tightening torque [N-m] \ \ Proper tightening torque [N-m] \
| 0.8t01.2 | | 11018 |

Mounting screw (M4)

| Replacement of One-touch Fittings/VQ4000 |

A\ Caution

Cylinder port fittings are available in cassette type and can be replaced
easily. Fittings are secured with a retaining N

clip that is inserted from the
top side of the valve. After
removing the valve, remove the
clip with a flat head screwdriver
to replace the fittings. To mount
a fitting, insert the fitting
assembly until it stops and
reinsert the retaining clip to its
designated position.

Fitting

\ Lead Wire Connection \

A\ Caution

Plug-in sub-plate (With terminal block)

* If the junction cover (D) of the sub-plate is re-
moved, you can see the plug-in type terminal
block @ mounted inside the sub-plate.

* The terminal block is marked as
follows. Connect wiring to each of
the power supply terminals.

Terminal block —
marking A COM B T
Model

vaiiof A side COoM — —
va 209 Aside COoM B side —

3
vaiiol A side com B side —

6

Note 1) There is no polarity. It can also be used as -COM.

Note 2) The sub-plate is double wired even for the VQ210.

* Applicable terminal: 1.25-3s, 1.25Y-3, 1.25Y-3N, 1.25Y-3.5
519



Ak

precautions.

VQ4000/5000 series
Specific Product Precautions 2

Be sure to read this before handling the products.
Refer to page 8 for safety instructions and pages 9 to 15 for 3/4/5 port solenoid valve

\ Lead Wire Connection \

\ Installation and Removal of Light Cover

/A Caution

Plug lead: Grommet type
Make connections to each corresponding wire.

Lead wire color
SOL.A

Lead wire color

Black Black
Red COM ; peg
‘SOLB, White SoLB White

Single solenoid Double solenoid

Single solenoid Double solenoid

Black: A side solenoid
Red: COM

Black: A side solenoid

Standard

Red: COM White: B side solenoid

Black: A side solenoid

P65 Red: COM

enclosure
White: B side solenoid

(Not used for single solenoid)

Green: (Not used for single or double.)

Note) There is no polarity. It can also be used as -COM.

\ Installation and Removal of Light Cover

/\ Caution

Installation/Removal of light cover (VQ4000)

* Removal
Open the cover by inserting a small flat head screwdriver into
the slot on the side of the pilot assembly (see drawing below),
lift the cover out about 1 mm and then pull off. If it is pulled off at
an angle, the pilot valve may be damaged or the protective
O-ring may be scratched.

« Installation
Place the cover straight over the pilot assembly so that the pilot
valve is not touched,and push it until the cover hook locks
without twisting the protective O-ring. (When pushed in, the
hook opens and locks automatically.)

520

/A Caution

Installation/Removal of light cover (VQ5000)

* Removal
To remove the pilot cover pull it straight off. If it is pulled off at
an angle, the pilot valve may be damaged or the protective
O-ring may be scratched.

* Installation
Place the cover straight over the pilot assembly so that the pilot
valve is not touched, and push it until the cover hook locks
without twisting the protective O-ring. (When pushed in, the
hook opens and locks automatically.)

Light cover

\ Replacement of Pilot Valve

A\ Caution

* Removal
Remove the mounting screw
that holds the pilot valve using a
small screwdriver.

* Installation
After confirming the gasket is
correctly placed under the valve,
securely tighten the bolts with
the proper torque shown in the
table below.

Light assembly

Proper tightening torque [N-m]
0.1t00.13

Note) The light circuit boards: A side is red and the B side is
green. It must be mounted on the pilot valve in accordance
with the mounting indicators.

ﬁ
/5

Mounting indicator




VQ4000/5000 series
Specific Product Precautions 3

Be sure to read this before handling the products.
Refer to page 8 for safety instructions and pages 9 to 15 for 3/4/5 port solenoid valve
precautions.

Plug Lead Type | Enclosure IP65

/A Caution

Wires, cables, connectors, etc. used for models conforming to IP65
should also have enclosures equivalent to or stricter rating than IP65.

Attaching and detaching connectors

* To attach a connector, hold the lever and
connector unit between your fingers and
insert straight onto the pins of the
solenoid valve so that the lever's pawl is
pushed into the groove and locks.

* To detach a connector, remove the pawl
from the groove by pushing the lever
downward with your thumb, and pull the
connector straight out.

\ How to Calculate the Flow Rate

For obtaining the flow rate, refer to the Web Catalog.

Note) Do not pull on the lead wires with
excessive force. This can cause
faulty and/or broken contacts.

\ Internal Wiring Specifications

/\ Caution

—(+)
+-)

Coil
Varistor

LED: Red COM.: +(-)
A side: —(+) B side: —(+)

[ .
7 I

Aside LED: Red COM: +(-)
DC: Double

Coil
Varistor
Coil

Varistor

AC: Single

A side B side B side LED: Green
o o [

Coil
Coil

b i

Note) For DC, coil surge voltage generated when OFF is about
—60 V. Please contact SMC separately for further sup-
pression of the coil surge voltage.

COM: +(-)

DC: Single :
AC: Double

B Trademark
DeviceNet® is a registered trademark of ODVA, Inc.

521



	5 Port Solenoid Valve Metal Seal/Rubber Seal: VQ4000/5000 Series
	Base Mounted Type Variations
	Cylinder Speed Chart
	INDEX
	VQ4000: Base Mounted Plug-in/Plug Lead Single Unit
	Model, Standard Specifications
	How to Order Valves, How to Order Sub-plates
	Dimensions: Plug-in Type
	Dimensions: Plug Lead Type

	VQ4000: Base Mounted Plug-in Unit
	How to Order Manifold
	Manifold Specifications, Flow Rate Characteristics at the Number of Manifold Stations, Manifold Options

	F Kit (D-sub connector kit)
	Dimensions

	T Kit (Terminal block box kit)
	Dimensions

	L Kit (Lead wire cable)
	Dimensions

	S Kit (Serial transmission unit): EX124
	Dimensions

	VQ4000 Base Mounted Plug Lead Unit: C Kit (Connector Kit)
	How to Order Manifold, How to Order Valves
	Manifold Specifications, Flow Rate Characteristics at the Number of Manifold Stations, Manifold Options
	Dimensions

	Manifold Options
	Semi-standard Specifications
	Manifold with Control Unit
	Dimensions

	Construction/Plug-in Unit
	Construction/Plug Lead Unit
	Exploded View of Manifold
	List of Valves, Options, and Mounting Bolts
	VQ5000 Base Mounted Plug-in/Plug Lead Single Unit
	Model, Standard Specifications
	How to Order Valves, How to Order Sub-plates
	Dimensions: Plug-in Type
	Dimensions: Plug Lead Type

	VQ5000 Base Mounted Plug-in Unit
	How to Order Manifold
	Manifold Specifications, Flow Rate Characteristics at the Number of Manifold Stations, Manifold Options

	F Kit (D-sub connector kit)
	Dimensions

	T Kit (Terminal block box kit)
	Dimensions

	T1 Kit (Individual terminal block kit)
	Dimensions

	L Kit (Lead wire cable)
	Dimensions

	S Kit (Serial transmission unit): EX124
	Dimensions

	VQ5000 Base Mounted Plug Lead Unit C Kit (Connector Kit)
	How to Order Manifold, How to Order Valves
	Manifold Specifications, Flow Rate Characteristics at the Number of Manifold Stations, Manifold Options
	Dimensions

	Manifold Options
	Semi-standard Specifications
	Construction/Plug-in Unit
	Construction/Plug Lead Unit
	Exploded View of Manifold
	List of Valves, Options, and Mounting Bolts
	VQ4000/5000 Specific Product Precautions

